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Foreword

The Government of Andhra Pradesh has unleashed a new era in school education by introducing
extensive curricular reforms from the academic year 2020-21. The Government has taken up curricular
reforms intending to enhance the learning outcomes of the children with focus on building solid foundational
learning and to build up an environment conducive for an effective teaching-learning process. To achieve
this objective, special care has been taken in designing the textbooks to achieve global standards.

As a part of the curricular reform, in order to support the designing of textbooks, with better
pedagogical strategies, handbooks are given to teachers with elaborate lesson plans. For the practice
of the students, workbooks are given which will reinforce the learning in the classroom. Parental
handbooks are prepared to impart awareness regarding the teaching-learning process to the parent
community. The textbooks are also designed in such a way that the initial two months will focus on the
school readiness of the children in order to create a learning environment in the school at the start of the
academic year.

Semester system is going to be implemented from this academic year for classes 1 to 5.
Mathematics textbooks have been developed in bilingual approach. In this textbook, concepts are
introduced through activities related to daily life incidents, situations, contexts and conversations. To
strengthen these concepts, whole class activity, group activity and individual activities are designed. The
lessons incorporated are also suitable for multigrade teaching. For additional information on the concepts,
QR codes are incorporated in each chapter to enable learning outside the classroom. Care has been
taken to ensure that the new textbook is calibrated with the learning requirement of the 21st century.

We are grateful to Honourable Chief Minister Sri.Y.S. Jagan Mohan Reddy for being our
source of inspiration to carry out this extensive reform in the education department. We extend our
gratitude to Sri Botcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh
for striving towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special
Chief Secretary, School Education, Sri. S. Suresh Kumar, IAS, Commissioner of School Education &
State Project Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their
constant motivation and guidance.

We convey our thanks to the expert team who studied curriculum from Chicago to Singapore
and recommended best practices across the globe to reach global standards. Our sincere thanks to
SCERT of Kerala, Tamilnadu, Karnataka and Haryana in designing the textbooks. We also thank our
textbook writers, editors, artists and layout designers for their contribution in the development of this
textbook. We invite constructive feedback from the teachers and parents in the further refinement of the
textbook.
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&�. _. ç|�Ô�|tÂs&�¦

d�+#�\Å£�\T

s�h $<�«|�]XË<ó�q ¥¿£�D² d�+d��, �+ç<ó�ç|�<ûXÙ

eTT+<�TeÖ³

�+ç<ó�ç|�<ûXÙ ç|�uó�TÔáÇ+ 2020`21 $<�« d�+eÔáàsÁ+ qT+&� bÍsÄÁXæ\ $<�« ç|�D²[¿£ýË $d�ï �Ôá d�+d�ØsÁD\qT

ç|�yûXø�|³¼&�+ <�Çs� qeXø¿±�¿ì H�+~ |�*¿ì+~. |�{ìw�¼yîT®q |�ÚH�~ n¿£�s�d�«ÔáqT �]�+#û+<�TÅ£� M\T>± nuó�«d�q

|��*Ô�\T �|+bõ+~+#ûý² H�D«yîT®q uË<ó�H�uó�«d�q $<ó�H��� nqTd�]+#�*. B�� ç|�uó²ee+Ôá+>± neT\T #ûjáT&�+

¿Ãd�+ $<�« ç|�D²[¿£ d�+d�ØsÁDýË uó²>·+>± qÖÔáq bÍsÄÁ« |�Úd�ï¿±\T sÁÖbõ+<�sTT.

$<�« d�+d�ØsÁD\ýË eTTqT�|q�&�Ö ýñ� $<ó�+>± bÍsÄÁ«|�Úd�ï¿±\ sÁÖ|�¿£\ÎqÔÃbÍ³T H�D«yîT®q uË<ó�H�eP«V�ä\T

neT\T |�sÁ#û+<�TÅ£� M\T>± �bÍ<ó�«jáTT\ ¿Ãd�+ bÍsÄÁ«ç|�D²[¿£\T, ¿£sÁB|¾¿£\T sÁÖbõ+<�sTT. u²\\T nuó²«d�+

#û�d+<�TÅ£� M\T>± esYØ�T¿ù\T sÁÖbõ+<�sTT. �$ u²\\T ÔásÁ>·Ü>·~ýË HûsÁTÌÅ£�q� n+Xæ\qT |�Úq:XøÌsÁD #ûd�TÅ£�Hû+<�TÅ£�

<ÃV�²<�|�&�Ô�sTT. bÍsÄÁXæ\ýË neT\eÚÔáTq� qÖÔáq uË<ó�H�uó�«d�q eP«V�ä\qT ne>·Ôá+ #ûd�TÅ£�Hû+<�TÅ£� Ôá*¢<�+ç&�T\

¿Ãd�+ Å£L&� ÿ¿£ ¿£sÁB|¾¿£ sÁÖbõ+~+#�+. $<�« d�+eÔáàsÁ+ çbÍsÁ+uó�+ýË yîTT<�{ì Âs+&�T Hî\\ bÍ³T u²\\qT

bÍsÄÁXæ\Å£� d�+d¾<�Æ+ #û�d ¿±sÁ«ç¿£eÖ\qT sÁÖbõ+~+º neT\T #ûjáT&�+ ÈsÁT>·TÔáT+~. �~ u²\\T nuó�«d�q y�Ô�esÁD²�¿ì

n\y�³T|�&ûý² #ûd�Tï+~.

� $<�«d�+eÔáàsÁ+ qT+&� 1 ̀  5 ÔásÁ>·ÔáT\ýË �d$Tw�¼sY $<ó�H��� ç|�yûXø�|&�TÔáTH��+. >·DìÔá bÍsÄÁ«|�Úd�ï¿±\qT

~Çuó²cÍ $<ó�q+ýË eTTç~d�TïH��+. �Ôá«J$Ôá d���yûXæ\T, d�+<�s�ÒÛ\T, |�]d¾�ÔáT\T, d�+uó²w�D\Å£� d�+�+~ó+ºq

¿£�Ô�«\ �<ó�sÁ+>± � bÍsÄÁ«|�Úd�ï¿£+ýË uó²eq\qT ç|�yûXø�|{²¼+. uó²eq\qT �ýË�|Ôá+ #ûjáT&��¿ì M\T>± e«¿ìï>·Ôá,

È³T¼, yîTTÔáï+ ÔásÁ>·Ü ¿£�Ô�«\T sÁÖbõ+<�sTT. bÍsÄ�«+Xæ\T �V�QÞø ÔásÁ>·Ü uË<ó�qÅ£� nqTÅ£L\+>± neT] �+&�&�+

� bÍsÄÁ«|�Úd�ï¿£+ ç|�Ôû«¿£Ôá. n<�q|�Ú d�eÖ#�sÁ+ ¿Ãd�+ ç|�Ü n<ó�«jáT+ýË Å£L«. �sY. ¿Ã&�\qT nqTd�+<ó��+#�s. 21e

XøÔ�_Ý HîÕ|�ÚD²«\qT �|+bõ+~+#û+<�TÅ£� nqT>·TDyîT®q uË<ó�q È]¹>ý² qÖÔáq bÍsÄÁ« |�Úd�ï¿±\T sÁÖbõ+<�sTT.

bÍsÄÁXæ\ $<�« d�+d�ØsÁD\T #û|�fñ¼+<�TÅ£� �sÁ+ÔásÁ+ d�ÖÎÛ]ï�d�Öï eTT+<�TÅ£� q&�|¾+ºq >�sÁeújáT eTTK«eT+çÜ

esÁT«\T l yîÕ.jáTdt. È>·H� yîÖV�²H� Âs&�¦ >±]¿ì V�²�<�jáT|�PsÁÇ¿£ <ó�q«y�<�\T. >·TD²Ôá�¿£ $<�«qT n+~+#û+<�TÅ£�

�sÁ+ÔásÁ+ ¿£�w¾ #ûd�Tïq� eÖq« eT+çÜesÁT«\T l u¤Ôáà d�Ôá«H�s�jáTD >±]¿ì qeTd�Ø �ÔáT\T. ÔáeT neTÖ\«yîT®q

d�Ö#áq\T, d�\V�ä\ÔÃ bÍsÄÁ«|�Úd�ï¿£ sÁÖ|�¿£\ÎqýË ~Xæ�¹sÝXø+ #ûd¾q l �T&�Ü s�ÈXâKsY IAS, bÍsÄÁXæ\ $<�« ç|�Ôû«¿£

ç|�<ó�q ¿±sÁ«<�]ô >±]¿ì, l mdt. d�T¹swt Å£�eÖsY IAS ¿£MTw�qsY, bÍsÄÁXæ\ $<�« Ê �d¼{Ù çbÍCÉ¿ù¼ &îÕÂs¿£¼sY d�eTç>· ¥¿£�,

>±]¿ì, �+>·¢ eÖ<ó�«eT ç|�Ôû«¿£ n~ó¿±]Dì leTÜ Â¿. yîç{ì�d*Ç IAS >±]¿ì <ó�q«y�<�\T.

n+Ôás�¨rjáT ç|�eÖD²\ÔÃ Å£L&�q bÍsÄ�«+Xæ\T sÁÖbõ+~+#û+<�TÅ£�>±qT d¾+>·|�PsY qT+&� º¿±>Ã esÁÅ£�

$<�« ç|�D²[¿£\qT n<ó�«jáTq+ #ûd¾q bÍsÄÁ«|�Úd�ï¿£ sÁ#ásTTÔá\Å£� <ó�q«y�<�\T. ÔáeT neTÖ«\yîT®q d�\V�ä*ºÌq ¹¿sÁÞø,

Ôá$TÞøH�&�T, ¿£s��³¿£, V�²]jáÖD s��cÍ¼\ $<�« |�]XË<ó�q ¹¿+ç<�\Å£� <ó�q«y�<�\T. bÍsÄÁ«|�Úd�ï¿£ sÁÖ|�¿£\ÎqýË $Xâw�

¿£�w¾ #ûd¾q sÁ#ásTTÔá\T, d�+bÍ<�Å£�\T, ºçÔá¿±sÁT\T &�.{ì.|¾. ýñ̀ neÚ{Ù &�CÉÕ�+>́ y�sÁ+<�]¿¡ ç|�Ôû«¿£ <ó�q«y�<�\T. �

bÍsÄÁ«|�Úd�ï¿£+�|Õ �bÍ<ó�«jáTT\T, Ôá*¢<�+ç&�T\ qT+&� �s��D²Ôá�¿£ d�Ö#áq\T, d�\V�ä\T kÍÇ>·Üd�TïH��+.
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- Rabindranath Tagore

Our National Anthem  |  C²rjáT ^Ôá+

India is my country. All Indians are my brothers and sisters.
I love my country and I am proud of its rich and varied heritage.

I shall always strive to be worthy of it.
I shall give my parents, teachers and all elders respect,

and treat everyone with courtesy. I shall be kind to animals.
To my country and my people, I pledge my devotion.

In their well-being and prosperity alone lies my happiness.

uó²sÁÔá<ûXø+ H� eÖÔá�uó�Ö$T. uó²sÁrjáTT\+<�sÁÖ H� d�¬<�sÁT\T.

HûqT H� <ûXæ�� ç�|$Td�TïH��qT. d�Td�+|�q�yîT®q, �V�Q$<ó�yîT®q H� <ûXø y�sÁd�ÔáÇ d�+|�<� H�Å£� >·sÁÇ¿±sÁD+.

B�¿ì nsÁ½Ôá bõ+<�&��Â¿Õ d�sÁÇ<� HûqT ¿£�w¾ #ûkÍïqT.

H� Ôá*¢<�+ç&�T*�, �bÍ<ó�«jáTT*�, �|<�Ý\+<�]� >�sÁ$kÍïqT. ç|�Üy�]ÔÃqT eTs�«<�>± q&�T#áT¿=+{²qT.

È+ÔáTeÚ\|�³¢ <�jáTÔÃ �+{²qT.

H� <ûXø+|�³¢, H� ç|�È\|�³¢ �dy��sÁÜÔÃ �+{²q� ç|�ÜÈã #ûd�TïH��qT.

y�] çXâjîÖ_óe�<�TÆýñ H� �q+<��¿ì eTÖý+.

Pledge  |  ç|�ÜÈã

Jana-gana-mana-adhinayaka jaya he

Bharata-bhagya-vidhata

Panjaba-Sindhu-Gujarata-Maratha

Dravida-Utkala-Banga

Vindhya-Himachala-Yamuna-Ganga

uchchala-jaladhi-taranga

Tava Subha name jage,

tave subha asisa mage,

gahe tava jaya-gatha.

Jana-gana-mangala-dayaka jaya he

Bharata-bhagya-vidhata.

Jaya he, Jaya he, Jaya he,

jaya jaya jaya jaya he.

Èq>·DeTq n~óH�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·«$<ó�Ô�!

|�+C²�, d¾+<ó�T, >·TÈs�Ôá, eTs�sÄ�,

ç<�$&�, �ÔáØÞø, e+>±!

$+<ó�«, V¾²eÖ#á\, jáTeTTH�, >·+>±!

�#áÌ\ È\~ó ÔásÁ+>±!

Ôáe Xø�uó�H�yûT C²¹>!

Ôáe Xø�uó� �¥w� eÖ"¹>

>±�V² Ôáe ÈjáT>±<̧�!

Èq>·D eT+>·Þø<�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·« $<ó�Ô�!

ÈjáT�V²! ÈjáT�V²! ÈjáT�V²!

ÈjáT ÈjáT ÈjáT ÈjáT�V²!!

- sÁM+ç<�H�<�̧ sÄ�>·ÖsY

- Pydimarri Venkata Subba Rao

- �|Õ&�eTç] yî+¿£³ d�Tu²Òs�eÚ

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



vii

Academic Standards-Learning Outcomes
Academic standards are clear statements about what students must know and be able to do.
The following are the specifications on the basis of which we lay down Academic Standards

Problem Solving
• Using concepts and procedures to solve mathematical problems.

Stages of problem solving
• Reads the problems.
• Identifies the all pieces of information.
• Separates relevant pieces of information.
• Understanding what concept is involved.
• Selection of procedure.
• Solving the problem.

Reasoning and Proof
• Reasoning between various steps.
• Understanding and making mathematical generalizations and conjectures.
• Understanding and justifying procedures.
• Examining logical arguments.
• Understanding the notion of proof.
• Using inductive and deductive logic.
• Testing mathematical conjectures.

Communication
• Writing and reading mathematical expressions.
• Creating mathematical expressions.
• Explaining mathematical ideas in his/her own words.
• Explaining mathematical procedure.
• Explaining mathematical logic.

Connections
• Connecting concepts within a mathematical domain.
• Making connections with daily life.
• Connecting mathematics to different subjects.
• Connecting concepts of different mathematical domains.
• Connecting concepts to multiple procedures.

Visualization and Representation
• Interprets and reads data in tables, number line, pictograph, bar graph, 2D figures, 3D figures,

pictures.
• Making tables, number line, pictograph, bar graph, pictures.
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$<�«ç|�eÖD²\T

1. d�eTkÍ« kÍ<ó�q :

>·DìÔá uó²eq\T, |�<�ÆÔáT\qT �|�jîÖÐ+#á&�+ <�Çs� >·DìÔá d�eTd�«\qT kÍ~ó+#á&�+.

d�eTd�« kÍ<ó�q ̀  kþbÍH�\T

• d�eTd�«\qT #á<�e&�+.

• <�Ô�ï+Xø+ýË� d�eÖ#�sÁ+ yîTTÔ�ï�� $&�uó²>±\T>± >·T]ï+#á&�+.

• nqT�+<ó� $&�uó²>±\qT yûsÁT#ûjáT&�+.

• d�eTd�«ýË �$T&�jáTTq� >·DìÔá uó²eq\qT ne>±V�²q #ûd�¿Ãe&�+.

• ýÉ¿£Ø#ûjáTT |�<�ÆÜ $<ó�H��� m+|¾¿£ #ûjáT&�+.

• m+|¾¿£ #ûd¾q |�<�ÆÜ ç|�¿±sÁ+ d�eTd�«qT kÍ~ó+#á&�+.

2. ¿±sÁD²\T #î|�Î&�+`�sÁÖ|�D #ûjáT&�+ :

• <�Xø\ y�̄ >± �q� kþbÍ\H�\Å£� ¿±sÁD²\T $e]+#á&�+.

• >·DìÔá kÍ<ó�sÁD¡¿£sÁD\qT eT]jáTT ç|�¿£\Îq\qT nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT #ûjáT>·\>·&�+.

• |�<�ÆÜ� nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT d�]#áÖ&�&�+.

• Ô�]Ø¿£ #ásÁÌ\qT |�¯¿ì�+#á&�+.

• d�eTkÍ« �sÁÖ|�DýË� ç¿£eÖ�� nsÁ�+ #ûd�T¿Ãe&�+.

• �>·eTq, �>·eTq |�<�ÆÔáT\ýË Ô�]Ø¿£ÔáqT $�jîÖÐ+#á&�+.

• >·DìÔá ç|�¿£\Îq\qT |�̄ ¿ì�+#á&�+.

3. e«¿£ï|�sÁ#á&�+ :

• >·DìÔá uó²eq\qT, y�¿±«\qT #á<�e>·\>·&�+`s�jáT>·\>·&�+.

• >·DìÔá e«¿¡ï¿£sÁD\qT sÁÖbõ+~+#á&�+.

• >·DìÔá|�sÁyîT®q �ýË#áq\qT Ôáq d�Ç+ÔáeÖ³\ýË $e]+#á&�+.

• |�<�ÆÜ� $e]+#á&�+.

• >·DìÔá Ô�]Ø¿£ÔáqT $e]+#á&�+.

4. nqTd�+<ó�q+ :

• nqT�+<ó� >·DìÔá bÍsÄÁ«$uó²>±\qT ̀  uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• <îÕq+~q J$Ô��� >·DìÔ��¿ì nqTd�+<ó�q+ #ûjáT&�+.

• yû¹sÇsÁT d��Å̈£�¼\ÔÃ >·DìÔ��� nqTd�+<ó�q+ #ûjáT&�+.

• >·DìÔá+ýËHû yû¹sÇsÁT bÍsÄ�«+Xæ\Å£� d�+�+~ó+ºq uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• uó²eq\qT, �V�QÞø|�<�ÆÔáT\Å£� nqTd�+<ó�q+ #ûjáT&�+.

5. <��o«¿£sÁD eT]jáTT çbÍÜ�<ó�« |�sÁ#á&�+ :

• |�{ì¼¿£ýË� d�eÖ#�sÁ+, d�+U²«¹sK, |�³ºçÔá+, ¿£MT�¹sU²ºçÔá+, 2`D |�{²\T, 3`D |�{²\T eT]jáTT |�{²\qT

#á<�e&�+.

• |�{ì¼¿£\qT sÁÖbõ+~+#á&�+, d�+U²«¹sK�|Õ #áÖ|�&�+, |�³ºçÔ�\T, ¿£MT�¹sU² ºçÔ�\T, |�{²\qT ̂ jáT&�+.

$<�«sÁT�\T ÿ¿£ ÔásÁ>·ÜýË @$T #ûjáT>·\>±*, @+ Ôî*d¾ �+&�ýË d�Îw�¼+>± $e]+#û ç|�e#áH�\qT � ÔásÁ>·Ü jîTT¿£Ø

»$<�«ç|�eÖD²\Tµ n+{²eTT. � $<�«ç|�eÖD²\qT ¿ì+~ $uó²>±\T>± e Z̄¿£]+#á&�yîT®q~. >·DìÔá+ýË� $$<ó� bÍsÄ�«+Xæ\

<�Çs� ¿ì+~ d�Öº+ºq $<�«ç|�eÖD²\T kÍ~ó+#�*.

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



1ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

Maths Magic

>·DìÔá+ÔÃ >·eT�ÔáTï

Class (ÔásÁ>·Ü)  - 5

Semester (�d$Td�¼sY) - 2

6. Geometry November 2-63

 C²«$TÜ qe+�sÁT

7. Data Handling December 64-79

<�Ô�ï+Xø �sÁÇV�²D &��d+�sÁT

8. Fractions January, February 80-123

_óH��\T Èqe], |�¾ç�e]

9. Measurements February 123-163

 ¿=\Ôá\T |�¾ç�e]

10. Time March 164-179

¿±\+ eÖ]Ì

Lesson No.

bÍsÄÁ+ d�+K«

Name of the Unit

n<ó�«jáT+

Month

Hî\

Pages

�|J\T
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6.1 Point

A distant star

1. Observe the following  pictures

Tip of a pencil Dots in a Rangoli Vertex  of a cone

2. Take a pencil and mark some dots in your notebook.
3. Take a paper and mark three dots on it with a marker pen, a

sketch pen and a pencil. Observe that the dot will become
smaller and almost invisible tiny dot.

What do you observe
from all the above

examples?

All these
examples give the

idea of a point.

A point is an exact location in space. It has no length or width and
thickness. We represent a point by  ' . '  ( as small as possible dot )

How do we
denote these

points?

A point is denoted by
capital letters of

English alphabet like
A, B, C,..

Chapter
Geometry

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



3ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

5n<ó�«jáT+

C²«$TÜ

6.1 _+<�TeÚ

<�ÖsÁ+ýË �q� q¿£�çÔá+

1. ¿ì+~ ºçÔ�\qT >·eT�+#á+&�.

�|�àýÙ yîTTq eTT>·TZ\ýË �q� #áT¿£Ø\T Xø+KTeÚ jîTT¿£Ø osÁü+ (yîTTq)

2. MT HÃ³T |�Úd�ï¿£+ ýË �|�àýÙ ÔÃ ¿=�� #áT¿£Ø\T �|³¼+&�.

3. ÿ¿£ �||�sY rd�T¿=� <���|Õ eÖsÁØsY, �dØ#Y �|H�, eT]jáTT �|�àýÙ ÔÃ eTÖ&�T #áT¿£Ø\T

�|³¼+&�. |�]o*+|�>± #áT¿£Ø ºq�~ >± ¿£�|¾+#áq+Ôá >± eÖsÁTÔáT+~.

�|Õ �<�V�²sÁD\T qT+&� MTsÁT

@$T >·eT�+#�sÁT ?
neú� ÿ¿£ _+<�TeÚÅ£�

�<�V�²sÁD\T>± �H��sTT.

_+<�TeÚ nHû~ n+Ôás�Þø+ ýË ÿ¿£ ¿£ºÌÔáyîT®q kÍ�q+. B�¿ì bõ&�eÚ, yî&�\TÎ, eT+<�+ �+&�eÚ.

_+<�TeÚqT kÍ<ó�sÁD+>± ».µ >± s�kÍïeTT.

� _+<�TeÚ\qT mý²

d�ÖºkÍïsÁT ?

kÍ<ó�sÁD+>± _+<�TeÚ\qT �|<�Ý

�+>·¢ n¿£�s�\T A, B, C ....

 \ÔÃ d�ÖºkÍïsÁT.
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Do these

In the  adjacent figure A, B and C are three  points. They
are read as point A, point B and point C.

1. Read the following points.

2. Write any 5 distinct points from the above.
3. Note down any 3 points in your note book and name them.

6.2 Line segment

 Activity -  1

Take a paper and fold it as shown in the figure.
Look at the folded edge of this paper. It gives us an

idea of what a line segment is. The crease left on the sheet
represents a line segment. It has two end points. From the
adjacent figure, the two end points are E and F.

Take your notebook and draw a line along its edge
with a pencil on a sheet of paper and observe it. It is a
representation of a line segment. It has two end points,
fixed length but no thickness.

 Activity -  2

Observe the figure given below which is the shortest path that can be followed
by the rabbit to eat the carrot.

C

A
B

M S U G

P R D

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



5ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

�$ #ûjáT+&�

|�¿£Ø |�³+ýË A, B, C nHû$ eTÖ&�T _+<�TeÚ\T y�{ì� _+<�TeÚ A,

_+<�TeÚ B, _+<�TeÚ C n� #á<�TeÚÔ�eTT.

1. ¿ì+~ _+<�TeÚ\qT #á<�e+&�.

2. �|Õ y�{ì qT+&� @yîÕH� 5 yû¹sÇsÁT _+<�TeÚ\qT s�jáT+&�.

3. MT HÃ³T |�Úd�ï¿£+ ýË @yîÕH� eTÖ&�T _+<�TeÚ\qT >·T]ï+º, y�{ì¿ì �|sÁT¢ �|³¼+&�.

6.2 ¹sU²K+&�+ :

¿£�Ôá«+  `     1

ÿ¿£ �||�sY qT rd�T¿=� <��� |�³+ýË #áÖ|¾q $<ó�+>± eT&�e+&�. ¿±ÐÔá|�Ú

eT&�Ôá qT >·eT�+#á+&�. � eT&�Ôá ÿ¿£ ¹sU²K+&� uó²eq qT Ôî\T|�ÚÔáT+~.

¿±ÐÔá+ eT<ó�«ýË eT&�e&�+ e\¢ @sÁÎ&�q eT&�Ôá ÿ¿£ ¹sU²K+&��� d�Öºd�Tï+~.

�~ Âs+&�T ºe] _+<�TeÚ\qT ¿£*Ð�+³T+~. |�³+ qT+&� E  eT]jáTT F \T

ºe] _+<�TeÚ\T.

ÿ¿£ ¿±ÐÔá+ �|Õ MT HÃ³T |�Úd�ï¿±�� �+º <�� n+#áT yî+�&� �|�àýÙ ÔÃ ÿ¿£ ̂ Ôá

^º, |�]o*+#á+&�. � ̂ Ôá ÿ¿£ ¹sU²K+&��� d�Öºd�Tï+~. � ¹sU²K+&�+ Âs+&�T

ºe] _+<�TeÚ\qT, d¾�sÁyîT®q bõ&�eÚqT ¿£*Ð, eT+<�+ |�]>·DqýË rd�T¿Ãýñq+Ôá>±

�+³T+~.

¿£�Ôá«+  `     2

¿ì+~ u¤eT�qT |�]o*+º, Å£�+<û\T ¿±Âs{Ù qT Üq&��¿ì nÜ <�>·ZsÁ <�]� #áÖ|�+&�.

C

A
B

M S U G

P R D
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6 Class - 5  Maths Magic

Do these

Path 3

Path 2
Path 1

As you can see path 2 represents a line segment with rabbit at one end point and
carrot at the other end.

What do you observe
from all

the above?

  In every case, the shortest
path between two points

represents a line segment.
It has definite length but no

breadth or thickness.

Then how can a
line segment be

denoted?

We denote the line
segment with its two

end points.

From the adjacent figure the line segment is
denoted as AB  or BA  and read as line
segment  AB or BA.

1. Read the following line segments.

A B

A B

A B

C

D

Q

P

S

T
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�$ #ûjáT+&�

A B

<�] 3

<�] 2

<�] 1

B�qT+&� eTq+ >·eT�+ºq~ @$T³+fñ 2e <�] eÖçÔáyûT Å£�+<û\T ¿±«Âs{Ù qT Üq&��¿ì nÔá«+Ôá <�>·ZsÁ <�]. � <�¹s

eTqÅ£� ÿ¿£ ºe] _+<�TeÚ Å£�+<û\T eTs=¿£ ºe] _+<�TeÚ ¿±«Âs{Ù>± >·\ ¹sU²K+&��� d�Öºd�Tï+~.

� �<�V�²sÁD\ qT+&� MTsÁT

@$T >·eT�+#�sÁT?

ç|�Ü d�+<�sÁÒÛ+ ýËqÖ Âs+&�T _+<�TeÚ\

eT<ó�« ¿£�w�¼ <�Ös��� ¹sU²K+&�+>±

uó²$kÍïsÁT. B�¿ì �]Ýw�¼ bõ&�eÚ

�+³T+~. ¿±� eT+<�+ (yî&�\TÎ)

�+&�<�T.

¹sU²K+&��� @ $<ó�+>±

d�ÖºkÍïsÁT ?

¹sU²K+&���, <�� Âs+&�T

ºesÁ\ >·\ _+<�TeÚ\ÔÃ

d�ÖºkÍïsÁT.

ç|�¿£Ø |�³+ qT+&� ¹sU²K+&��� AB  ýñ<� BA  >± d�ÖºkÍïsÁT

eT]jáTT B�� AB ¹sU²K+&�+ ýñ<� BA ¹sU²K+&�+ >±

#á<�TeÚÔ�sÁT.

1. ¿ì+~ ¹sU²K+&�\qT #á<�e+&�.

A B

A B

C

D

Q

P

S

T

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



8 Class - 5  Maths Magic

A B D
C

P M K

A

D C

B
A B

C
D

E

2. Draw some line segments by joining following points and name them.

3. Find the line segments in the figures given below.

6.3 Ray

 Activity -  3

Observe the picture given below

Pratibha : What do you observe from the above picture ?

Pragna : Sun, Rays and Mountains.

Pratibha : Where do the rays are coming from ?

Pragna : The rays are coming from the Sun.

Pratibha : Where do the Sun rays travel up to ?

Pragna : The Sun rays has no end.

Pratibha : What is a ray?

Pragna : .............................................
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A B D
C

P M K

A

D C

B
A B

C
D

E

2. � ¿ì+~ _+<�TeÚ\ �<ó�sÁ+>± ¹sU²K+&�\qT ^º, y�{ì¿ì �|sÁT¢�|³¼+&�.

3. � ¿ì+~ |�{²\ýË ¹sU²K+&�\qT ¿£qT>=qTeTT.

6.3 ¿ìsÁDeTT

¿£�Ôá«+  `     3

¿ì+~ |�{²�� >·eT�+#á+&�.

ç|�Üuó� : �|Õ |�³+ qT+&� úeÚ @$T >·eT�+#�eÚ ?

ç|�Èã : d�ÖsÁT«&�T, ¿ìsÁD²\T eT]jáTT |�sÁÇÔ�\T.

ç|�Üuó� : d�ÖsÁ« ¿ìsÁD²\T m¿£Ø&� qT+&� ed�TïH��sTT ?

ç|�Èã : ¿ìsÁD²\T d�ÖsÁT«� qT+&� ed�TïH��sTT.

ç|�Üuó� : � d�ÖsÁ« ¿ìsÁD²\T m+ÔáesÁÅ£� ç|�jáÖDìkÍïsTT ?

ç|�Èã : y�{ì¿ì n+Ôá+ �+&�<�T.

ç|�Üuó� : ¿ìsÁDeTT nq>± @$T{ì ?

ç|�Èã : .....................

F
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O A
B

C D
E

P

Q

BA

P Q
QP

P Q

P Q

A ray is a straight path that has one end point and goes on and on in a
specified direction. As there is no second end point, we cannot

measure the length of a ray.

Some more examples :

Rays from a torch Rays from a bulb

We denote a ray by the starting point and another point in
the line. From the adjacent figure a ray is denoted as (

uuur

AB )
and we read as AB ray.

Do these
Observe the following rays and name them.

 Activity -  4
6.4: Line

1 Mark any two distinct points on a paper in your note book.
1 Name them as  P and Q.
1 Now join them.
1  The line segment can be extended endlessly in the direction from P to Q.

1 The line segment can be extended infinitely in the direction from
Q to P too.

1 The formed figure gives an idea of straight line and it is denoted as PQ
suur .
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O A
B

C D
E

P

Q

BA

P Q
QP

P Q

P Q

¿ìsÁDeTT nHû~ ÿ¿£ _+<�TeÚ qT+&� �jáT\T<û], �¹sÝ¥Ôá ~XøýË nq+Ôá+ >±

kÍÐbþÔáÖ �+³T+~. � ¿ìsÁD²�¿ì Âs+&�e ºe] _+<�TeÚ �+&�<�T.

B� bõ&�eÚqT ¿=\eýñeTT.

eT]¿=�� �<�V�²sÁD\T :

{²sYÌ qT+&� yî\Te&û ¿±+Ü

¿ìsÁD²\T

�\TÒ qT+&� yî\Te&û ¿±+Ü ¿ìsÁD²\T

kÍ<ó�sÁD+>± ¿ìsÁD²�� <�� Ô=* _+<�TeÚ eT]jáTT <���|Õ >·\ @<Ã ÿ¿£

_+<�TeÚÔÃ d�ÖºkÍïeTT. |�¿£Ø |�³+ýË ¿ìsÁD²�� 
uuur

AB  >± d�ÖºkÍïsÁT. B�� AB

¿ìsÁDeTT n� #á<�TeÚÔ�+.

�$ #ûjáT+&�

¿ì+~ ¿ìsÁD²\qT |�]o*+º, y�{ì �|sÁT¢ Ôî\|�+&�.

¿£�Ôá«+  `     4

6.4 ¹sK

1 MT HÃ³T |�Úd�ï¿£+ýË  >·\ ÿ¿£ �||�sÁTýË @yîÕH� Âs+&�T $_óq� _+<�TeÚ\qT >·T]ï+#á+&�.

1 y�{ì¿ì P eT]jáTT Q n� �|sÁT �|³¼+&�

1 y�{ì� ¿£\|�+&�.

1 �|�Ú&�T PQ ¹sU²K+&��� P qT+&� Q yîÕ|�Ú¿ì nq+Ôá+>± bõ&�Ð+#á+&�.

1 n<û$<ó�+>± PQ ¹sU²K+&��� Q qT+&� P yîÕ|�Ú¿ì nq+Ôá+>± bõ&�Ð+#á+&�.

1 @sÁÎ&�q |�³+ d�sÁÞø¹sK uó²eqqT Ôî*jáT #ûd�Tï+~. eT]jáTT d�sÁÞø¹sK PQ
suur  >± d�Öº+#á�&�TÔáT+~.
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Do these

A line has no end points and no width. We can’t measure it’s  length.
It is denoted by any two points on it. If P, Q are two points on the
line, it is denoted as PQ

suur
 or QP

suur .

1. Read the following lines.

1. Take any six points on a paper and name them.

2. Join the points given below. Name the line segments.

Exercise -  1

3. Classify the following as ray, line and line segment. Also name them.

(a) (b) (c)

BA
X Y

O

A

A

B C P Q

R S

E

F

H

G

I

BA
P

Q M
N

X

Y
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�$ #ûjáT+&�

ÿ¿£ ¹sK Å£� ºe] _+<�TeÚ\T, eT+<�+ �+&�eÚ. ÿ¿£ ¹sK�|Õ P, Q \T Âs+&�T _+<�TeÚ\T

nsTTÔû � ¹sKqT PQ  ýñ<� QP  >± d�ÖºkÍïsÁT. B�� 
suur

PQ  d�sÁÞø ¹sK n+{²sÁT. d�sÁÞø

¹sK qT kÍ<ó�sÁD+>± ¹sK n� Å£L&� n+{²sÁT.

1. ¿ì+~ ¹sK\qT #á<�e+&�.

1. ÿ¿£ ¿±ÐÔá+ �|Õ @yîÕH� 6 _+<�TeÚ\qT rd�T¿=�, y�{ì¿ì �|sÁT¢ �|³¼+&�.

2. ¿ì+<� �eÇ�&�q _+<�TeÚ\qT ¿£\|�+&�. ¹sU²K+&�\ �|sÁT¢ çy�jáT+&�.

nuó²«d�+ `    1

3. ¿ì+~ �eÇ�&�q y�{ì� ¹sK, ¹sU²K+&�+, ¿ìsÁD+>± $uó��+º, y�{ì �|sÁT¢ çy�jáT+&�.

(n) (�) (�)

BA
X Y

O

A

A

B C P Q

R S

E

F

H

G

I

BA
P

Q M
N

X

Y
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4. Check whether the statements are True (T) or False ( F). If it is false, give the reason.
a) A ray has a definite length. ( )
b) A ray has one end point. ( )
c) A Line segment has a fixed length. ( )
d) A Line segment has no end points. ( )
e) A Line has no end points. ( )

5. Represent  the rays from the figure  given below.

6. Find rays, lines and line segments from the figure given below.

7. How many straight lines can be drawn through?
a)   One point                     b)   Two distinct points

8. Observe the following figure and answer the questions given below.

a)  Write any three points.

b)  Write any Two rays.

c)  Write any five line segments.

K AP T Y

B

A

O

A
B

C
D

E

F

Point �|
{²¼*

.
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K AP T Y

B

A

O

A
B

C
D

E

F

4. ¿ì+~ y�{ì� d�Ôá«yîÖ (T), nd�Ôá«yîÖ (F) Ôî\|�+&� ÿ¿£ yûÞø nd�Ôá«+ nsTTÔû ¿±sÁD+ Ôî\|�+&�.

n) ¿ìsÁD²�¿ì �]Ýw�¼yîT®q bõ&�eÚ �+³T+~. ( )

�) ¿ìsÁD²�¿ì ÿ¿£ ºe] _+<�TeÚ �+³T+~. ( )

�) ¹sU²K+&��¿ì �]Ýw�¼yîT®q bõ&�eÚ �+³T+~. ( )

�) ¹sU²K+&��¿ì ºe] _+<�TeÚ\T �+&�eÚ. ( )

�) d�sÁÞø¹sKÅ£� _+<�TeÚ\T �+&�eÚ. ( )

5. ¿ì+~ |�³+ qT+&� ¿ìsÁD²\qT s�jáT+&�.

6. ¿ì+~ |�³+ýË ¿ìsÁDeTT, ¹sK, ¹sU²K+&�\qT >·T]ï+#á+&�.

7. ¿ì+~ _+<�TeÚ\ >·T+&� m�� d�sÁÞø¹sK\T ^jáTe#áTÌ ?

n) ÿ¿£ _+<�TeÚ �) Âs+&�T _+<�TeÚ\T

8. ¿ì+~ |�³+ �<ó�sÁ+>± ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

n) @yîÕH� eTÖ&�T _+<�TeÚ\ �|sÁT¢ s�jáT+&�.

�) @yîÕH� Âs+&�T ¿ìsÁD²\ �|sÁT¢ s�jáT+&�.

�) @yîÕH� ×<�T ¹sU²K+&�eTT\ �|sÁT¢ s�jáT+&�.

Point �|
{²¼*

.
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6.5:- Types of Angles:
Angle
Observe the pictures given below.

Observe the regions marked in the above figures. The region between two rays (clock
hands) line segments (edges of hanger, door and papers of the book) have a common end.

Open door Hanger Clock Partially Opened book

 Activity -  1

Take two ice-cream sticks and a drawing pin. Use the pin to bind the sticks at one
end. Care should be taken that the binding is loose enough to allow movement of
sticks. Keep the position of one stick constant and move the other stick. The formed
region between the sticks represents an angle.

1 Draw OP and OQ  rays. With a common end point at ' O '.
1 There formed an angle. It is denoted as ÐQOP  or ÐPOQ  or ÐO .

An angle is formed when two rays meet at a common end point. The rays are the
arms of an angle. The point at which the two rays meet is called vertex. The
symbol of angle is 'Ð '.

Example: Observe the adjacent figure.
a) Vertex is 'O'
b) Arms are uuurOX , and uuurOY
c) Angle is ÐXOY or ÐO or ÐYOX.

Note: To show the formation of an angle in a concrete way the above activity is taken
up.

Arm

ArmVertex P
O

O

X

Y

Q
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P
O

O

X

Y

6.5 ¿ÃD²\T ` sÁ¿±\T

¿ÃDeTT

� ¿ì+~ |�{²\qT |�]o*+#á+&�

�|Õ |�{²\ýË >·T]ï+ºq çbÍ+Ô�\qT >·eT�+#á+&�. � çbÍ+ÔáeTT Âs+&�T ¿ìsÁD²\T (¹sU²K+&�\T) ¿£*Ð ÿ¿£ �eT�&� ºesÁ _+<�TeÚqT

¿£*Ð �H��sTT. (Ôá\T|�Ú, �V²+>·sY eTÖý\T, >·&�jáÖsÁ+ eTTÞøß eT<ó�«q, |�Úd�ï¿£+ýË �|J\ eT<ó�«q)

ÔîsÁºq Ôá\T|�Ú �V²+>·sY >·&�jáÖsÁ+ ÔîsÁºq |�Úd�ï¿£+

¿£�Ôá«+  `     1

Âs+&�T ×dtç¿¡+ |�Ú\¢\T eT]jáTT ÿ¿£ |¾H� qT rd�T¿Ã+&�. |¾H� ÔÃ Âs+&�T |�Ú\¢\qT ÿ¿£ ºesÁq ¿£*|¾ �+#á+&�. |�Ú\¢\T

�dÇ#áÌÛ>± ¿£<�T\T³Å£� M\T>± �+&�*. �|�Ú&�T ÿ¿£ |�Ú\¢qT d¾ �sÁ+>± �+º, Âs+&�e |�Ú\¢qT ¿£<�T|�ÚÔáÖ

�+&�*. �|�Ú&�T Âs+&�T |�Ú\¢\ eT<ó�«q @sÁÎ&�q çbÍ+Ôá+ ¿ÃD uó²eqqT Ôî*jáTCñd�Tï+~.

1 �eT�&� _+<�TeÚ O >±,  OP eT]jáTT OQ ¿ìsÁD²\qT ^jáT+&�.

1 �|�Ú&�T n¿£Ø&� ÿ¿£ ¿ÃD+ @sÁÎ&�TÔáT+~. � ¿ÃD²�� ÐQOP ýñ<� ÐPOQ ýñ<� ÐO  >± d�ÖºkÍï+.

Âs+&�T ¿ìsÁD²\T ÿ¿£ �eT�&� _+<�TeÚqT ¿£*Ð�+fñ, n|�Ú&�T � ¿ìsÁD²\T ÿ¿£ ¿ÃD²�� @sÁÎsÁTÌÔ�sTT.

� ¿ìsÁD²\qT ¿ÃD uó�TC²\T n+{²sÁT. �eT�&� _+<�TeÚqT ¿ÃD osÁüeTT n+{²sÁT. ¿ÃD²�¿ì >·TsÁTï »Ðµ

�<�V�²sÁD : (n) osÁü+ 'O'  �) uó�TC²\T 
uuur

OX , 
uuur

OY
�) ¿ÃDeTTÐXOY ýñ<� ÐO  ýñ<� ÐYOX .

>·eT�¿£ : ¿ÃD uó²eqqT d¾�̄ ¿£]+#á&�+ ¿Ãd�+ �|Õ ¿£�Ô�«�� �sÁÇV¾²+#á&�+ È]Ð+~.

uó�T
È+

uó�TÈ+
osÁü+

Q
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A

BO

1 2

34

1 2

4 3

Do these

1. Observe the adjacent figure and fill in the blanks.
a) Vertex is  ....................
b) Arms are .....................
c) Angle is .....................

2. Observe the various  items in your classroom and write the things where angles occur.

Right Angle

Activity -  1

Take a square sheet of paper. Fold it vertically
and horizontally as shown in the figure. Unfold it and
look at it. Observe the point where the two creases
meet. Mark the angles.

If we draw the angles, they look like as shown
beside.

Are all these
angles equal ?

All these angles are equal. And these angles are
called "right angles". It is denoted with' '

Do these

1. Mark the right angles in the given pictures.
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A

BO

1 2

34

1 2

4 3

�$ #ûjáT+&�

1. |�¿£Ø |�³+ qT+&� ¿ì+~ U²°\qT |�P]+#á+&�.

n) osÁüeTT ....................

�) uó�TC²\T .....................

�) ¿ÃDeTT .....................

2. MT ÔásÁ>·Ü >·~ýË� $$<ó� ed�TïeÚ\ýË m¿£Ø&î¿£Ø&� ¿ÃD²\T �H��jîÖ >·T]ï+º s�jáT+&�.

\+� ¿ÃDeTT

¿£�Ôá«+  `     1

ÿ¿£ #áÔáTsÁçkÍ¿±sÁ|�Ú ¿±ÐÔ��� rd�T¿Ã+&�. <��� n&�¦+>±qT, �\TeÚ>±qT,

|�³+ýË #áÖ|¾q³T¢ >± eT&�e+&�. �|�Ú&�T ¿±ÐÔ��� ÔîsÁº #áÖ&�+&�.

Âs+&�T eT&�Ôá\T ¿£*d¾q #Ã³ _+<�TeÚqT |�]o*+#á+&�. ¿ÃD²\qT

>·T]ï+#á+&�.

n�� ¿ÃD²\T

d�eÖqyûTH� ?

� ¿ÃD²\T n�� d�eÖH�ýñ. � ¿ÃDeTT\qT »»\+� ¿ÃD²\Tµµ

n+{²sÁT. \+� ¿ÃD²�� »  µ >·TsÁTïÔÃ d�ÖºkÍïsÁT

�$ #ûjáT+&�

1. � ¿ì+~ |�{²\ýË \+� ¿ÃD²\qT >·T]ï+#á+&�.
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B

A

O

M

L
N

D

S N

Acute and obtuse angles
Activity -  1

Observe the adjacent figure.
The angle formed at elbow is a right angle.
Observe the figures given below. The angle in
picture no. (ii) is less than right angle.
The angle in picture no.(iii) is greater than right angle.

What type of
angles these are

called ?

The angle less than
right angle is called

‘acute angle’.

The angle greater
than right angle is

called ‘obtuse angle’.

Do these

1. Observe the angles given below and classify them as acute, obtuse and right angles.

(Pic. i)

(a) (b) (c)

(Pic. ii) (Pic. iii)
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B

A

O

M

L
N

D

S N

n\Î eT]jáTT n~ó¿£ ¿ÃD²\T

¿£�Ôá«+  `     1

|�¿£Ø |�{²�� >·eT�+#á+&�.

|�³+ýË yîÖ#ûÜ e<�Ý @sÁÎ&�q ¿ÃD+ \+� ¿ÃD+.

¿ì+<� �eÇ�&�q |�{²\qT |�]o*+#á+&�. Âs+&�e |�³+ýË ¿ÃDeTT \+� ¿ÃDeTT

¿£+fñ ÔáÅ£�Øe>± �+~. eTÖ&�e |�³+ýË ¿ÃDeTT \+�¿ÃDeTT ¿£+fñ mÅ£�Øe>±

�+~.

� sÁ¿£yîT®q ¿ÃD²\qT

 @eT+{²sÁT?

\+�¿ÃD+ ¿£+fñ ÔáÅ£�Øe>±

>·\ ¿ÃD²�� n\Î¿ÃD+

n+{²sÁT.

\+�¿ÃD+ ¿£+fñ mÅ£�Øe>±

>·\ ¿ÃD²�� n~ó¿£ ¿ÃD+

n+{²sÁT.

�$ #ûjáT+&�

1. ¿ì+~ y��� |�]o*+º, @~ n\Î, n~ó¿£, \+�¿ÃD²ýË Ôî\|�+&�.

|�³+ 1

|�³+ 3|�³+ 2

(n) (�) (�)
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B

A

O

90º

A

B

1

2 3

 Activity -  1
6.6: Measuring an angle

Observe the angles in the adjacent figure and write in the table.

 S.No. Angle Type of angle
1. Angle 1

2. Angle 2

3. Angle 3

1. Place the origin of the protractor on the vertex of the angle.
2. Align the base line of the protractor with one arm of an angle without shifting the

origin of the protractor from the vertex of the angle.
3. Adjust for the zero of the protractor on the base line that aligns with the arm of the

angle.

 Activity -  2

Angles are measured  in
'degrees'. To measure an angle
we use an instrument called
'Protractor'. It has a baseline,
origin and set of two scales.

Outer Scale

Inner Scale

Base line Origin

How are these
angles measured ?
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B

A

O

90º

A

B

1

2 3

¿£�Ôá«+  `     1

6.6 ¿ÃDeTT\qT ¿=\T#áT³

|�¿£Ø |�³+ýË� ¿ÃD²\qT |�]o*+#á+&�.

1. ¿ÃD osÁü+ e<�Ý ¿ÃDeÖ�� jîTT¿£Ø ¹¿+ç<�_+<�TeÚqT �+#á+&�.

2. ¿ÃDeÖ� ¹¿+ç<� _+<�TeÚ, ¿ÃD+ jîTT¿£Ø osÁü+�|Õ qT+&� |�¿£ØÅ£� ÈsÁT>·Å£�+&�Tq³T¢>±, ¿ÃDeÖ�� �<ó�sÁ ¹sK, �ºÌq

¿ÃD+ jîTT¿£Ø ÿ¿£ uó�TÈ+ @¿¡uó�$+#áTq³T¢>± ¿ÃDeÖ�� d�]#ûjáÖ*.

3. �<ó�sÁ¹sK �|Õ �q� 00 \ÔÃ ÿ¿£ uó�TÈ+ @¿¡uó�$+#áTq³T¢ #áÖ&�eýÉqT.

¿£�Ôá«+  `     2

¿ÃD²\qT &� ç^\ýË ¿=\TkÍ ïs Á T.

¿ÃD²\qT ¿=\e&��¿ì ¿ÃDeÖ�� y�&�TÔ�sÁT.

�~ ÿ¿£ �<ó�sÁ ¹sKqT, ¹¿+ç<���, Âs+&�TsÁ¿±\

�dØÞøßqT¿£*Ð �+³T+~.

�jáT³ �dØ\T

ýË|�* �dØ\T

�<ó�sÁ ¹sK ¹¿+ç<�eTT

� ¿ÃD²\qT mý²

¿=\y�*!

e.d�+K« ¿ÃDeTT ¿ÃD sÁ¿£eTT

¿ÃDeTT 1

¿ÃDeTT 2

¿ÃDeTT 3
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Do this

L

M N

NM

L

60º

120º

D

O Q

D

O Q

(2)

(3)

4. Read the angle from that side
5. \ ÐA O B = 90°

Measure of a right angle is 90°.

If the angle is less than 90º, it is an acute angle.

If the angle is more than 90º and less than 180º, it is an obtuse angle.

1. Classify the angles given below.
25º,   30º,   45º,   120º,   150º,   90º,   160º,  95º,  100º,  60º,  80º,  75º,  110º
Acute angles: ..............................................................................
Right angle  : ...........................................................................
Obtuse angles: ...............................................................................
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�$ #ûjáT+&�

L

M N

NM

L

60º

120º

D

O Q

D

O Q

(2)

(3)

4. 00 qT+&� ¿ÃD²�� #á<�y�* (¿=\y�*)

5. ¿±�{ì¼ ÐA O B  R 900

\+� ¿ÃDeTT nq>± 90
0

� ¿ÃDeTT 90
0 
\ ¿£+fñ ÔáÅ£�Øe ¿±�{ì¼, �~ ÿ¿£ n\Î ¿ÃDeTT.

1. � ¿ì+~ ¿ÃD²\qT e Z̄¿£]+#á+&�.

25º,   30º,   45º,   120º,   150º,   90º,   160º,  95º,  100º,  60º,  80º,  75º,  110º
n\Î¿ÃD²\T ..............................................................................

\+�¿ÃD+ ...............................................................................

n~ó¿£¿ÃD²\T ...............................................................................

� ¿ÃDeTT 90
0 
\ ¿£+fñ mÅ£�Øe  �+~. ¿±�{ì¼, �~ ÿ¿£ n~ó¿£ ¿ÃDeTT.
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(a) (b) (c)

LETTER        NO. OF  RIGHT NO. OF ACUTE      NO. OF OBTUSE
  ANGLES      ANGLES     ANGLES

M
A
T
H

A

O
B

P

Q
R

E
F G

PROJECT WORK
Write the word 'MATH' using the line segments and write the number of right angles,

number of acute angles and number of obtuse angles formed in these letters.

Exercise -  2

1. Observe the following angles and write them.

2. Observe the following. Name the type of angle.

(a) (b) (c)
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n¿£�sÁ+ \+� ¿ÃD²\ d�+K« n\Î ¿ÃD²\ d�+K«  n~ó¿£ ¿ÃD²\ d�+K«

M
A
T
H

A

O
B

P

Q
R

E
F G

çbÍCÉÅ£�¼ |��

'MATH' nHû |�<�+ ýË� n¿£�s�\qT ¹sU²K+&�eTT\ÔÃ s�jáT>±, n+<�TýË� ç|�Ü n¿£�sÁ+ýË mHî��� n\Î

¿ÃD²\T, \+�¿ÃD²\T, n~ó¿£ ¿ÃD²\T @sÁÎ&�Ô�jîÖ s�jáT+&�.

nuó²«d�+ ̀    2

1. ¿ì+~ ¿ÃD²\qT |�]o*+º, � ¿ÃD²\qT mý² d�ÖºkÍïsÃ s�jáT+&�.

2. ¿ì+~ y�{ì� |�]o*+#á+&�. n$ @jûTsÁ¿£|�Ú ¿ÃD²ýË Ôî\|�+&�.

(n) (�) (�)

(n) (�) (�)
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3. Observe the picture given below. Count  the number of  acute angles, obtuse angles
and right angles.

1. No. of Right angles ...........

2. No. of Acute angles ...........

3. No. of Obtuse angles .........

 Activity -  1

Cat

Rat

Cat

Rat

Rat

Cat

Cat

Rat

Cat

Rat

Cat

Rat

  Children!
1. In which figures, the cat can catch the rat ?
2. In which figures, the cat cannot catch the rat? Why ?

6.7: Open and closed figures

The figures, which are not
closed by line segments or

curves are called “Open
figures”.

The figures, which are
closed by line segments or
curves are called “Closed

figures”.

(a) (b) (c)

(d) (e) (f)
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3. ¿ì+~ |�{²�� |�]o*+#á+&�. n+<�TýË m�� n\Î ¿ÃD²\T, n~ó¿£ ¿ÃD²\T, \+�¿ÃD²\T �H��jîÖ ýÉ¿ìØ+º d�+K«qT

s�jáT+&�.

1. \+�¿ÃDeTT\ d�+K« ................

2. n\Î¿ÃDeTT\ d�+K« .................

3. n~ó¿£¿ÃDeTT\ d�+K« ................

¿£�Ôá«+  `     1

|¾*¢

m\T¿£

|¾*¢

m\T¿£

m\T¿£

|¾*¢

|¾*¢

m\T¿£

|¾*¢

m\T¿£

|¾*¢

m\T¿£

  |¾\¢\Ö !

1. @ |�{²ýË¢ |¾*¢ m\T¿£qT |�³T¼¿Ã>·\<�T ?

2. @ |�{²\ýË |¾*¢ m\T¿£qT |�³T¼¿Ãýñ<�T ? m+<�TÅ£� ?

6.7  $e�Ôá eT]jáTT d�+e�Ôá |�{²\T

¹sU²K+&�\T eT]jáTT eç¿£ ¹sK\#û

@sÁÎ&�T eTÖd¾yûjáT�&�� |�{²\qT

ÔîsÁºq |�{²\T ($e�Ôá) n+{²sÁT.

¹sU²K+&�\T eT]jáTT eç¿£ ¹sK\#û

@sÁÎ&�T eTÖd¾yûjáT�&�q |�{²\qT

eTÖd¾q |�{²\T (d�+e�Ôá) n+{²sÁT.

(n) (�) (�)

(�) (�) (})
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Closed figures

Open figures

Do this

Example:

Observe the figures given below. Write 'O' under the open figure and 'C' for closed
figure.

 Activity -  2

1 Find the lengths of AB, BC, CD, DA

1 Observe the lengths of  AB and  CD
  1  Observe the lengths of BC, and DA
1 Measure the ÐA, ÐB, ÐC and ÐD.
1 What do you observe?

The closed figure with equal opposite sides and  four right
angles is called rectangle.

D C

BA

AB =

BC =

CD =

DA =
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  d�+e�Ôá |�{²\T

$e�Ôá |�{²\T

�$ #ûjáT+&�

�<�V�²sÁD\T :

  � ¿ì+~ |�{²\qT |�]o*+#á+&�. $e�Ôá |�{²\ ¿ì+<� 'O' n�, d�+e�Ôá |�{²\ ¿ì+<� 'C' n� s�jáT+&�.

¿£�Ôá«+  `     2

1  AB, BC, CD, DA   \ bõ&�eÚ\qT ¿=\e+&�.

1  AB eT]jáTT CD  bõ&�eÚ\qT |�]o*+#á+&�.

1  BC,  eT]jáTT DA  bõ&�eÚ\qT |�]o*+#á+&�.

1  ÐA, ÐB, ÐC eT]jáTT ÐD ¿ÃD²\qT ¿=\e+&�.

1  MTsÁT @$T |�]o*+#�sÁT.

m<�TÂs<�TsÁT uó�TC²\T d�eÖq+>±�+&�, H�\T>·T \+� ¿ÃD²\T  (900) >± >·\ d�sÁÞø

d�+e�Ôá |�{²�� BsÁé#áÔáTsÁçd�+ n+{²sÁT.

D C

BA

AB =

BC =

CD =

DA =
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 Activity -  3

The closed figure with four equal sides and four right
angles is called square.

1  How many sides are there in this figure ?

1  How many angles are there in this figure ?

1  Do you know the name of this closed figure ?

1  Find the lengths of the all sides of the above figure  ( i.e. DU, SD, MS, UM ).
1  Find the all the angles in this figure.
1  What do you observe ?

The closed figure with three sides, is called
“triangle.” It has three angles.

M S

DU

MS =

SD =

DU =

UM =

M

G N

 Activity -  4
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M S

DU

MS =

SD =

DU =

UM =

M

G N

¿£�Ôá«+  `     4

¿£�Ôá«+  `     3

H�\T>·T uó�TC²\T d�eÖq+>± �+&�, H�\T>·T ¿ÃD²\T \+�¿ÃD²\T (900) >± >·\

d�sÁÞø d�+e�Ôá |�{²�� #áÔáTsÁçd�+ n+{²sÁT.

1  � |�³+ýË m�� uó�TC²\T �H��sTT ?

1  � |�³+ýË m�� ¿ÃD²\T �H��sTT ?

1  � $<ó�+>± �q� d�sÁÞø d�+e�Ôá |�{²�� @eT+{²sÃ Ôî\TkÍ?

1  �|Õ |�³+ ýË n�� uó�TC²\ ¿=\Ôá\T ¿=\e+&�. ( nq>±  DU, SD, MS, UM  )

1  |�³+ ýË n�� ¿ÃD²\qT ¿=\e+&�.

1  @$T |�]o*+#�sÁT?

eTÖ&�T uó�TC²\T >·\ d�sÁÞø d�+e�Ôá |�{²�� çÜuó�TÈ+ n+{²sÁT. çÜuó�TÈ+

ýË eTÖ&�T ¿ÃD²\T �+{²sTT.
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Exercise - 3

1. State what figures are open and which are closed.

2. Draw three simple closed figures by using straight lines only.

3. Draw three simple closed figures by using both straight lines and curved lines.

4. What is angle in a rectangle ?

5. Square is a special case of rectangle. What is its specialty in terms of sides?

6. Why there are four angles in a rectangle?

7. What are the properties of a rectangle?

8. Give some examples of articles in square shape.

6.8 Symmetry

Rani was getting ready to go to school.

She noticed the word 'FIRST' written on

the shirt of her uniform.

(1) (2) (3)

(4) (5) (6)
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nuó²«d�+ ̀   3

1. ¿ì+~ |�{²\ýË @$ d�+e�Ôá |�{²ýË, @$ $e�Ôá |�{²ýË Ôî\|�+&�.

2. ¹sU²K+&�\qT �|�jîÖÐ+º @yîÕH� eTÖ&�T d�sÁÞø d�+e�Ôá |�{²\qT ^jáT+&�.

3. ¹sU²K+&�+ eT]jáTT eç¿£¹sK \qT �|�jîÖÐ+º @yîÕH� eTÖ&�T d�sÁÞø d�+e�Ôá |�{²\qT ^jáT+&�.

4. BsÁé #áÔáTsÁçd�+ ýË ç|�Ü ¿ÃD+ $\Te m+Ôá?

5. #áÔáTsÁçd�+ nHû~ BsÁé #áÔáTsÁçd�+ ýË ÿ¿£ ç|�Ôû«¿£ d�+<�sÁÒÛ+. uó�TC²\ |�sÁ+>± ç|�Ôû«¿£Ôá @$T{ì ?

6. BsÁé #áÔáTsÁçd�+ ýË H�\T>·T ¿ÃD²\T �+{²sTT. m+<�TÅ£� ?

7. BsÁé #áÔáTsÁçd�+ jîTT¿£Ø <ó�s��\T @$T{ì ?

8. #áÔáTsÁçd� �¿±sÁ+ ýË �q� ed�TïeÚ\T ¿=��+{ì� s�jáT+&�.

6.8 kåw�¼e+

s�Dì bÍsÄÁXæ\Å£� yîÞøß&��¿ì ÔájáÖsÁeÚÔáTq�~.

�yîT Ôáq @¿£sÁÖ|� <�Td�Tï\ MT<� 'FIRST' nHû |�<��� >·eT�+º+~.

(n) (�) (�)

(�) (�) (})
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The appearance of the word 'FIRST' written on her shirt in the mirror made her
confused.  Only letters I and T looked same in the mirror.

She started playing with the mirror. She kept the mirror along P, A and E letters
and saw their reflection as shown here under.

1. Which letters have same images?
2. Which letters have different images?

Do this

  Here are some letters .Tick the letters which look different in the mirror.

Think & Discuss

 Activity -  6

Write some letters which have the same mirror image
on a paper as shown  in the adjacent figure. Then fold the paper
along the dotted lines as shown in the figure.

When we fold the paper along the dotted line, we
observe that half of the letter on one side of the crease, completely
covered the other half side of the crease.

Can you think of more such alphabet that remain same in mirror images?
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s�Dì Ôáq w�sÁT¼ MT<� �q� |�<�+ 'FIRST' � n<�Ý+ ýË #áÖd¾ _ÔáïsÁbþsTT+~ (njîÖeTjáT+ ýË |�&�+~.) ¹¿e\+

I eT]jáTT T \T eÖçÔáyûT n<�Ý+ýË Å£L&� ÿ¹¿ý² �H��sTT.

n|�Ú&�T s�Dì n<�Ý+ ÔÃ �³ �&�³+ çbÍsÁ+_ó+º+~. �yîT n<�Ý+ eTT+<�T P A eT]jáTT E n¿£�s�\qT �+º y�{ì

ç|�Ü_+u²\qT n<�Ý+ýË #áÖd¾+~.

1. @ n¿£�s�\T n<�Ý+ýË ÿ¹¿ý² ç|�Ü_+u²�� ¿£*Ð�H��sTT ?

2. @ �¿£�s�\T n<�Ý+ýË yû¹sý² ç|�Ü_+u²�� ¿£*Ð�H��sTT ?

�$ #ûjáT+&�

�¿£Ø&� ¿=�� n¿£�s�\T �eÇ�&�¦sTT. n<�Ý+ýË yû¹sý² ç|�Ü_+u²�� ¿£*Ð �+&û y�{ì� (3) #ûjáT+&�.

�ýËº+#á+&� ` #á]Ì+#á+&�

¿£�Ôá«+  `     6

ç|�¿£Ø |�³+ýË #áÖ|¾q³T¢>± n<�Ý+ýË ç|�Ü_+�+ ÿ¹¿ý² ¿£�|¾+#û ¿=�� n¿£�s�\T

çy�jáT+&�. �|�Ú&�T |�³+ýË #áÖ|¾q³T¢ >± #áT¿£Ø\ yî+�&� ¿±ÐÔ��� eT&�Ôá �|³¼+&�.

#áT¿£Ø\ yî+�&� ¿±ÐÔ��� eT&�º, |�]o*+#á>± eT&�ÔáÅ£� ÿ¿£yîÕ|�Ú �q� d�>·+,

Âs+&Ã yîÕ|�Ú �q� d�>·+ÔÃ @¿¡uó�$d�Tï+~.

  n<�Ý+ýË #áÖd¾q|�Ú&�T ÿ¹¿ý² ¿£�|¾+#û eT]�� n¿£�s�\T @yîT®H� �H��jûTyîÖ �ýËº+#á+&�.
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 Activity -  7
Look at the adjacent figure. What do you observe ?

We observe that, half of the figure on one side of the
dotted line, completely covers the other half side when it is folded
along the dotted lines. Such figure is called symmetrical figure.
The folded line is called the line of symmetry.

Can you find out any other
figure or any

alphabet  or a word you
know that holds the above

property?

B,  C,  K   are
some letters

Do these
1. Put ( 3 ) mark to the picture which have line of symmetry.

2. Draw possible number of symmetrical lines for the given figures.
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¿£�Ôá«+  `     7

|�¿£Ø |�{²�� #áÖ&�+&�. MTsÁT @$T >·eT�+#�sÁT ?

|�]o*+#á>±, #áT¿£Ø\ ^ÔáÅ£� ÿ¿£ yî Õ| � Ú�q� d�>·+, Âs+&Ãyî Õ|� Ú

�q� d�>±�� |�P]ï>± �ç¿£$Td�Tï+~. �ý²+{ì |�{²\qT kåw�¼e |�{²\T n+{²sÁT. #áT¿£Ø\

^ÔáqT kåw�¼e ¹sK n+{²sÁT.

�|Õ <ó�s���� bÍ{ì+#û

u¤eT�\T, �+>·¢ n¿£�s�\T,

|�<�\T

@yîT®H� �H��jáÖ ?

¿=��

n¿£�s�\T

B,C,K

�$ #ûjáT+&�

1. ¿ì+~ u¤eT�\ýË �q� #áT¿£Ø\ ^Ôá\T, kåw�¼e ¹sK\T nsTTÔû, y�{ì ¿ì+<� �eÇ�&�q U²° u²¿ùà\ýË (3) qT

�+#á+&�.

2. ¿ì+~ y�{ì¿ì kÍ<ó�«yîT®q�� kåw�¼e ¹sK\T ^jáT+&�.

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



40 Class - 5  Maths Magic

Symmetrical figures by cutting a paper
Take a paper and fold it. Cut it as shown in

the figure. Open it and see the design.  Will one
half cover the other?

Half a turn or Less

Observe the Pictures given below.

Each of these letters H , S, N  look the same if you rotate them upside and down.

A half turn means rotation by two quarter turn or 180°.

What is a half
turn?

We can turn in two ways
as clockwise and anti

clockwise.

After rotation of an
object looks exactly the
same, we say that it has

a rotation symmetry.

How did you
turn it?

Anti clock-wise
direction

Clock-wise
direction

Full rotation ½ turn

 Activity -  8

 Activity -  1

S

S

S S
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¿£�Ôá«+  `       1

¿£�Ôá«+  `       8

¿±ÐÔ��� ¿£Üï]+#á&�+ <�Çs� kåw�¼e ºçÔ�\qT @sÁÎsÁ#áT³.

ÿ¿£ ¿±ÐÔ��� rd�T¿=� <��� eT&�e+&�. |�³+ýË #áÖ|¾q³T¢

<��� ¿£Üï]+#á+&�. �|�Ú&�T <��� ÔîsÁºq, ÿ¿£ kåw�¼e �¿±s���

>·eT�+#áe#áTÌqT. ÿ¿£ d�>·+, $TÐ*q d�>·+ÔÃ @¿¡uó�$+#ûý² �

+<� ?

nsÁ� çuó�eTD+.

� ¿ì+~ |�{²\qT |�]o*+#á+&�.

�|Õq �q�  H, S, N n¿£�s�\T �|Õ qT+&� ç¿ì+<�Å£� çuó�eTD+ #ûd¾q|�Î{ì¿¡ ÿ¹¿ý² �H��sTT.

nsÁ� çuó�eTD+ nq>± Âs+&�T bÍeÚ çuó�eTD²\T ýñ¿£ 180° \ çuó�eTD+.

nsÁÆ çuó�eTD+ nq>±

Hû$T ?

d�e«~Xø eT]jáTT n|�d�e«~Xø\ýË

y�{ì� Âs+&�T $<ó�\T>± Ü|�Îe#áTÌqT.

çuó�eTD+ #ûd¾q ÔásÁTy�Ôá ed�TïeÚ

yîTT<�{ì <�� eýñ �+fñ, <���

çuó�eTD kåw�¼e+ n+{²sÁT.

úeÚ mý²

ÜbÍÎeÚ ?

n|� d�e«~Xø d�e«~Xø

|�P]ï çuó�eTD+ nsÁÆ çuó�eTD+ ( ½)

S

S

S S
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  Complete the following table.

Picture  Draw how it will look after a half turn ( 1
2 )

What do you observe
from the above table?

 After half turn some look
same; some do not.

  Turn a quarter (1/4)

Look at the adjacent figure. It is

turned half of a 2
1  turn. We say

that it is turned a quarter ( 4
1 ) turn.
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¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

|�³+ nsÁ� çuó�eTD+(
1
2 ) ÔásÁTy�Ôá mý² ¿£�|¾d�Tï+<Ã ^jáT+&�.

�|Õ |�{ì¼¿£ qT+&� úeÚ

@$T >·eT�+#�eÚ ?

nsÁÆ çuó�eTD+ ÔásÁTy�Ôá ¿=��

ÿ¹¿ý² �H��sTT. ¿=�� ÿ¹¿ý² ýñeÚ

  bÍeÚ(1/4) çuó�eTD+

ç|�¿£Ø ºçÔ���  #áÖ&�+&�. �~ nsÁÆ çuó�eTD+ ýË nsÁÆ ( 2
1

)

çuó�eTD+. B�� bÍeÚ ( 4
1

) çuó�eTD+ n+{²sÁT.
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Do these

Exercise -  4

1. Match each letter with its mirror image. The dotted line with every letter shows the
mirror.

      Complete the following table.

Letter Image

(i) T
(ii) C
(iii) L
(iv) M
(v) U

U
M

T

Shape 1
4  turn     1

2  turn
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�$ #ûjáT+&�

nuó²«d�+ ̀    4

1. ¿ì+~ �eÇ�&�q ç|�Ü n¿£�s��� n<�Ý+ýË <�� ç|�Ü_+�+ ÔÃ ÈÔá|�sÁ#á+&�. ç|�Ü n¿£�sÁ+ ç|�¿£Øq �q� #áT¿£Ø\ ̂ Ôá

n<�Ý+>± uó²$+#á+&�.

    � ¿ì+~ |�{ì¼¿£qT |�P]ï #ûjáT+&�.

n¿£�sÁ+ ç|�Ü_+�+

�¿±sÁ+
1
4  çuó�eTD+    

1
2   çuó�eTD+

(i) T
(ii) C
(iii) L
(iv) M
(v) U

U
M

T
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2. Check whether the dotted line represents the line of symmetry or not and put a (3)
under the figure with line of symmetry.

3. Draw possible lines of symmetry for the figures given below, wherever possible.

4. Complete the following table.

(a) (b) (c)

(d) (e) ( f )

Shape
1
4  turn     1

2  turn

(a) (b) (c)

(d) (e) ( f )
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2. ¿ì+~ |�{²\ýË #áT¿£Ø\ ^Ôá\T kåw�¼e ¹sK\T neÚÔ�jîÖ ýñ<Ã #áÖ&�+&�. kåw�¼e ¹sK nsTTÔû n |�³+ ¿ì+~

(   )  eÖsYØ qT �+#á+&�.

3. ¿ì+~ |�{²\Å£� kÍ<ó�«yîT®q�� kåw�¼e ¹sK\T ^jáT+&�.

4. ¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

(n) (�) (�)

(�) (�) (})

(n) (�) (�)

(�) (�) (})

�¿±sÁ+
1
4  çuó�eTD+    

1
2   çuó�eTD+
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 Activity -  1

6.9 Picture Pattern

Saree borders Carpets designs Floor designs Quilt designs

What do you observe
from all  the above

pictures ?

In all the pictures
above shapes are

repeated in a sequence
(series)

What is the name of shapes
which are repeated in a

sequence ?

A pattern is  a  series  or sequence of repeated
shapes and figures. Patterns enhance beauty. All
patterns are formed by repeating certain shapes.

Do these
1. Arrange  patterns using , ,  and  .

Patterns.

2. What should come next?

(a)

(b)

(c)

(d)

(e)
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¿£�Ôá«+  `     1

6.9 |�³ neT]¿£\T

NsÁ n+#áT\T Üy�N Hû\ u¤+ÔáMT<�

�|Õ |�{²\qT+&� úeÚ

 @$T >·eT�+#�eÚ ?

n��+{ìýËqÖ ¿=�� �¿±s�\T

eTsÁ\ eTsÁ\ |�Úqs�e�Ôá+

neÚÔáTH��sTT.

� $<ó�+>± ÿ¿£ esÁTd�ýË

|�Úqs�e�Ôá+ njûT«

�¿±s�\qT @eT+{²sÁT ?

neT]¿£\T.

ÿ¿£ esÁTd� ç¿£eT+ýË eTsÁý² |�Úqs�e�Ôá+ njûT« |�{²\qT >±�,

�¿±s�\qT >±� neT]¿£\T n+{²sÁT. neT]¿£\T kå+<�s�«� ¿£*Ð

�+{²sTT. n�� neT]¿£\T ÿ¿£ �]Ýw�¼yîT®q �¿±s�\T eTsÁý² eTsÁý²

|�Úqs�e�Ôá+ neÇ&�+ e\¢ @sÁÎ&�qyû.

�$ #ûjáT+&�

1. , , ,   \qT �|�jîÖÐ+º neT]¿£\T ÔájáÖsÁT#ûjáT+&�.

2.  ÔásÁTy�Ôá e#ûÌ neT]¿£ @~?

(a)

(b)

(c)

(d)

(e)
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Perimeter

 Activity -  1

Children, measure four sides
of the table. Use scale or tape to
measure. Write your observation.

Length of first side measured by the first student ........... cms
Length of second side measured by the second student ............. cms
Length of third side measured by the third student ............. cms
Length of fourth side measured by fourth student ............. cms
Total length of the four sides ............. cms

What is it called the total
length of the boundary?

We call it
‘Perimeter’

Do this

1. Find the perimeter of the following.

6.10 Perimeter and area

3 cm

10 cm

3 cm 4 cm 4 cm

4 cm

4 cm

4 cm

4 cm

8 cm

4 cm

5 cm

10 cm

3 cm
5 cm
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#áT³T¼¿=\Ôá

¿£�Ôá«+  `     1

ÔásÁ>·Ü ýË� |¾\¢\#û �dØýÙÔÃ >±�, fñ|�ÚÔÃ

>±�, fñ�TýÙ jîTT¿£Ø H�\T>·T eTÖ\\T ¿=*|¾+#á+&�.

yîTT<�{ì $<�«]� ¿=*ºq n+#áT bõ&�eÚ .............. �d+. MT.

Âs+&�e $<�«]� ¿=*ºq n+#áT bõ&�eÚ .............. �d+. MT.

eTÖ&�e $<�«]� ¿=*ºq n+#áT bõ&�eÚ .............. �d+. MT.

H�\Ze $<�«]� ¿=*ºq n+#áT bõ&�eÚ .............. �d+. MT.

H�\T>·T n+#áT\ yîTTÔáï+ bõ&�eÚ ..........................�d+. MT.

ÿ¿£ �esÁD jîTT¿£Ø #áT³Ö¼ �q�

n+#áT ¿=\ÔáqT @eT� n+{²sÁT?

B��

»#áT³T¼¿=\Ôáµ n+{²sÁT

�$ #ûjáT+&� :

1. ¿ì+~ y�{ì #áT³T¼¿=\Ôá\qT ¿£qT>=q+&�.

6.10 #áT³T¼¿=\Ôá eT]jáTT yîÕXæ\«+

3 �d+.MT.

10 �d+.MT.

3�d+.MT. 4 �d+.MT.

10 �d+.MT.

4 �d+.MT.

4 �d+.MT.

4 �d+.MT.

4 �d+.MT.

3 �d+.MT.

5 �d+.MT.

4 �d+.MT.

8�d+.MT.

4 �d+.MT.

5�d+.MT.
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 Activity -  2

    Using a grid paper and find the perimeter of the rectangle.

Perimeter of a rectangle  =  6 + 4 + 6 + 4

= Length + Breadth + Length + Breadth

= 2 Lengths + 2 Breadths

Perimeter of a rectangle =  2 Lengths  +  2 Breadths

1. Find the perimeter of the following rectangles.

Perimeter refers to the
total length of the

boundary.

Length Breadth Perimeter by adding all Perimeter by the formula
         sides

10 units 5 units 10 + 5 + 10 + 5 = 30 2 x 10 + 2 x 5 = 20 +10 = 30 u.

15 units 10 units

18 units 5 units

12 units 8 units
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10 jáTÖöö 5 jáTÖöö 10 + 5 + 10 + 5 = 30 2 x 10 + 2 x 5 = 20 +10 = 30jáTÖöö

15 jáTÖöö 10 jáTÖöö

18 jáTÖöö 5 jáTÖöö

12 jáTÖöö 8 jáTÖöö

¿£�Ôá«+  `     2

çÐ&��|esYqT �|�jîÖÐ+º sÁ+>·TyûjáT�&�q BsÁé #áÔáTsÁçd�+ #áT³T¼¿=\Ôá ¿£qT>=q+&�.

BsÁé #áÔáTsÁçd�+ jîTT¿£Ø #áT³T¼¿=\Ôá R 6 G 4 G 6 G 4

R bõ&�eÚ G yî&�\TÎ G bõ&�eÚ G yî&�\TÎ

R 2 bõ&�eÚ\T G 2 yî&�\TÎ\T

BsÁé#áÔáTsÁçd� #áT³T¼¿=\Ôá R 2 bõ&�eÚ\T G 2 yî&�\TÎ\T

bõ&�eÚ yî&�\TÎ n�� uó�TC²\T ¿£\T|�>± d�ÖçÔá+ <�Çs� #áT³T¼¿=\Ôá

    #áT³T¼¿=\Ôá

1. ¿ì+~ BsÁé#áÔáTsÁçd� #áT³T¼¿=\Ôá\qT ¿£qT>=qTeTT.

ÿ¿£ �esÁD jîTT¿£Ø #áT³Ö¼

�q� n+#áT ¿=\Ôá

#áT³T¼¿=\ÔáqT Ôî*jáTCñd�Tï+~.
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Do these

 Activity -  3

 Perimeter of a square = 5 + 5+ 5+ 5

=  side + side + side + side

=  4 x Side

Perimeter refers to the
total length of the

boundary.

Perimeter of square =  4 x side

1. Find the perimeter of a square with a side of 3 cms.
2. Find the perimeter of a square with a side of 12cms.

Area Activity -  1

Ask the students to estimate how many

Maths text books are needed to cover the

surface of the table. After collecting the

responses ask the children to cover the table

with Maths textbooks in such a way that there

is no gap among the books and no over lapping.
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�$ #ûjáT+&�

¿£�Ôá«+  `     3

 #áÔáTsÁçd�+ #áT³T¼¿=\Ôá R 5 G 5G 5 G 5

R uó�TÈ+ G uó�TÈ+ G uó�TÈ+ G uó�TÈ+

R 4 I uó�TÈ+

ÿ¿£ �esÁD jîTT¿£Ø

#áT³Ö¼ �q� n+#áT ¿=\ÔáqT

 #áT³T¼¿=\Ôá n+{²sÁT.

#áÔáTsÁçd�+ #áT³T¼¿=\Ôá R 4 I uó�TÈ+

1. 3 �d+. MT. uó�TÈ+>± >·\ #áÔáTsÁçd�+ #áT³T¼¿=\Ôá m+Ôá ?

2. 12 �d+. MT. uó�TÈ+>± >·\ #áÔáTsÁçd�+ #áT³T¼¿=\Ôá m+Ôá ?

yîÕXæ\«+
¿£�Ôá«+  `     1

fñ�TýÙ �|�]Ôá\+ yîTTÔáï+ �ç¿£$T+#û $<ó�+>± m�� >·DìÔá

| � Úd � ï¿ ±\T �|s ÁÌe#áT Ì n� �bÍ<ó�«já TT& � T | ¾\ ¢\qT

}V¾ ²+# áeT� #îbÍ Î*. | ¾\ ¢\ d� Î+<�q\ Ô ás ÁTy�Ôá ,

�bÍ<ó�«jáTT&�T |¾\¢\qT fñ�TýÙ �|Õ >·DìÔá |�Úd�ï¿±\qT |�Úd�ï¿±\

eT<ó�«q U²° ýñÅ£�+&�qT, ÿ¿£<���|Õ ÿ¿£{ì ýñÅ£�+&�qT, �|sÁÌeT�

#îbÍÎ*. ç¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



56 Class - 5  Maths Magic

S. No Name of the Student Estimated Number Actual Number

    1.

    2.

    3.

    4.

 Activity -  2

Use 12 squares to make  as many types of rectangles as you can on the square sheet.  Do
all types of rectangles occupy same area? One is done for you.

What do you observe from the above table ?
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e. d�+K« $<�«]Æ �|sÁT n+#áH� d�+K« (|�Úd�ï¿±\T)  y�d�ïe d�+K« (|�Úd�ï¿±\T)

    1.

    2.

    3.

    4.

¿£�Ôá«+  `     2

12 #á<�s�\qT �|�jîÖÐ+º, kÍ<ó�«yîT®q�� BsÁé#áÔáTsÁçkÍ\qT @sÁÎsÁ#á+&�. n�� BsÁé#áÔáTsÁçkÍ\T ÿ¹¿ ç|�<ûXæ�� �ç¿£$Td�TïH��jáÖ?

ÿ¿£{ì MT ¿=sÁÅ£� #ûjáT�&�+~.

�|Õ |�{ì¼¿£ qT+&� MTsÁT @$T >·eT�+#�sÁT ?

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



58 Class - 5  Maths Magic

 Activity -  3

Figure Length Breadth Area

.......... cm .......... cm .......... sq. cm

What do you observe
from the above ?

Area of a rectangle  =  Length   x  Breadth

.......... cm .......... cm .......... sq. cm

.......... cm .......... cm .......... sq. cm

.......... cm .......... cm .......... sq. cm

What is the formula for
area of a rectangle ?

Area of a rectangle is
product of its length and

breadth.
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¿£�Ôá«+  `     3

ºçÔá+ bõ&�eÚ yî&�\TÎ yîÕXæ\«+

.......... �d+.MT. .......... �d+.MT. .......... #á.�d+.MT.

..........�d+.MT. ..........�d+.MT. .......... #á.�d+.MT.

.......... �d+.MT. .......... �d+.MT. .......... #á.�d+.MT.

.......... �d+.MT. ..........�d+.MT. .......... #á.�d+.MT.

�|Õ y�{ì qT+&�  MTsÁT @$T

>·eT�+#�sÁT ?

BsÁé #áÔásÁçd� yîÕXæ\«+

<�� bõ&�eÚ, yî&�\TÎ\ \u²Ý�¿ì

d�eÖq+.

BsÁé #áÔáTsÁçd� yîÕXæý²«�¿ì

d�ÖçÔá+ @$T{ì ?

BsÁé#áÔáTsÁçd� yîÕXæ\«+ R bõ&�eÚ I yî&�\TÎ.
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Do this

 Activity -  4

What do you
observe from the

above ?

Area of a Square is
obtained by multiplying

side with side.

If in a rectangle, length and breadth are equal, it is called  a square.
Here length and breadths are called sides. All sides are equal in a

square. Area of a square =  side x  side

Balu is a farmer who wants to divide his land equally to his three
children. He wants to divide the land. The picture of his land is given and each piece of
land has one tree. Can you divide the land equally?

Figure Side Area

.......... cm .......... sq.cm

.......... cm .......... sq.cm
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�$ #ûjáT+&�

¿£�Ôá«+  `     4

ºçÔá+ uó�TÈ+ yîÕXæ\«+

.......... �d+. MT.

.......... �d+. MT. .......... #á. �d+. MT.

.......... #á. �d+. MT.

�|Õ |�{ì¼¿£ qT+&� MTsÁT

@$T >·eT�+#�sÁT ?

#áÔáTsÁçd� yîÕXæ\«+ <�� ç|�¿£Ø

uó�TC²\ \u²Ý�¿ì d�eÖq+.

ÿ¿£ BsÁé #áÔáTsÁçd�+ ýË bõ&�eÚ yî&�\TÎ \T d�eÖq+ nsTTq n~ #áÔáTsÁçd�+ neÚÔáT+~.

�¿£Ø&� #áÔáTsÁçd�+ýË bõ&�eÚ yî&�\TÎ\qT uó�TC²\T n+{²sÁT. n�� uó�TC²\T d�eÖq+.

nsTTq n~ #áÔáTsÁçd�+. #áÔáTsÁçd� yîÕXæ\«+ R uó�TÈ+ I uó�TÈ+.

u²\T ÿ¿£ ÂsÕÔáT. u²\T ÔáqÅ£�q� bõý²�� Ôáq eTT>·TZsÁT |¾\¢\Å£� d�eÖq+>± |�+#�* n� nqTÅ£�H��&�T. nÔá�

bõ\+ýË eTÖ&�T #î³T¢ �H��sTT. ç|�Ü y�{²ýËqÖ ÿ¿£ #î³T¼e#ûÌý²>±, Ôáq eTT>·TZsÁT |¾\¢\Å£� |�+#�*. Ôáq bõ\+ ¿ì+~

ºçÔá+ ýË #áÖ|¾q³T¢ �+~. |�+#á&�+ýË MTsÁT d�V�äjáT|�&�>·\s� ?
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Exercise - 5

1. Find the perimeter of a rectangular field whose length is 40m and
breadth is 25m.

2. Find the perimeter of a park in square shape side with 25m.
3. Find the area of a square whose one side is 13cms.
4. Find the area of a black board with a length of 240cms and

breadth 120cms.
5. Find the cost of fencing to a square park whose side is 200m.

Cost for 1m is ` 30.
6. A piece of a wire is 28cm long. What will be the length of each

side, if the wire is used to form a square?
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nuó²«d�+ ̀    5

1. bõ&�eÚ 40 MT. yî&�\TÎ 25 MT. >± >·\ BsÁé#áÔáTsÁçd� bõ\+ #áT³T¼¿=\Ôá ¿£qT>=q+&�.

2. 25 MT. uó�TÈ+ >± >·\ ÿ¿£ #áÔáTsÁçkÍ¿±sÁ bÍsYØ jîTT¿£Ø #áT³T¼¿=\Ôá ¿£qT>=q+&�.

3. 13 �d+. MT uó�TÈ+ >± >·\ #áÔáTsÁçd�+ jîTT¿£Ø yîÕXæ\«+ ¿£qT>=q+&�.

4. 120 �d+.MT bõ&�eÚ, 80 �d+.MT. yî&�\TÎ >·\ ÿ¿£ q\¢�\¢ yîÕXæ\«+ ¿£qT>=q+&�.

5. ÿ¿£ #áÔáTsÁçd�+ �¿±sÁ+ ýË >·\ bÍsYØ uó�TÈ+ 200 MT. <�� #áT³Ö¼ ¿£+#î yûjáTT³Å£�

MT³sYÅ£� 30 sÁÖbÍjáT\T #=|�ÚÎq m+Ôá KsÁTÌ neÚÔáT+<Ã ¿£qT>=q+&�?

6. 28. �d+ MT bõ&�eÚ >·\ ÿ¿£ r>· �+~. B�� ÿ¿£ #áÔáTsÁçkÍ¿±sÁ+ >± eT*�dï <�� uó�TÈ+

bõ&�eÚ m+Ôá ?
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7.1:  Tally marks
One day Class 5 teacher Mrs. Lakshmi collected the data about their favourite

flower from the students. One student noted the collected data on the black board.

Rose, Rose, Marigold,
Jasmine, Rose, Marigold,
Rose, Lily, Rose, Jasmine,
Rose, Marigold, Jasmine,
Rose, Jasmine, Marigold,
Jasmine, Rose, Rose,
Jasmine, Rose, Marigold,
Rose, Marigold, Marigold,
Rose, Marigold, Rose, Lily,
Rose.

  Name of the flower Tally marks Number

Answer the following questions:
1. Which flower is liked by most of the students?
2. How many children liked rose flower?
3. Which flower is liked by less number of students?

Jasmine

Rose

Marigold

Lily

Complete the table by using the above data:

Chapter Data Handling

Rose, Rose,
Marigold,

Jasmine, Rose,
Marigold

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



>·DìÔá+ÔÃ >·eT�ÔáTï   ÔásÁ>·Ü ` 565

n<ó�«jáT+

 7.1 : >·Dq ºV�ä�\T

ÿ¿£ sÃE 5 e ÔásÁ>·Ü ¿±¢dt {¡#ásY \¿¡�� meÂse]¿ì @@ |�ÚeÚÇ �w�¼yîÖ n&�>±sÁT. ÿ¿=Ø¿£ØsÁT #î|¾Îq <���

 uËsÁT¦ �|Õ ¿ì+~ $<ó�+>± ÿ¿£ $<�«]� s�Xæ&�T.

 >·Tý²_, >·Tý²_, �+Ü,

 eTýÉ¢, >·Tý²_, �+Ü,

 >·Tý²_, *©¢, >·Tý²_, eTýÉ¢,

 >·Tý²_, �+Ü, eTýÉ¢,

 >·Tý²_, eTýÉ¢, �+Ü,

 eTýÉ¢, >·Tý²_, >·Tý²_,

 eTýÉ¢, >·Tý²_, �+Ü,

 >·Tý²_, �+Ü, �+Ü,

 >·Tý²_, �+Ü, >·Tý²_, *©¢,

 >·Tý²_,

<�Ô�ï+Xø   �sÁÇV�²D

 ¿ì+~ ç|�Xø�\Å£� Èy��T\T s�jáT+&�.

1. mÅ£�Øe eT+~ $<�«sÁT�\T @ |�ÚeÚÇqT �w�¼|�&�TÔáTH��sÁT ?

2. >·Tý²_ |�ÚeÚÇqT �w�¼|�&û $<�«sÁT�\T m+<�sÁT ?

3. @ |�ÚeÚÇqT  ÔáÅ£�Øe eT+~ $<�«sÁT�\T �w�¼&�TÔáTH��sÁT ?

�|ÕÕ <�Ô�ï+Xø+ �<ó�sÁ+>± ¿ì+~ |�{ì¼¿£qT |�P]ï #ûjáT+&�:

|�ÚeÚÇ �|sÁT >·Dq ºV�ä�\T d�+K«

eTýÉ¢

>·Tý²_

�+Ü

*©¢
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7.2: Pictograph:

Is there any other
way to compare the

data easily?

Now, we compare the previous data by using  pictograph.

You have to use  to represent two flowers.            = 2 flowers

Will you explain
how to prepare the

pictograph?

Yes, observe
 the process
given below.

Step  1 : Select / identify a suitable picture to represent the data.(  )

Step  2 : Give a numerical value to the picture. ( = 2 flowers)

Step  3 : Draw the number of pictures according to the data.

Example: Marigold = = 4 x 2 = 8 flowers

Step 4 : All the pictures should be in the same shape and size.

Name of the flower Number of pictures

1. Jasmine

2. Rose

3. Marigold

4. Lily

S. No.

Yes,
we can use

pictographs to
compare the data.
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d�T\uó�+>± <�Ô�ï+Xæ��

bþ\Ì{²�¿ì �+¿Ã eÖsÁZ+

@yîTïH� �+<�?

neÚqT,

eTq+ |�³ºçÔá+

<�Çs� <�Ô�ï+Xæ��

d�T\uó�+>± bþ\Ìe#áTÌ.

�|�Ú&�T, eTq+ �|Õ <�Ô�ï+Xæ�� |�³ºçÔá+qT �|�jîÖÐ+º bþ\TkÍïeTT.

�<� 2 :- 2 |�ÚeÚÇ\qT Ôî*jáT|�sÁÌ{²�¿ì  qT y�&�TÔ�+.

|�ÚeÚÇ �|sÁT  |�³eTT\ d�+K«

1. eTýÉ¢

2. >·Tý²_

3. �+Ü

4. *©¢

|�³ºçÔá+qT  mý²

ÔájáÖsÁT#ûjáÖýË

$e]kÍïy�?

ný²¹>, ¿ì+<�

�ºÌq ç|�ç¿ìjáTqT

>·eT�+#áT.

kþbÍq+ 1 : �ºÌq <�Ô�ï+Xæ�¿ì d�]|�&û u¤eT�qT mqT�¿Ãy�* / >·T]ï+#�*. ( )

kþbÍq+ 2 : � u¤eT�Å£� d�+U²« $\TeqT �y�Ç*. ( R 2 |�ÚeÚÇ\T)

kþbÍq+ 3 : <�Ô�ï+Xæ�¿ì d�]|�&�q�� u¤eT�\qT ^jáÖ*.

  �<� : �+Ü R R 4 x 2 R 8 |�ÚeÚÇ\T

kþbÍq+ 4 : rd�TÅ£�q�  u¤eT�\ú� ÿ¹¿ |�]eÖD+, ÿ¹¿ �¿±sÁ+ýË Ôá|�Î� d�]>± �+&�*.

R 2  |�ÚeÚÇ\T

esÁTd� d�+K«

 7.2 : |�³ ºçÔáeTT
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 Example:

Observe the following  pictograph and fill the columns.

 Answer the following questions:

1. How many players played Kabaddi?

2. Which game was played by most of the players?

3. Which game was played by only 10 members?

               Pochaiah, Salman, Lingaiah, Kareem and Veeresam are fishermen in Tallarevu

village. The number of the fish caught by them is given in the table. Draw a pictograph for

the given data.

Fisherman

Fish 90  100      30 80   50

= 5 members

 Pochaiah Salman  Kareem Lingaiah Veeresam

S. No.

1. Kabaddi

2. Kho Kho

3. Tennikoit

4. Cricket

 Game Pictures
  Number of

players
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�<�V�²sÁD :

¿ì+~ |�³ºçÔ��� >·eT�+#á+&� eT]jáTT |�{ì¼¿£qT |�P]+#á+&�.

esÁTd�

d�+K«

1. ¿£�&�¦

2. UË UË

3. fÉ��¿±sTT{Ù

4. ç¿ìÂ¿{Ù

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

n. ¿£�&�¦ �&û �³>±Þø�ß m+<�sÁT?

�. @ �³qT mÅ£�Øe �³>±Þø�ß �&�sÁT?

�. @ �³qT 10 eT+~ eÖçÔáyûT �&�sÁT?

               bþ#ájáT«, kÍ\�H�, *+>·jáT«, ¿£̄ + eT]jáTT M¹sXø+\T Ôî\¢¹seÚ ç>±eT+ýË eTÔáà«¿±sÁT\T. y�sÁT |�fñ¼ #û|�\

d�+K« ¿ì+~ |�{ì¼¿£ýË �eÇ�&�+~. ¿ì+~ <�Ô�ï+Xæ�¿ì d�]|�&û |�³ºçÔ��� ^jáTTeTT.

R 5  >·TsÁT

�³ u¤eT�\T
�³>±Þøß

d�+K«

eTÔáà¿±sÁT\T

#û|�\T

bþ#ájáT« kÍ\�H� *+>·jáT« M¹sXø+

90  100 30   80      50

¿£̄ +
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= 10 fish. i.e. Picture of one fish represents 10 fish.

 Now answer the following questions.

a) How many fish Pochaiah caught more than Lingaiah?

b) Is the number of fish caught by Lingaiah is equal to the total number

of fish caught by Kareem and Veeresam?

c) How many fish pictures can you draw for Veeresam?  Why?

d) Number of fish pictures equal to 100 fish are ___________

One day Pochaiah's wife Mangamma went to a fruit market.  She brought

some fruits as given in the table below.

Prepare a pictograph to the given data and present it in the class room.

Fruits
Number of

Fruits

Mango Banana Orange Apple

20        30      50   20

1. Pochaiah

2. Salman

3. Kareem

4. Lingaiah

5.            Veeresam

S. No. Name of the  Pictures
Fisherman
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20        30      50   20

eTÔáà«¿±sÁT� �|sÁT

R 10 #û|�\T.  nq>± ÿ¿£ #û|� u¤eT� 10 #û|�\qT  d�Öºd�Tï+~.

 �|�ð&�T ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�.

n) *+>·jáT« ¿£H�� bþ#ájáT« m�� mÅ£�Øe #û|�\T |�{²¼&�T?

�) *+>·jáT« |�{ì¼q #û|�\ d�+K«Ñ ¿£̄ + eT]jáTT M¹sXø+ ¿£*|¾ |�{ì¼q #û|�\ d�+K«Å£� d�eÖqeÖ?

�) M¹sXø+ ¿Ãd�+ úeÚ m�� #û|� u¤eT�\T ^kÍïeÚ? m+<�TÅ£�?

�) 100 #û|�\Å£� d�]|�&û #û|� u¤eT�\ d�+K«m+Ôá?

ÿ¿£ sÃE bþ#ájáT« uó²sÁ« eT+>·eT� |�+&�¢ eÖÂsØ{ÙÅ£� yî[ß+~. �$&� ÔîºÌq |�+&�T¢ ¿ì+~ |�{ì¼¿£ýË �eÇ�&�¦sTT.

1. bþ#ájáT«

2. kÍ\�H�

3. ¿£̄ +

4. *+>·jáT«

5. M¹sXø+

|�+&�T¢ eÖ$T&� nsÁ{ì �Ô�ïsTT �|¾ýÙ

�ºÌq <�Ô�ï+Xæ�¿ì |�³ºçÔ��� ÔájáÖsÁT#ûjáT+&�. <��� ÔásÁ>·Ü >·~ýË ç|�<�]ô+#á+&�.

esÁTd�

d�+K«
u¤eT�\T

|�+&�¢ d�+K«
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= 10 fruits

N
o.

 o
f p

la
ye

rs

Kabbadi    Kho Kho   Tennikoit   Cricket

Cricket

Tennikoit

Kho Kho

Kabbadi

 1 unit = 10 Players

No. of players

G
am

es
 1 unit = 10 Players

Games

Group : 1 Group : 2

We can represent the data in both horizontal and vertical bars.

Now answer the following questions:

a) How many players are there in the ground?

b) The difference between number of players played kho
kho and tennikoit is equal to that of which game?

c) Which game has 40 players ?

d)  How many times the number of tennikoit players is equal
to the number of kabbadi players?

Type of fruit Picture representation

Mango

Banana

Orange

Apple

Hint :

Prepare some questions on the above data and discuss them in the classroom.
7.2 : Reading the Bar Graph

We can represent the data in another way also. Observe it carefully.
Two groups of class 5 students prepared data on players of different games in their

school as shown below.
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= 10 |�+&�T¢

 d�Ö#áq :

 �|Õ |�{ì¼¿£ �<ó�sÁ+>± ¿=�� ç|�Xø�\T ÔájáÖsÁT#ûd¾, ÔásÁ>·Ü >·~ýË #á]Ì+#á+&�.

 7.2 : ¿£MT� ºçÔ�\qT ^jáT³+

�|�Ú&�T eTq+ �ºÌq <�Ô�ï+Xæ�� eTsÃ $<ó�+>± çbÍÜ�<ó�«|�sÁT<�Ý+. C²ç>·Ôáï>± |�]o*+#á+&�. 5e ÔásÁ>·Ü $<�«sÁT�\T

Âs+&�T ç>·Ö|�Ú\T>± @sÁÎ&� ÔáeT bÍsÄÁXæ\ýË sÁ¿£sÁ¿±\ �³\T �&û �³>±Þøß <�Ô�ï+Xø+ ¿ì+~ $<ó�+>± qyîÖ<�T #ûXæsÁT.

�
³
>
±Þ

øß 
d
�+
K
«

¿£�&�¦ UË UË fÉ�� ¿±sTT{Ù ç¿ìÂ¿{Ù

ç¿ìÂ¿{Ù

1 jáTÖ�{Ù R 10 �³>±Þø�ß

fÉ�� ¿±sTT{Ù

UË UË

¿£�&�¦

 �³>±Þøß d�+K«

�
³

�³

ç>·Ö|t : 1 ç>·Ö|t : 2

 � <�Ô�ï+Xæ�� �\TeÚ eT]jáTT n&�T¦ ¿£MT� ºçÔ�\T>± #áÖ|¾+#áe#áTÌ.

 ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�.

n) 5e ÔásÁ>·Ü ýË m+Ôá eT+~ �³>±Þø�ß �H��sÁT ?

�) UË UË eT]jáTT fÉ��¿±sTT{Ù �³>±Þøß d�+K«\ uñ<ó��¿ì d�]bþjûT �³>±Þø�ß

@ �³ýË �H��sÁT ?

�) 40 eT+~ $<�«sÁT�\T @ �³qT �&�TÔáTH��sÁT ?

�) fÉ��¿±sTT{Ù �³>±Þø�ß d�+K«Å£� ¿£�&�¦ �³>±Þøß d�+K« m�� Âs³T¢ ?

|�+&�T sÁ¿£+ u¤eT� çbÍÜ�<ó�«+

eÖ$T&�

nsÁ{ì

�Ô�ïsTT

�|¾ýÙ

1 jáTÖ�{Ù R 10 �³>±Þø�ß
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A bar graph represents the data with equal width rectangular bars. Every
bar graph has a title and scale.

Example :
Rajani wants to compare her height with her four friends. She measured their heights

and made a note like this.
Rajani – 120 cm Rafi – 160 cm Ramesh – 140 cm
Rosy – 140 cm Rani – 160 cm
Help her to draw bar diagram.

1 Unit = 20 cm

Now answer the following questions:
a) Who is the shortest person?
b) How much less height is Rajani to Rafi?
c) Who is equal in height to Rajani?
d) How much more height is Rajani than Rosy?
One day Rani collected the data of temperatures of 5 Major cities from news papers.

Prepare a bar diagram to the data and prepare 4 questions.

 Name of the city Kadapa Nellore Kurnool Vijayawada Visakhapatnam

 Temperature in
degrees 30ºc 35ºc 35ºc 25ºc 20ºc

Rajani Rafi      Ramesh       Rosy      Rani

200-
180 -
160 -
140 -
120 -
100 -
80 -
60 -
40 -
20 -

Persons - Heights
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200-
180 -
160 -
140 -
120 -
100 -
80 -
60 -
40 -
20 -

d�eÖq yî&�\TÎ>·\ BsÁé #áÔáTsÁçd� ¿£MT�\ÔÃ ¿£MT� ¹sU²ºçÔá+ çbÍÜ�<�« |�sÁTd�Tï+~.

ç|�r ¿£MT� ¹sU² ºçÔá+ o]ü¿£, �dØ\TqT ¿£*Ð�+³T+~ .

 �<�V�²sÁD :

sÁÈ� Ôáq bõ&�eÚqT Ôáq ÔÃ{ì q\T>·TsÁT �d�V¾²ÔáT\ÔÃ bþ\TÌ¿Ãy�\qTÅ£�+~. �yîT y�] n+<�] bõ&�eÚ\qT ¿=*º ¿ì+~

 $<ó�+>± qyîÖ<�T #ûd¾+~.

sÁÈ� - 120 �d+.MT sÁ|�Ó - 160 �d+.MT sÁyûTwt - 140 �d+.MT

                   sÃJ - 140 �d+.MT s�Dì - 160 �d+.MT

 ¿£MT� ¹sU² ºçÔá+ ^jáT³+ýË sÁÈ�¿ì d�V�äjáT+#ûjáT+&�.

e«Å£�ï\T ̀  mÔáTï\T

1 jáTÖ�{Ù R 20 �d+.MT

sÁÈ� sÁ|�Ó sÁyûTwt sÃJ s�Dì

 ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T  �eÇ+&� .

n) bõ{ì¼y�sÁT mesÁT?

�) sÁ|�¾ ¿£H�� sÁÈ� mÔáTï m+Ôá ÔáÅ£�Øe?

�) sÁÈ�¿ì d�eÖq bõ&�eÚ >·\ y�sÁT mesÁT?

�) sÁÈ� ¿£H�� sÃJ m+Ôá mÔáTï mÅ£�Øe �+~?

s�Dì ÿ¿£ sÃEq 5 ç|�<ó�q q>·s�\ �cþ�ç>·Ôá\qT ~q|�çÜ¿£\qT+&� �d¿£]+º+~. � <�Ô�ï+Xæ�¿ì ¿£MT� ¹sU² ºçÔ���

^º, 4 ç|�Xø�\qT <���|Õ ÔájáÖsÁT#ûjáT+&� .

q>·sÁ+ �|sÁT ¿£&�|� Hî\Ö¢sÁT ¿£sÁÖ�\T $ÈjáTy�&� $XæK|�³�+

�cþ�ç>·Ôá (&�ç^\ýË) 30ºc 35ºc 35ºc 25ºc 20ºc
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Prepare a  bar graph.

Kadapa

Nellore

Kurnool

Vijayawada

Visakhapatnam

To
w

ns

Temperature
 Exercise-   1

(1) Parvathi collected the data of pet animals from her friends and recorded it in a table.
She displayed the table in the class room.

Answer the following questions.

1) Which animal is petted more in number?

2) Which animal is petted less in number?

3) How many students have goat as a pet animal?

4) How many students have dog as a pet animal?

(2) The following table shows the number of tiles in different colours.

Colour White Blue Black Green Red

 Number of Tiles 250 170 200 100 150

Make a pictograph using the data and prepare some questions.

0 5 10 15 20 25 30 35

 Pet animals Tally marks Number

Cat

Goat

Hen

Dog

5

10

13

6
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5

10

13

6

    nuó²«d�+  `   1

(1) bÍsÁÇÜ Ôáq $TçÔáT\ÔÃ #á]Ì+º, �|+|�Ú&�T È+ÔáTeÚ\ $es�\T ÿ¿£ |�{ì¼¿£ýË qyîÖ<�T#ûd¾+~. ÔásÁ>·Ü >·~ýË

� |�{ì¼¿£qT �yîT ç|�<�]�+º+~.

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�.

n) @ �|+|�Ú&�T È+ÔáTeÚ d�+K« mÅ£�Øe>± �+~ ?

�) @ �|+|�Ú&�T  È+ÔáTeÚ d�+K« ÔáÅ£�Øe>± �+~ ?

�) m+<�sÁT $<�«sÁT�\T yûT¿£qT �|+|�Ú&�T È+ÔáTeÚ>± ¿£*Ð �H��sÁT?

�) m+<�sÁT $<�«sÁT�\T Å£�¿£ØqT �|+|�Ú&�T È+ÔáTeÚ>± ¿£*Ð �H��sÁT ?

(2) ¿ì+~ |�{ì¼¿£ýË fÉ®ýÙà d�+K« eT]jáTT y�{ì sÁ+>·T\ $es�\T �H��sTT .

�|+|�Ú&�T È+ÔáTeÚ\T >·Dq ºV�ä�\T d�+K«

|¾*¢

yûT¿£

¿Ã&�

Å£�¿£Ø

sÁ+>·T Ôî\T|�Ú ú\+ q\T|�Ú �Å£�|�#áÌ msÁT|�Ú

fÉ®ýÙà d�+K« 250 170 200 100 150

�|Õ d�eÖ#�s��� �<ó�sÁ+ #ûd�T¿=� |�³ ºçÔ��� ÔájáÖsÁT#ûjáT+&�. B��|Õ ¿=�� ç|�Xø�\T ÔájáÖsÁT#ûjáT+&�.

0 5 10 15 20 25 30 35

n&�T¦ ¿£MT� ¹sU² ºçÔ��� ÔájáÖsÁT#ûjáT+&� .

¿£&�|�

Hî\Ö¢sÁT

¿£sÁÖ�\T

$ÈjáTy�&�

$XæK|�³�+

|
�³
¼D
²\

T

�cþ�ç>·Ôá
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(3) Ravi maintains a provisional store in Parvatipuram. He records the quantities of goods
and items in his shop daily. One day he recorded the quantities of rice, wheat, red
gram and sugar as shown below.

 Now prepare a bar diagram to the given data and followed by some questions.

Project:
Conduct a survey in your school. Collect  the information and interpret the data.

Make Tally marks chart / Pictograph / Bar graph of the following data.
a) Favourite actor
b) Favourite actress
c) Favourite cricket player
d) Favourite sweet
e) Favourite movie
f) Favourite drink

Use of data handling:
Government and other voluntary organizations collect the data like census,

animal food supplies and financial disbursements. Based on the collected data,
Government and others will estimate the future needs. (In fact everyone uses data
collection and data analysis.)

Prasanta Chandra Mahalanobis (29 June 1893 – 28 June 1972)

was an Indian scientist and statistician. He founded the Indian Statisti-

cal Institute located in Kolkata. Mahalanobis has been considered as

the father of modern statistics in India.

Items Rice   Wheat     Red Gram  Sugar

  Number of bags 60 30 40 20
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(3) sÁ$ bÍsÁÇr|�ÚsÁ+ýË ÿ¿£ ¿ìs�D² <�T¿±D²�� q&�T|�ÚÔáTH��&�T. nÔáqT ç|�ÜsÃp Ôáq cÍ|�ÚýË� $es�\T qyîÖ<�T#ûd�Öï �

+{²&�T, ÿ¿£ sÃE nÔáqT _jáT«+, >Ã<ó�TeT\T, ¿£+~|�|�ÚÎ, |�+#á<�sÁ\qT ¿ì+~ $<ó�+>± qyîÖ<�T#ûd�TÅ£�H��&�T.

 � <�Ô�ï+Xæ�¿ì d�]|�&û ¿£MT� ¹sU² ºçÔá+ ÔájáÖsÁT#ûjáT+&�. B� �|Õ ¿=�� ç|�Xø�\T ÔájáÖsÁT#ûjáT+&�.

çbÍCÉÅ£�¼ :

MT bÍsÄÁXæ\ýË ¿ì+~ n+Xæ\�|Õ ÿ¿£ d�¹sÇqT �sÁÇV¾²+#á+&�. <�Ô�ï+Xæ�� �d¿£]+#á+&�. <�Ô�ï+Xæ�� y�«U²«�+#á+&�.

>·Dq ºV�ä�\ #�sÁT¼ / |�³ ºçÔá+ / ¿£MT� ¹sU² ºçÔ�\qT ¿ì+~ n+Xæ\�|Õ ^jáT+&�.

n) qºÌq q³T&�T

�) qºÌq q{ì

�) qºÌq ç¿ìÂ¿{Ù �³>±&�T

�) �w�¼yîT®q dÓÇ³T($TsÄ�sTT)

�) qºÌq d¾�eÖ

}) �w�¼yîT®q bÍújáT+

d�sÁTÅ£� _jáT«+ >Ã<ó�TeT\T ¿£+~|�|�ÚÎ |�+#á<�sÁ

�kÍï\ d�+K«

<�Ô�ï+Xø �sÁÇV�²D �|�jîÖ>·+ :

ç|�uó�TÔáÇ+ eT]jáTT d�Ç#áÌÛ+<� d�+d��\T Ñ ÈH�uó², È+ÔáTeÚ\T, �V�äsÁ �ÔáÎÔáTï\T, &��TÒ |�+|¾D¡ n+Xæ\�|Õ

m|�Î{ì¿£|�ÚÎ&�T $es�\T �d¿£]kÍïsÁT. �d¿£]+ºq <�Ô�ï+Xø+ �<ó�sÁ+>± uó�$w�«ÔáTï ned�s�\qT �sÁ�sTTkÍïsÁT  (n+<�T¹¿ ç|�Ü

ÿ¿£ØsÁÖ <�Ô�ï+Xø+ �d¿£]+#�*, $Xâ¢w¾+#�*).

ç|�Xæ+Ôá #á+ç<� eTV�²\HÃ_dt (29 pH� 1893 - 28 pH� 1972) uó²sÁrjáT

kÍ+K«¿£ Xæ�d�ïyûÔáï. nÔáqT �+&�jáTH� kÍ¼{ìd¾¼¿£ýÙ ��d¾¼³Ö«{Ù qT ¿£\¿£Ô�ïýË  kÍ�|¾+#îqT.

uó²sÁÔá <ûXø+ýË �jáTq �<ó�T�¿£ kÍ+K«¿£ Xæ�d�ï |¾Ô�eTV�Q�>± �|sÁT bõ+<�&�T.

  60 30 40 20
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Hema and Gopi are studying class 5 and class 3 respectively. One Sunday, they are
playing a game  'Asta – Chemma'. Observe the game board.

How many total cells are there?
What type of cells are there?
How many cells are marked?
Here No. of       marked cells     =   5

No. of       marked cells     =   4
No. of  un marked cells     = 16

Total cells      = 25

Can  you  write 'fraction  part' of  marked cells & un marked cells?

Observe these fractions  :  
5
25

, 
4
25

, 
16
25

Fraction part of      marked cells = 
5
25

Fraction part of     marked cells = 
4
25

Fraction part of  unmarked cells = 
16
25

What is your observation ?
These are like fractions.

Fractions that have same
denominators are called

like fractions.

Chapter Fractions
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n<ó�«jáT+

_óH��\T

�V²eT eT]jáTT >Ã|¾\T esÁTd�>± 5e ÔásÁ>·Ü, 3e ÔásÁ>·Ü #á<�TeÚÔáTH��sÁT. ÿ¿£ �~y�sÁ+ y�]<�ÝsÁÖ ncÍ¼̀ #îeÖ�

�&�TÔáÖ, ncÍ¼̀ #îeÖ� �³ uËsÁT¦qT |�]o*d�TïH��sÁT.

ncÍ¼̀ #îeÖ� �³ uËsÁT¦qT |�]o*+#á+&�.

uËsÁT¦ýË yîTTÔáï+ >·&�T\T m�� �H��sTT?

@@ sÁ¿±\ >·&�T\T n+<�TýË �H��sTT?

>·TsÁTï\T �+ºq >·&�T\T m�� �H��sTT?

�¿£Ø&� >·TsÁTï �q� >·&�T\ d�+K« R 5

>·TsÁTï �q� >·&�T\ d�+K« R 4

@>·TsÁTï\T ýñ� >·&�T\ d�+K« R 16

yîTTÔáï+ >·&�T\ d�+K« R 25

>·TsÁTï �q� >·&�T\T, @ >·TsÁTï\T ýñ� >·&�T\qT yîTTÔáï+ >·Þøßd�+K«ÔÃ »_óq� uó²>·+µ çy�jáT>·\y�?

�¿£Ø&� _óH��\qT |�]o*+#á+&� 
5
25

, 
4
25

, 
16
25

>·TsÁTï �q� >·&�T\ _óq� uó²>·+ = 
5
25

>·TsÁTï �q� >·&�T\ _óq� uó²>·+ = 
4
25

@ >·TsÁÖï ýñ� >·&�T\ _óq� uó²>·+ = 
16
25

úeÚ @$T >·eT�+#�eÚ?

�ý²+{ì _óH��\qT d�C²Ü _óH��\T n+{²sÁT.

ÿ¹¿ V�äs�\T ¿£*Ð �q� _óH��\qT

d�C²Ü _óH��\T n+{²sÁT.
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Numerator

5

4

16

10

13

Denominator

25

25

25

13

15

Relation between numerator and
denominator

5 < 25

Proper  Fractions :  Observe the following table.

What do you observe from the above table ?
Here, in all fractions the numerator is less than the denominator.

Fractions having numerator less than the denominator are called proper
fractions.

Therefore 5 4 16 10 12, , , ,
25 25 25 13 15

 are “proper fractions”.

Activity -   1

Collect today's class wise attendance and enter in this table.

S. No.     Class    Roll   Present       Fraction Is it proper fraction?

(Hint: Take roll as denominator and present as numerator.)

1. I
2. II
3. III
4. IV
5. V

Total :

8.1 Types of Fractions

Fraction

5
25
4
25
16
25
10
13
13
15
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5

4

16

10

13

5 < 2525

25

25

13

15

ç¿£eT _óH��\T :  |�{ì¼¿£qT |�P]ï #ûjáT+&� :

_óq�+ \e+ V�äsÁ+ \e, V�äs�\ eT<ó�« d�+�+<ó�+

�|Õ |�{ì¼¿£ qT+º úeÚ @$T >·eT�+#�eÚ?

�¿£Ø&� _óH��\ýË \eeTT\ú� V�äsÁ+ ¿£+fñ ÔáÅ£�Øe>± �H��sTT.

 V�äsÁeTT ¿£H�� \e+ ºq�~>± >·\ _óH��\qT ç¿£eT _óH��\T n+{²sÁT.

\
5
25

, 4
25

, 16
25

, 10
13

, 12
15

\T »»ç¿£eT _óH��\Tµµ

¿£�Ôá«eTT `   1

� sÃE ç|�Ü ÔásÁ>·Ü jîTT¿£Ø qyîÖ<�T, V�äÈsÁT rd�T¿=� |�{ì¼¿£ýË s�jáT+&�.

e.d�+K«     ÔásÁ>·Ü         qyîÖ<�T     V�äÈsÁT _óq�+        ç¿£eT _óq�yûTH�? neÚqT/¿±<�T

yîTTÔáï+

(d�Ö#áq : V�äÈsÁTqT \e+>±qT, qyîÖ<�TqT V�äsÁ+>±qT rd�T¿Ã+&�)

1e

2e

3e

4e

5e

5
25
4
25
16
25
10
13
13
15

1.

2.

3.

4.

5.

8.1 _óH��\T ` sÁ¿±\T
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Activity -   2

Observe  4 × 4 grid.
Write “fractions”  for  red, green, and  white coloured parts.
Fraction of red part =
Fraction of Green part =
Fraction of white part =
What do you say about these fractions?

Mixed Fractions

Hema's mother gave 5 biscuits to Hema and her brother Gopi. Then Hema
shared these 5 biscuits  in this way.

Hema and Gopi got 2 full biscuits and half biscuit each. This can be written as 2
1
2

biscuits.
If  Hema and Gopi  got  7 and 9  biscuits then complete this  table.

Observe these fractions  : ,
2
14,

2
13,

2
12 .................

What do you observe?

5 2
1
2 2 + 

1
2 2

1
2

7

9

No. of biscuits
given

No. of biscuits each get

Full biscuits Part of biscuit
FractionTotal

2
1
2

2
1
2
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5 2
1
2 2 + 

1
2 2

1
2

7

9

2
1
2 2

1
2

¿£�Ôá«eTT `   2

4I4 #á<�s��� |�]o*+#á+&�.

msÁT|�Ú, �Å£�|�#áÌ eT]jáTT Ôî\T|�Ú >·ÞøßÅ£�d�]|�&û _óH��\qT s�jáT+&�.

msÁT|�Ú sÁ+>·T uó²>±�� d�Öº+#áT _óq�+ R

�Å£�|�#áÌ sÁ+>·T uó²>±�� d�Öº+#áT _óq�+ R

Ôî\T|�Ú sÁ+>·T uó²>±�� d�Öº+#áT _óq�+ R

� _óH��\qT >·Ö]Ì úyû$T #î|�Î>·\eÚ?

$TçXøeT _óH��\T

�V²eT, >Ã|¾\Å£� y�Þøß neT� 5 _�dØ³T¢ �ºÌ+~. �V²eT � 5 _�dØ³¢qT �<�Ý]¿¡ ¿ì+~ $<ó�+>±

|�+º+~.

�V²eT eT]jáTT >Ã|¾\Å£� ÿ¿=Ø¿£Ø]¿ì 2 |�P]ï _�dØ³T¢ ÿ¿£ nsÁ _�dØ{Ù eºÌ+~. B�� 2
1
2  _�dØ³T¢>± s�jáTe#áTÌ.

ÿ¿£yûÞø �V²eT y�Þøß neT�>±sÁT 7 >±ú, 9 >±ú _�dØ³T¢ �ºÌq|�ð&�T ¿ì+~ |�{ì¼¿£qT |�P]ï#ûjáT+&�.

�eÇ�&�q

_�dØ³T¢

ç|�Ü ÿ¿£Ø]¿ì eºÌq _�dØ³T¢

_�dØ³T¢ _�dØ{Ù uó²>·+
_óq�+yîTTÔáï+

,
2
14,

2
13,

2
12 ......_óH��\qT |�]o*+#á+&�.

úeÚ @$T |�]o*+#�eÚ?
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5
2
7
3
9
4
2
2

I am a whole
number

I am a proper
fraction

I am a whole num-
ber

I am a proper
fraction

Fraction having  whole number  and  proper fraction is called  “Mixed Fraction”.

So 
1 1 12 , 3 , 4
2 2 2  are “Mixed fractions”.

Hema distributes 5 biscuits equally between 2; fraction form = 
5
2

If she distributes 7 biscuits equally among 3 ; fraction form = 
7
3

If she distributes 9 biscuits equally among 4 ; fraction form = 
9
4

If she distributes 2 biscuits equally  between 2 ; fraction form = 
2
2

Observe these  fractions  : 2
2,

4
9,

3
7,

2
5

Fraction

What do you say ?
Here in all fractions have numerator is greater than or equal to denominator.
Fractions having numerator is greater than denominator are called improper fractions.

So 2
2,

4
9,

3
7,

2
5  are improper fractions

Do you know!
 The value of proper fraction is always less than 1.
 The value of improper fraction is greater than or equal to 1.

Numerator

5

7

9

2

Denominator

2

3

4

2

Relation between numerator
and denominator

5 > 2

12
2

13
2

Improper  Fraction :
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5
2
7
3
9
4
2
2

5

7

9

2

2

3

4

2

5 > 2

HûqT

ÿ¿£ |�PsÁ�d�+K«

HûqT ÿ¿£

ç¿£eT_óq�+

HûqT

ÿ¿£ |�PsÁ�d�+K«

HûqT ÿ¿£

ç¿£eT_óq�+

|�PsÁ�d�+K«, ç¿£eT _óq�+ ¿£*Ðq _óH���� »»$TçXøeT_óq�+µµ n+{²sÁT.

n+<�Te\q ,
2
14,

2
13,

2
12 .......\T »»$TçXøeT_óH��\Tµµ.

n|�ç¿£eT _óH��\T :

�V²eT 5 _�dØ³¢qT �<�Ý]¿ì d�eÖq+>± |�+ºÔû _óq�sÁÖ|�+ R  
5
2

�yîT 7 _�dØ³¢qT eTT>·TZ]¿ì d�eÖq+>± |�+ºÔû _óq� sÁÖ|�+ R  
7
3

�yîT 9 _�dØ³¢qT q\T>·T]¿ì d�eÖq+>± |�+ºÔû _óq�sÁÖ|�+ R  
9
4

�yîT 2 _�dØ³¢qT �<�Ý]¿ì d�eÖq+>± |�+ºÔû _óq�sÁÖ|�+ R  
2
2

2
2,

4
9,

3
7,

2
5

 _óH��\qT |�]o*+#á+&�. |�{ì¼¿£qT |�P]+#á+&�.

_óq�+ \e+ V�äsÁ+ \e V�äs�\ eT<ó��« d�+�+<ó�+

úeÚ @$T >·eT�+#�eÚ?

�¿£Ø&� _óH��\ýË \eeTT, V�äsÁ+ ¿£+fñ �|<�Ý~>± ýñ<� d�eÖq+>± �+~.

_óH��\ýË \eeTT, V�äsÁeTT ¿£+fñ �|<�Ý~>± ýñ<� d�eÖq+>± �+fñ � _óH��\qT »n|�ç¿£eT _óH��\T µ n+{²sÁT.

n+<�Te\q 2
2,

4
9,

3
7,

2
5

 \T »n|�ç¿£eT _óH��\Tµ.

MTÅ£� Ôî\TkÍ!

ç¿£eT_óq�+ jîTT¿£Ø $\Te m\¢|�Ú&�Ö 1 ¿£+fñ ÔáÅ£�Øe.

n|�ç¿£eT_óq�+ jîTT¿£Ø $\Te m\¢|�Ú&�Ö 1 ýñ<� n+Ôá¿£+fñ mÅ£�Øe.

12
2

13
2
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Do these

Do You Know!  Improper and mixed fraction have same value.

Example : (3)

Every improper fraction can be converted into mixed fraction and vice versa.
                                 Improper fraction   �   Mixed fraction

1) Write  any  5  proper  fractions.
2) Write  any  5   improper  fractions.
3) Write  any  5  mixed  fractions.

4) Convert these fraction into mixed fraction 2
11,

4
9,

3
7,

2
5

5) Convert these fractions into improper fraction 2
13,

5
26,

4
35,

3
24

.

1. When an improper fraction is converted into a mixed fraction, the quotient forms its
whole number part while the remainder over the divisor forms the fractional part.

2. To convert a mixed fraction into an improper fraction, multiply the denominator by
the whole number and add the product to the numerator. This sum over the denomi-
nator gives an improper fractions.

2) 5 (2
 –4
   1

3) 7 (2
 –6
   1

4) 15 (3
 –12
    3

( )
= =

2 × 2 + 1 4 + 112 
2 2 2

( )
=+

×

2 × 2 + 1 4 + 11 5 1 = = = 2
2 2 2 2 22

7
3

7
3

12 +
3

12 +
3

12
3

== =

( )3 × 2 + 1 6 + 11 72 = = =
3 3 3 3

15 3= 3+ .
4 4

15 3 3= 3+ = 3
4 4 4

Example : (1)

Example : (2)

( )4×3 + 3 12 + 33 153 = = =
4 4 4 4

=
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�$ #ûjáT+&�

2) 5 (2
 –4
   1

3) 7 (2
 –6
   1

4) 15 (3
 –12
    3

( )
= =

2 × 2 + 1 4 + 112 
2 2 2

( )
=+

×

2 × 2 + 1 4 + 11 5 1 = = = 2
2 2 2 2 22

7
3

7
3

12 +
3

12 +
3

12
3

== =

( )3 × 2 + 1 6 + 11 72 = = =
3 3 3 3

15 3= 3+ .
4 4

15 3 3= 3+ = 3
4 4 4

( )4×3 + 3 12 + 33 153 = = =
4 4 4 4

úÅ£� Ôî\TkÍ!   n|�ç¿£eT eT]jáTT $TçXøeT _óH��\ $\Te\T d�eÖq+.

�<�V�²sÁD : (1)

�<�V�²sÁD : (2)

�<�V�²sÁD : (3)

¿±�{ì¼ ç|�Ü n|�ç¿£eT _óH���� $TçXøeT _óq�+>±qT, ç|�Ü $TçXøeT _óH���� n|�ç¿£eT _óq�+>±qT eÖsÁÌe#áTÌ.

                                 n|�ç¿£eT _óq�+  �   $TçXøeT _óq�+

1) @yîÕH� 5 ç¿£eT _óH��\T s�jáT+&�.

2) @yîÕH� 5 n|�ç¿£eT _óH��\T s�jáT+&�.

3) @yîÕH� 5 $TçXøeT _óH��\T s�jáT+&�.

4) 2
11,

4
9,

3
7,

2
5

 \qT $TçXøeT _óq�+ýË¿ì eÖ]Ì s�jáT+&�.

5) 2
13,

5
26,

4
35,

3
24  \qT n|�ç¿£eT _óq�+ýË¿ì eÖ]Ì s�jáT+&�.

1. n|�ç¿£eT _óH���� $TçXøeT _óq�eTTýË�¿ì eÖ]Ìq|�Ú&�T, uó²>·|��\+ |�Ps��+¿£ uó²>·+>±qT, Xâd�+ \eeTT >±qT, n|�ç¿£eT

_óq�eTTýË� V�äsÁ+, V�äsÁ+>±qT eÖsÁTÔáT+~.

2. $TçXøeT _óH���� n|�ç¿£eT _óq�+ ýË�¿ì eÖ]Ìq|�Ú&�T V�äs��� |�Ps��+¿£ uó²>·+ÔÃ >·TDì+#á>± e#áTÌ |��*Ô��¿ì \y���

¿£\T|�>± eºÌq $\Te \eeTT>±qT, $TçXøeT _óq�+ýË� V�äsÁ+ V�äsÁ+>±qT eÖsÁTÔáT+~.

=
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1 2 3
4 5 6
7 8 9

Maths Lab Activity

Using above digits write proper fractions, improper fractions and mixed fractions as many
as you can.

8.2 Equivalent  fractions :

j Rakesh takes an iron rod. He wants to paint the rod. First he marks the rod into
2 equal parts and paints 1 part of it.

j Yesu takes the same length of  iron rod  and marks it into  4 equal parts and
paints 2 parts of it.

j Haseena takes the same length of iron rod and marks into 6 equal parts and
paints 3 parts of it.

Rakesh

After painting  all the three persons got surprised, why ?

The teacher clarified their doubt in this way.

Part of the rod painted by Rakesh = 1
2

Part of the rod painted by  Yesu = 2
4

Part of the rod painted by Haseena = 3
6

Everybody painted half portion of the rod   i.e., 1
2

By observing the painted parts, we come to know that 1
2 , 

2
4 , 

3
6  are

same. So, 
2
4 , 

3
6   are 'Equivalent Fractions' to 

1
2  .

Yesu

Haseena
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1 2 3
4 5 6
7 8 9

   >·DìÔá ç|�jîÖ>· ¿£�Ôá«+

�|Õq �ºÌq n+Â¿\ÔÃ MýÉÕq�� ç¿£eT _óH��\T, n|�ç¿£eT _óH��\T eT]jáTT $TçXøeT _óH��\T s�jáT+&�.

8.2 d�eÖq _óH��\T :

j   s�¹¿wt ÿ¿£ �qT|� ¿£&�¦ rd�TÅ£�H��&�T. <��¿ì sÁ+>·T yûjáT<�\#áTÅ£�H��&�T. yîTT<�³ � �qT|� ¿£&�¦�

    Âs+&�T d�eTuó²>±\T>± >·T]ï+º ÿ¿£ uó²>±�¿ì sÁ+>·T yûkÍ&�T.

j   jûTd�T n+Ôû bõ&�eÚ >·\ ¿£&�¦� rd�T¿=� 4 d�eTuó²>±\T #ûd¾ 2 uó²>±\Å£� sÁ+>·T yûkÍ&�T.

j   V�²dÓH� n+Ôû bõ&�eÚ >·\ ¿£&�¦� rd�T¿=� 6 d�eTuó²>±\T #ûd¾ 3 uó²>±\Å£� sÁ+>·T yûd¾+~.

s�¹¿wt

jûTd�T

V�²dÓH�

sÁ+>·T yûd¾q ÔásÁTy�Ôá eTT>·TZsÁÖ �XøÌsÁ«|�&�¦sÁT. m+<�TÅ£�?

�bÍ<ó�«jáTT&�T y�] d�+<ûV�ä�� ¿ì+~ $<ó�+>± Ô=\Ð+#�&�T.

s�¹¿wt sÁ+>·T yûd¾q uó²>·+ =  1
2

jûTd�T sÁ+>·T yûd¾q uó²>·+ =  2
4

V�²dÓH� sÁ+>·T yûd¾q uó²>·+ =  3
6

ç|�r ÿ¿£ØsÁT ¿£&�¦ d�>·uó²>±�¿ì sÁ+>·T yûkÍsÁT.

sÁ+>·T yûd¾q uó²>±\qT |�]o*+#á>± 
1
2 , 

2
4 , 

3
6  \T d�eÖq+ n� Ôî\Td�Tï+~.

¿±�{ì¼ 
2
4 , 

3
6   \T  

1
2   Å£� »d�eÖq _óH��\Tµ

nq>± sÁ+>·T yûd¾q uó²>·+ 
1
2   Å£� d�eÖq+.
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Our observation is
1 2 2× =
2 2 4  ;

1 3 3× =
2 3 6

2 2 ÷ 2 1= =
4 4 ÷ 2 2  ;

3 ÷ 33 1= =
6 6 ÷ 3 2

To get equivalent fractions, we must multiply/divide both numerator and
denominator by the same number.

Example  :

Activity -  3

1. Shade the fraction part. What is your observation?

Observation :  __________________
       __________________

2. Shade the fraction part. What is your observation? (Start from arrow)

Observation :  __________________

So, 5
4,

10
8  are equivalent fractions to 20

16 .

6
2

23
21

3
1

=
´
´

=
9
3

33
31

3
1

=
´
´

=

10
8

220
216

20
16

=
¸
¸

=
5
4

420
416

20
16

=
¸
¸

=

So, 9
3,

6
2  are equivalent fractions to 3

1 .

2
4

4
8

\
1 2 3= =
2 4 6

\
1 2 3= =
3 6 9

\
16 8 4= =
20 10 5

5
7

10
14
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 �¿£Ø&� |�]o*+#áe\d¾q $w�jáT+ @eTq>±
1 2 2× =
2 2 4  ;

1 3 3× =
2 3 6

2 2 ÷ 2 1= =
4 4 ÷ 2 2  ;

3 ÷ 33 1= =
6 6 ÷ 3 2

 d�eÖq _óH��\qT bõ+<�{²�¿ì �ºÌq _óq�+ýË� \e, V�äs�\qT ÿ¹¿ n+Â¿ÔÃ >·TDì+#�*/uó²Ð+#�*.

�<�V�²sÁD :

¿£�Ôá«+  `   3

1. _óq� uó²>±�¿ì sÁ+>·TyûjáT+&�. úeÚ |�]o*+ºq $w�jáT+ @$T{ì?

|�]o\q : __________________
           __________________

2. _óq� uó²>±�¿ì sÁ+>·TyûjáT+&�. úeÚ |�]o*+ºq $w�jáT+ @$T{ì? (u²D+ >·TsÁTï qT+º yîTT<�\T �|³¼+&�)

|�]o\q : __________________

¿±�{ì¼ 5
4,

10
8

 \T 20
16

 Å£� d�eÖq _óH��\T.

¿±�{ì¼ 9
3,

6
2

 \T 3
1

 Å£� d�eÖq _óH��\T.

6
2

23
21

3
1

=
´
´

=
9
3

33
31

3
1

=
´
´

=

10
8

220
216

20
16

=
¸
¸

=
5
4

420
416

20
16

=
¸
¸

=

\
1 2 3= =
2 4 6

\
1 2 3= =
3 6 9

\
16 8 4= =
20 10 5

2
4

4
8

5
7

10
14
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Do these

 3. Write fractions for the shaded part. What is your observation?

Observation :  __________________

1) Write any three equivalent fractions to the given fractions.

a) 4
8 b) 1

3 c) 3
7 d) 20

24

8.3:  Simplest form of Fraction

Rajiv and Begum take two equal circular shapes. Rajiv divides his circular shape
into 8 equal parts and Begum divides her circular shape in to 2 equal parts.

Example :

Rajiv coloured 4 parts out of 8 parts. So fraction part  = 4
8 .

Begum  coloured  1 part out of  2 parts. So fraction part   = 1
2

4 4÷ 4 1= =
8 8 ÷ 4 2

So, 1
2   is the  simplest form  / simplified form / lowest  form  of 4

8 . That is

why the coloured parts by Rajiv and Begum look like same.
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�$ #ûjáT+&�

3.  �w&� #ûd¾q uó²>±\Å£� _óH��\T s�jáT+&�. úeÚ >·eT�+ºq $w�jáT+ @$T{ì?

|�]o\q : __________________

1) ¿ì+~ �eÇ�&�q ç|�Ü _óH���¿ì @yîÕH� 3 d�eÖq _óH��\T s�jáT+&�.

8.3 : _óq�+ jîTT¿£Ø ¿£�w�¼ sÁÖ|�+

s�Jy� eT]jáTT uñ>·+\T �<�ÝsÁÖ Âs+&�T e�Ô�ï¿±sÁ #áç{²\qT rd�TÅ£�H��sÁT. s�Jy� Ôáq e�Ô�ï¿±sÁ #áç{²�� 8

d�eÖq uó²>±\T #ûkÍ&�T. uñ>·+ Ôáq e�Ô�ï¿±sÁ #áç{²�� 2 d�eÖq uó²>±\T #ûd¾+~.

�<�V�²sÁD :

     s�Jy� 8 uó²>±\ýË 4 uó²>±\Å£� sÁ+>·T yûXæ&�T. sÁ+>·Tyûd¾q uó²>·+ R  4
8

     uñ>·+ 2 ýË 1 uó²>±�¿ì sÁ+>·T yûd¾+~, sÁ+>·T yûd¾q uó²>·+ R  1
2

¿±�{ì¼ 1
2

 nHû~ 
4
8 , Å£� ¿£�w�¼ sÁÖ|�+. n+<�Te\q s�Jy�, uñ>·+ \T sÁ+>·T yûd¾q uó²>±\T ÿ¹¿ý² ¿£�|¾d�TïH��sTT.

n) 
4
8 �) 

1
3 �) 

3
7

�) 
20
24

4 4 ÷ 4 1= =
8 8 ÷ 4 2

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



...................................Maths Magic   Class - 5 96

Write the simplest form of the  fraction for 
30
36

Example :  2

1st Method :    H.C.F of 30 and 36  is  6. 30 30 ÷ 6 5= =
36 36 ÷ 6 6

So, 5
6   is the simplest form  of 30

36

If we divide both numerator and denominator by it's H.C.F,
we get the simple form of the given fraction.

2nd Method - Cancellation Method

(Q  30, 36 are divisible by 2,3)

1. Express the following fractions into their simplest forms. (by cancellation method).

a) 105
15 b) 200

20 c) 7
10 d) 666

66 e) 125
1000 f) 120

200
2. Express the following fractions into their simplest forms. ( by H. C .F method).

a) 1 2
1 8 b) 14

35 c) 22
55 d) 27

36 e) 128
124 f) 210

427
3. Convert the following fractions into their simplest form by using both the methods and

check the result.

a) 16
64 b) 12

18 c) 30
50 d) 40

25 e) 16
32 f) 8

40

4. To convert a fraction into it's simplest form, what should we do!

5. Write any three equivalent fractions to the given fractions.

a) 5
8 b) 32

64 c) 125
225 d) 7

10
6. Govindamma distributed her 4 acres of land to her 3 sons. Then write the part of land

each got in the form of a fraction.

30
15

36
18

15=

5

18
6

5=
6

Exercise - 1
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30
36  nHû _óH���¿ì ¿£�w�¼ sÁÖ|�+ s�jáT+&��<�V�²sÁD 2 :

1e |�<�ÆÜ 30 eT]jáTT 36 \ >·.kÍ.u² R 6

¿±�{ì¼ 
5
6  nHû~ 

30
36  Å£� ¿£�w�¼ sÁÖ|�+.

\e, V�äs�\qT y�{ì >·.kÍ.uó² ÔÃ uó²Ð�dï _óq�+

jîTT¿£Ø ¿£�w�¼ sÁÖ|�+ ed�Tï+~.

2e |�<�ÆÜ - ¿={ì¼yûÔá |�<�ÆÜ

( Q 30, 36 \T 2, eT]jáTT 3 \ÔÃ uó²Ð+#á�&�Ô�sTT.)

nuó²«d�+    1

1. ¿ì+~ �ºÌq ç|�Ü _óH���� ¿£�w�¼ sÁÖ|�+ýË¿ì eÖsÁÌ+&�.(¿={ì¼yûÔá |�<�ÆÜ).

n) 105
15 �) 200

20 �) 7
10 �) 

666
66 �) 125

1000 }) 120
200

2. ¿ì+~ �ºÌq ç|�Ü _óH���� ¿£�w�¼sÁÖ|�+ýË¿ì eÖsÁÌ+&�. (>·.kÍ.uó² |�<�ÝÜ).

n) 1 2
1 8 �) 14

35 �) 22
55 �) 27

36 �) 128
124 })  210

427

3. Âs+&�T |�<�ÆÔáT\qT �|�jîÖÐ+º ¿ì+~ _óH��\qT y�{ì ¿£�w�¼ sÁÖ|�+ýË¿ì eÖsÁÌ+&�. |��*Ô�\T d�]#áÖ&�+&�.

n) 
16
64 �) 12

18 �) 30
50 �) 40

25 �) 16
32 })  8

40

4. ¿£�w�¼ sÁÖ|�+ýË¿ì eÖsÁÌ&��¿ì �ºÌq _óH���� @$T #ûjáÖ*?

5. ¿ì+~ �ºÌq ç|�Ü _óH���¿ì 3 d�eÖq _óH��\T s�jáT+&�.

n) 
5
8 �) 32

64 �) 125
225 �) 7

10

6. >Ã$+<�eT� Ôáq e<�Ý �q� 4 m¿£s�\ bõý²�� Ôáq eTT>·TZsÁT ¿=&�TÅ£�\Å£� d�eÖq+>± |�+º+~. n|�Ú&�T ç|�r ÿ¿£Ø

¿=&�TÅ£�¿ì e#ûÌ uó²>±�� _óq�sÁÖ|�+ýË s�jáT+&�.

30
15

36
18

15=

5

18
6

5=
6

30 30 ÷ 6 5= =
36 36 ÷ 6 6
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8.4:- Like and Unlike Fractions
     See all the figures and it's shaded parts. Observe 1st set of fractions. We already
know that fractions having same denominators  are called  'Like Fractions'.

Observe 2nd set of fractions. What do you observe? Here all fractions have
different denominators. Fractions having different denominators are called 'Unlike
Fractions'.

8.5 :- Addition of Fractions

Raheem is working in a paint shop. His duty is to make all colours of paint. To make

purple paint, Raheem mixed 
5
4  L  of  red  paint  with

7
4  L of blue paint. Then how much

purple paint does he get?

To identify like fractions /unlike fractions, we check only denominators.

RED BLUE

PURPLE

PAINT MIXER

1
4

2
4

3
4

1
2

2
3

3
5
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1
4

2
4

3
4

1
2

2
3

3
5

8.4 : d�C²Ü eT]jáTT $C²Ü _óH��\T

     ¿ì+~ |�{²\T #áÖ&�+&�. �w&� #ûd¾q uó²>±\qT >·eT�+#á+&�. yîTT<�{ì >·&�ýË� _óH��\qT >·eT�+#á+&�. �+ÔáÅ£�

eTT+<�T eTq+ Ôî\Td�TÅ£�q� $<ó�+>± ÿ¹¿ V�äsÁ+ >·\ _óH��\qT »»d�C²Ü _óH��\Tµµ n+{²sÁT.

Âs+&�e >·&�ýË� _óH��\qT |�]o*+#á+&�. úyû$T >·eT�+#�eÚ? yûsÁT yûsÁT V�äs�\T �q� _óH��\qT »»$C²Ü

_óH��\Tµµ n+{²sÁT.

8.5 _óH��\ d�+¿£\q+

sÁVÓ²+ �|sTT+{Ù cÍ|�ÚýË |��#ûd�TïH��&�T. n�� sÁ¿±\ sÁ+>·T\T ÔájáÖsÁT#ûjáT&�+ nÔá� |��. |�sÁTÎýÙ �|sTT+³T

s�e{²�¿ì sÁVÓ²+  
5
4  ©³sÁ¢ msÁT|�Ú sÁ+>·TqT 

7
4  ©³sÁ¢ ú\+ sÁ+>·TqT ¿£\T|�ÚÔ�&�T. n|�Ú&�T nÔá�¿ì e#ûÌ |�sÁTÎýÙ sÁ+>·T

�|sTT+{Ù m+Ôá?

 d�C²Ü/$C²Ü _óH��\qT >·T]ï+#á&��¿ì eTq+ V�äs�\qT eÖçÔáyûT |�]o*+#�*.

msÁT|�Ú ú\+

}<� sÁ+>·T
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Red paint taken = 5
4 L

Blue paint taken 7=
4  L

After mixing, purple colour prepared = 5 7+
4 4

5 + 7 12= =
4 4

12=
4  = 3 L

Activity -   4

Take  9 strips of same unit length and width. On first strip mark it as 1. Shade any
colour on entire strip. Divide second strip into two equal  parts and mark it 1

2
 for  two

equal parts. Shade any different colour other than 1st strip. Continue in this way.

 What is your observation  ?

 We can observe  that  :

 some more observations :

1 1 1 1 1
+ =1, + + =1, ..................

2 2 3 3 3

1 1 1 1
+ = , + = , ..................

3
1 1
4 4 2 6 6
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rd�TÅ£�q� msÁT|�Ú sÁ+>·T = 5
4  ©³sÁT¢

rd�TÅ£�q� ú\+ sÁ+>·T
7=
4  ©³sÁT¢

¿£*|¾q ÔásÁTy�Ôá e#ûÌ |�sÁTÎýÙ sÁ+>·T = 5 7+
4 4

5 + 7 12= =
4 4

12=
4  = 3 ©³sÁT¢

¿£�Ôá«+  `     4

d�eÖq bõ&�eÚ, yî&�\TÎ\T �q� 9 #ó�sÁT¼ eTT¿£Ø\T (|Ó*¿£\T) rd�T¿=qTeTT. yîTT<�{ì eTT¿£Ø�|Õ 1 n� >·T]ï+#á+&�.

@<îÕH� ÿ¿£ sÁ+>·TqT � eTT¿£Ø n+Ôá{ì¿¡ yûjáT+&�. Âs+&�e eTT¿£Ø rd�T¿Ã+&�. <��� Âs+&�T d�eÖq uó²>±\T>± $uó��+#á+&�.

ç|�r uó²>·+�|Õ 
1

2
 n� >·T]ï+#á+&�. yû¹s sÁ+>·TqT Âs+&�e eTT¿£ØÅ£� yûjáT+&�. (�ý² #ûd�TÅ£�+³Ö yîÞøß+&�).

úeÚ >·eT�+ºq $w�jáT+ @$T{ì?

�|Õy�{ì qT+º, eTq+ |�]o*+ºq $w�jáÖ\T @eTq>±

eT]¿=�� |�]o\H�+Xæ\T s�jáT+&�

1 1 1 1 1
+ =1, + + = 1, ..................

2 2 3 3 3

1 1 1 1
+ = , + = , ..................

3
1 1
4 4 2 6 6
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Consider 
1 3,
5 5  two like fractions. For  Now add 

1
5 G

3
5

Addition of Like Fractions

Method  1: 
1
5 G

3
5

Method  2: 5
4

5
31

5
3

5
1

=
+

=+

(They are like fractions)

Example:
1 1 7 16

2 + 5 = +
3 3 3 3

   7 + 16=
3

   23=
3

Example: Ramu  read 
1
4

th part  of a book on 1st day, 
1
4

th  part on

2nd day. Then how  much  part did he read in two days ?

Part read on 1st day = 
1
4

Part read on 2nd  day = 
1
4

Total   part read   in two days  by Ramu = 
1
4  + 

1
4

= 1+1
4

= 2
1

4
2
=

.

.

1
5

1
5

1
5

1
5

4=
5

+

8.5 Addition of  Fractions

fractionslikeofSum

min
sum of numerators

common deno ator
=
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1 3,
5 5  nHû Âs+&�T d�C²Ü _óH��\qT rd�T¿=qTeTT.

�|�Ú&�T 
1
5 G

3
5  (d�C²Ü _óH��\ d�+¿£\q+)

d�C²Ü _óH��\ d�+¿£\q+

1e |�<�ÆÜ : 
1
5 G

3
5

2e |�<�ÆÜ : 
1 3 1+3+ =
5 5 5

(m+<�T¿£q>± n$ d�C²Ü _óH��\T)

�<�V�²sÁD : 3
15

3
12 + = 3

16
3
7
+

�<�V�²sÁD : s�eTT yîTT<�{ì sÃE ÿ¿£ |�Úd�ï¿£+ýË 
1
4  uó²>·+ #á~y�&�T, Âs+&�e sÃE 

1
4   uó²>·+

#á~y�&�T, nsTTÔû � |�Úd�ï¿£+ýË s�eTT #á~$q uó²>·+ m+Ôá?

yîTT<�{ì sÃE #á~$q uó²>·+ =  
1
4

Âs+&�e sÃE #á~$q uó²>·+ =  
1
4

2 sÃEýË¢ s�eTT #á~$q uó²>·+ =  
1
4  + 

1
4

=  1+1
4

=  2
1

4
2
=

d�C²Ü _óH��\ yîTTÔáï+

\eeTT\ yîTTÔáï+

kÍeÖq« V�äsÁ+

1
5

1
5

1
5

1
5

4=
5

+

=
5
4

7 + 16=
3

23=
3

8.5  _óH��\ d�+¿£\q+

=
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Do these

1) Observe the example and
write the correct fractions in the
other circles.

3) 1
2  Kg of a sugar packet, 3

6  kg  of  jaggery are in a bag. Then what  is the total

weight  of  two items  in  the bag?

4) Sakru paints 1
5

th part of a  wall  on first day, 2
5

th part of the wall  on second

day.  Then  how much part  he  painted  in  both  the days?

5) Polamma had some money.  She  spent 
3
6

th part  of  money on books, 
1
6  th part of

money on  pens, pencils and erasers. Then how much part money did she spend
in total?

Addition of unlike Fractions

Consider  two  un-like  fractions,  i.e., 
1 1

,
3 2

Now  add 
1 1

,
3 2

Method 1: 2
1

3
1
+

2) Find the sum.

  i) 2 4+
10 10 ii) 2 3+

6 6

iii) 1 11 +3
4 4 iv) 1 12 + 3

5 5

1
2

1
2

1
3

1
3

1
3

1
6

1
6

1
6

1
6

1
6

1
6

1
8

2
8

3
8

3
8
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�$ #ûjáT+&�

1) �<�V�²sÁDqT |�]o*+º d�]jî®Tq _óH��\qT

$T>·Ô� e�Ô�ï\ÔÃ s�jáT+&�.

2)   yîTTÔ�ï�� ¿£qT>=qTeTT.

3)  
1
2  ¿ì.ç>±. #áÂ¿ØsÁ, 

3
6  ¿ì.ç>±. uÉ\¢+ ÿ¿£ d�+ºýË ¿£\<�T. nsTTÔû � d�+ºýË #áÂ¿ØsÁ, uÉ\¢+\ yîTTÔáï+ �sÁTeÚ

m+Ôá?

4)  d�çÅ£� >Ã&�ýË 
1
5  e uó²>±�¿ì yîTT<�{ì sÃEq, 

2
5 e uó²>±�¿ì Âs+&�e sÃEq sÁ+>·Tyû�dqT. nsTTÔû �

    Âs+&�T sÃEýË¢ nÔáqT sÁ+>·Tyûd¾q uó²>·+ m+Ôá?

5) bþ\eT� e<�Ý ¿=+Ôá kõeTT� �+~. �yîT n+<�TýË 
3
6  e uó²>·+ |�Úd�ï¿±\�|Õq, 

1
6   e uó²>·+ �|qT�\T ̀  �|�àÞø�ß ̀

sÁ�ÒsÁT \�|Õq KsÁTÌ #ûd¾+~. nsTTÔû �yîT yîTTÔáï+ kõeTT�ýË m+Ôá uó²>·+ KsÁTÌ#ûd¾+~?

$C²Ü _óH��\ d�+¿£\q+

1 1
,

3 2
 nHû$ Âs+&�T $C²Ü _óH��\T

1 1
,

3 2
 \qT �|�Ú&�T d�+¿£\q+ #ûjáÖ*.

1e |�<�ÆÜ : 2
1

3
1
+

n) �)

�) �)

2 4+
10 10

2 3+
6 6

1 11 +3
4 4

1 12 + 3
5 5

1
2

1
2

1
3

1
3

1
3

1
6

1
6

1
6

1
6

1
6

1
6

1
8

2
8

3
8

3
8
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Method 2: (here  L.C.M of 3, 2 = 6 )

(L.C.M = 6, to make same denominators)

Example :
Another process:( L.C.M of

 6,12  = 12)

Example : Narasamma  ate 
1
3

rd part of bread  on Monday, 
1
4

th part of the bread on

Tuesday. Then how much  part of the bread  she ate in two days ?

Part of bread eaten  on Monday  = 
1
3

Part of bread eaten  on Tuesday  = 
1
4

Part of  bread  eaten  by  Narasamma  on two days

Sol :

= 
1
3  + 

1
4  (here  L.C.M of 3, 4=12 )

(L.C.M =12,  to make
same denominators)

.

1 4 1 3= × + ×
3 4 4 3
4 3= +

12 12
7=

12

1 1 31 375 + 3 = +
6 12 6 12

31 2 37 1= × + ×
6 2 12 1

62 +37=
12

1 1 31 375 + 3 = +
6 12 6 12

31× 2 + 37×1
12

=

62 + 37=
12

5=
6

1 1+
3 2

1 2 1 3× + ×
3 2 2 3

=

2 3 5= + =
6 6 6

6
1

6
1

6
1

2
1

6
1

6
1

3
1

++=

+=

From the picture
6
1

6
1

6
1

6
1

6
1

++++=

12
99

=
12
99

=
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2e |�<�ÆÜ : (�¿£Ø&� 3,2 \ ¿£.kÍ.>·TR6)

(¿£.kÍ.>·T R6, V�äs�\qT d�eÖq+ #ûjáT{²�¿ì)

�<�V�²sÁD : eTs=¿£ |�<�ÆÜ(6,12\ ¿£kÍ>·TR12)

�<�V�²sÁD : qsÁd�eT� s=fÉ¼ýË 
1
3  euó²>·+ kþeTy�sÁ+H�&�T  

1
4  e uó²>·+ eT+>·Þøy�sÁ+H�&�T Üq�~. nsTTÔû � Âs+&�T

sÃEýË¢ �yîT Üq� s=fÉ¼ uó²>·+ m+Ôá?

kþeTy�sÁ+ s=fÉ¼ýË Üq� uó²>·+ R 
1
3

eT+>·Þøy�sÁ+ s=fÉ¼ýË Üq� uó²>·+ R 
1
4

� Âs+&�T sÃEýË¢ qsÁd�eT� Üq� s=fÉ¼ uó²>·+ R 
1
3  G 

1
4  (�¿£Ø&� 3,4 \ ¿£.kÍ.>·T R 12)

1 4 1 3= × + ×
3 4 4 3

4 3= +
12 12

7=
12

kÍ<ó�q :

(¿£.kÍ.>·TR12, V�äs�\qT d�eÖq+

#ûjáT{²�¿ì)

.

6
1

6
1

6
1

2
1

6
1

6
1

3
1

++=

+=5=
6

1 1+
3 2

1 2 1 3× + ×
3 2 2 3

=

2 3 5= + =
6 6 6
1 1 31 375 + 3 = +
6 12 6 12

31 2 37 1= × + ×
6 2 12 1

62 +37=
12

1 1 31 375 + 3 = +
6 12 6 12

31× 2 + 37×1
12

=

62 + 37=
12

ºçÔá+ qT+&�

6
1

6
1

6
1

6
1

6
1

++++=

12
99

=
12
99

=
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Try these

Do these

1)  Complete this

2)  Find the sum.

a) 1 3+
5 4 b) 3 5+

4 6 c) 2 51 + 2
3 6 d) 1 53 + 2

8 6

3) Seetamma  read 
1
5

th part of  a  book  on  Monday, 
4

10
th part on Tuesday.  Then

how much part did she  complete  on  two days?

4) Polayya  painted  a wall  of 
3
4

th  part   on   1st  day  and 
3
6

th part  of  the  wall on  2nd

day. Then how much  part  he painted the wall in two days?

�$ #ûjáT+&� :
Add 7

14,
8
65

8.6 : Subtraction of Fractions

There  is 
8

16
th  part  of  mineral  water in a bottle. Saroja drink 

1
16

th

part  of  the  water.  Then how much  part  of  water is remained in

the bottle?
Part of mineral water in bottle = 8

16

Part of mineral water drunk = 1
16

Part of mineral water remained = 8
16  – 1

16

= 8 1
16
-

= 7
16

1
2

2
3

4
6

8
6

8
16
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  �$ #ûjáT+&� :

1)  B�� |�P]ï #ûjáT+&�.

2)  yîTTÔ�ï�� ¿£qT>=qTeTT.

3) dÓÔáeT� |�Úd�ï¿£+ýË 
1
5  e uó²>·+ kþeTy�sÁ+ H�&�T, 

4
10 e uó²>·+ eT+>·Þøy�sÁ+ H�&�T #á~yîqT. nsTTÔû �yîT � 2

sÃEýË¢ #á~$q uó²>·+ m+Ôá?

4) bþ\jáT« ÿ¿£ >Ã&�Å£� 
3
4   e uó²>·+ yîTT<�{ì sÃEq, 

3
6 e uó²>·+ Âs+&�e sÃEq sÁ+>·T yûXæ&�T. nsTTÔû � Âs+&�T sÃEýË¢

nÔáqT sÁ+>·Tyûd¾q uó²>·+ m+Ôá?

�$ #ûjáT+&� :

ç|�jáTÜ�+#á+&�

6 15 , 4
8 7  \qT Å£L&�TeTT.

8.6 _óH��\ e«e¿£\q+

$TqsÁýÙ y�³sY u²{ìýÙ ýË 
8

16  e uó²>·+ úsÁT �q�~. d�sÃÈ n+<�TýË 
1

16   uó²>·+ úsÁT

Ô�Ð+~. nsTTÔû �+¿£qÖ �u²{ìýÙýË m+Ôá úsÁT $TÐ*�+~?

u²{ìýÙýË �q� $TqsÁýÙ ú{ì uó²>·+ R 
8

16

çÔ�Ðq $TqsÁýÙ ú{ì uó²>·+ R 
1

16

�+¿£qT u²{ìýÙ ýË $TÐ*q ú{ì uó²>·+ R 
8

16  – 1
16

= 8 1
16
-

= 7
16

n) �) �) �)
1 3+
5 4

3 5+
4 6

2 51 + 2
3 6

1 53 + 2
8 6

1
2

2
3

4
6

8
6

8
16
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Observe  that   while  doing  subtraction  of like  fractions,  we  subtract  only
numerators, denominators remains the same.

Subtraction of  Like Fractions

Consider two like fractions  i.e ; 4 1,
5 5

Now  calculate  : 4 1,
5 5

Method 1 : 4 1
5 5
- =

=

= 3
5

Method 2 : 
4 1 4 -1 3

- = =
5 5 5 5

Example: 
4 1 14 11 32 2 =
5 5 5 5 5
- - -

Example: Krishna read 1
4 part of a book on  first  day.  How  much part of book is yet

to  be  completed  ?

Sol : Completed part on first day = 1
4

Yet to be completed part = 1 – 1
4

= 4 1
4 4
-

= 4 1
4
-

= 3
4

Difference of like fractions
Difference of numerators
Common denominatorR

1
5

1
5

1
5

1
5

1
5

1
5

1
5
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�¿£Ø&� >·eT�+ºq $w�jáT+ @eT+fñ d�C²Ü _óH��\ e«e¿£\q+ýË \eeTT\ýË Ôû&�qT \e+ >±qT, n<û V�äs���

V�äsÁ+>±qT s�jáT³+ ÈsÁT>·TÔáT+~.

d�C²Ü _óH��\ e«e¿£\q+ :

4 1,
5 5  nHû$ Âs+&�T d�C²Ü _óH��\T.

4 1,
5 5  qT ¿£qT>=qTeTT.

1e |�<�ÆÜ : 
4 1
5 5
- =

=

=
3
5

2e |�<�ÆÜ :

�<�V�²sÁD :

�<�V�²sÁD : ¿£�w�� ÿ¿£ |�Úd�ï¿£+ýË 
1
4  e uó²>±�� yîTT<�{ì sÃEq #á~yîqT. nÔáqT � |�Úd�ï¿£+ |�P]ï #ûjáTT³Å£� $TÐ*q

�q� uó²>·+ m+Ôá?

kÍ<ó�q : yîTT<�{ì sÃE |�P]ï #ûd¾q uó²>·+ R 
1
4

�+¿£qT $TÐ*q uó²>·+ = 1 – 1
4

= 4 1
4 4
-

= 4 1
4
-

= 3
4

d�C²Ü _óH��\ uóñ<�+
\eeTT\ uóñ<�+

kÍeÖq« V�äsÁ+
R

1
5

1
5

1
5

1
5

1
5

1
5

1
5

4 1 4 -1 3
- = =

5 5 5 5

4 1 14 11 32 2 =
5 5 5 5 5
- - -

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



...................................Maths Magic   Class - 5 112

Do these

1. Complete  this :

2. Do the following.

i) 6 1
10 10

- ii) 3 1
15 15

- iii) 3 11 1
15 15

-       iv) 4 22 1
7 7
-

3. Eswar painted 
1
6

th part  of  a  wall  on first  day.   Then how much part  will  remain to

complete?

4. Gowri completed 4
1 th part of her homework on Saturday, 12

5  th part on Sunday morn-

ing. How much part did she complete? How much part of home work is left ?

Subtraction of Unlike Fractions

Calculate 
3
4 – 

1
2

Method  1 :
3
4 – 

1
2

=

=

=

=   1
4

8
5

2
5

1
5

1
4

1
4

1
4

1
4

1
4

1
2

1
2

1
2
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�$ #ûjáT+&�
8
5

2
5

1
51. |�P]ï #ûjáT+&�.

2. �$ #ûjáT+&�.

3. �XøÇsY >Ã&�ýË 
1
6  e uó²>±�¿ì yîTT<�{ì sÃEq sÁ+>·TyûXæ&�T. eTsÁTd�{ì sÃE � >Ã&� |�P]ï uó²>±�¿ì sÁ+>·T yûjáT{²�¿ì

�+Â¿+Ôá uó²>·+ $TÐ*�+³T+~?

4. >�] Ôáq �+{ì |��ýË 4
1

e uó²>·+ Xø�y�sÁ+ |�P]ï#û�dqT. 12
5

e uó²>·+ �~y�sÁ+ �<�jáT+ |�P]ï #ûd¾+~. �|�Î{ì¿ì

m+Ôá uó²>·+ |�P]ï#ûd¾+~? �~y�sÁ+ kÍjáT+çÔ��¿ì �+Â¿+Ôá uó²>·+ $TÐ*�+³T+~?

$C²Ü _óH��\ e«e¿£\q+

3
4 ` 

1
2   qT kÍ~ó+#á+&�.

1e |�<�ÆÜ

    
3
4 – 

1
2

=

=

=

=   1
4

n) �) �) �)
6 1

10 10
- 3 1

15 15
- 3 11 1

15 15
-

4 22 1
7 7
-

1
4

1
4

1
4

1
4

1
4

1
2

1
2

1
2
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Do these

Method  2 : 3 1
4 2
-  ( L.C.M.  of  4, 2 = 4)

= 3 1 2
4 2 2
- ´  (To make equal denominators in both fractions)

= 3 2
4 4
-

= 3 2
4
-

= 1
4

Example : Rakesh  has 
3
4

th part  of a glass with milk.  He  drank 
1
8

th part of

milk. Now how much  part of milk is remained in the glass?

Sol : Part of milk in the glass = 3
4

Part of milk drank = 1
8

Part of milk remained = 3
4  – 1

8

= 3
4  × 2

2  – 1
8

= 6
8  – 1

8

= 5
8

1)   Complete this:

2nd  Process :

3
4  – 1

8  = 3 × 2 1× 1
8
-

  = 6 -1
8

  = 5
8

3
4

4
12

1
24
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�$ #ûjáT+&�

2e |�<�ÆÜ :
3 1
4 2
-  (4,2 \ ¿£.kÍ.>·TR4)

= 3 1 2
4 2 2
- ´  (Âs+&�T _óH��\ V�äs�\T d�eÖq+ #ûjáT{²�¿ì)

= 3 2
4 4
-

= 3 2
4
-

= 1
4

�<�V�²sÁD : s�¹¿wt e<�Ý �q� >±¢d�TýË 
3
4  e uó²>·+ bÍ\T �H��sTT. nÔáqT 

1
8 e uó²>·+ bÍ\T Ô�>±&�T. �|�Ú&�T

     � >±¢d�TýË m+Ôá uó²>·+ bÍ\T $TÐ* �H��sTT?

>±¢d�TýË �q� bÍ\ uó²>·+ = 3
4

Ô�Ðq bÍ\ uó²>·+ = 1
8

�+¿£qT $TÐ*q bÍ\ uó²>·+ = 3
4  – 1

8

= 3
4  × 2

2  – 1
8

= 6
8  – 1

8

= 5
8

1. B�� |�P]ï #ûjáT+&� :

2e |�<�ÆÜ :

3
4  – 1

8  = 3 × 2 1× 1
8
-

  = 6 -1
8

  = 5
8

3
4

4
12

1
24
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1. Do  the following.

     a) 3 7+
4 4 b) 11 +

2 c) 8 2+
3 5 d) 6 7+

3 4

     e) 3 9+
5 11 f) 10 5+

10 20 g) 9 4+
10 15 h) 5 13+

20 30

2. Do  the following.

     a) 3 1
7 7
- b) 16

3
- c) 3 3

8 16
- d) 3 1

4 5
-

     e) 8 5
7 8
- f) 13 7

15 20
- g) 63 9

40 10
- h) 7 3

15 10
-

 Exercise -  2

3. Seetha purchased 
11
2   litre of sunflower oil, 

3
4  litre of groundnut oil.  How much of

oil she  purchased in total?

4. Vimala purchased  
31
4  m  of cotton cloth for skirt, 

3
4  m of cloth for blouse. How

much cloth  is  purchased  by her?

5. Find the difference between 
15
3 and 

42
7  .

6. A water tank is filled with 
9

10
th  part of water.  But 

3
5

th part of water is consumed  in a

day.  Then find the remaining  part of water in the tank?

8.7  Decimal Fractions
One day a foot wear shopkeeper received a big box. It has 10 packets of same size.

In each packet he found 10 single boxes each with a pair of shoes. He sold one shoe box on
the first day.

Big Box Packet

100 Shoe Boxes 10 Shoe Boxes

Box

1 Shoe Box

Figure - 1 Figure - 2 Figure - 3
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1. �$ #ûjáT+&�.

nuó²«d�+  `    2

2. �$ #ûjáT+&�.

3. dÓÔá 
11
2   ©³sÁ¢ d�H�|�¢esY qÖHî, 

3
4  ©³sÁ¢ yûsÁTXøq>·qÖHî ¿=q�~. nsTTÔû �yîT ¿=q� yîTTÔáï+ qÖHî m+Ôá?

4. $eT\ \+>± ¿Ãd�+ 
31
4  MT³sÁT¢, C²Â¿³T¢ ¿Ãd�+ 

3
4  MT³sÁT¢ ¿±³H� >·T&�¦qT ¿=q�~. nsTTÔû �yîT Âs+&�+{ì ¿Ãd�+ ¿=q�

yîTTÔáï+ >·T&�¦ m+Ôá?

5.
15
3 eT]jáTT 

42
7  \ eT<ó�« e«Ô�«kÍ�� ¿£qT>=qTeTT.

6. ÿ¿£ ú{ì {²«+Å£�ýË 
9

10  e e+ÔáT úsÁT �q�~. ÿ¿£ sÃE 
3
5  e uó²>·+ úsÁT �|�jîÖÐ+#á�&�q~. nsTTq �+¿£qT

{²«+Å£�ýË �\Ç �q� ú{ì uó²>·+ m+Ôá?

8.7 <�Xæ+Xø _óH��\T

ÿ¿£ sÃE #î|�ð\ cÍ|�Ú jáTÈeÖ� �|<�Ý bÍ]ôýÙ �|fÉ¼qT n+<�TÅ£�H��&�T. � �|<�Ý �|fÉ¼ýË d�eÖq |�]eÖD+ýË 10

bÍ«Â¿{Ù\T �H��sTT. ç|�r bÍ«Â¿{ÙýË 10 w�O �|fÉ¼\T �H��sTT. nÔáqT yîTT<�{ì sÃE 1 w�O u²Å£�à neÖ�&�T.

bÍ]ôýÙ �|fÉ¼ bÍ«Â¿{Ù

100 w�O �|fÉ¼\T 10 w�O �|fÉ¼\T

�|fÉ¼

1 w�O �|fÉ¼

|�³+ `1 |�³+ `2 |�³+ `3

n) �) �) �)

�) }) �TT) m)

n) �) �) �)

�) }) �TT) m)

3 7+
4 4

11+
2

8 2+
3 5

6 7+
3 4

3 9+
5 11

10 5+
10 20

9 4+
10 15

5 13+
20 30

3 1
7 7
-

16
3

-
3 3
8 16
- 3 1

4 5
-

8 5
7 8
-

13 7
15 20

- 63 9
40 10

-
7 3

15 10
-
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Decimal Fractions

De
ci

m
al

 p
oi

nt

2       8      5           1      4       3

2 × 100
8 × 10

5 × 1

3
1000

4
1 00

1
10

 If the big box containing 100 shoes is considered as 1 unit (whole),

Part of whole                     =   1
10

Part of whole                      =  1
100

So,  stands for  stands for

What do you observe in these fractions  1 1 2 2, , ,
10 100 10 100  ?

Here denominators are 10, 100.

Fractions having denominators 10, 100, 1000,… are called 'Decimal Fractions'

Whole Numbers

H
un

dr
ed

s

Te
ns

O
ne

s

Te
nt

hs

H
un

dr
ed

th
s

Th
ou

sa
nd

th
s

We   read   285.143  as  'Two Hundred  Eighty  Five point One Four Three'.

Place value of  2 =  200 Place value of 1 = 1
10

Place value of  8 = 80 Place value of 4 = 4
100

Place value of  5 =  5 Place value of 3 = 3
1000

Ñ

2
10

2
100

     1) 125 12.5
10

= 2) 345 3.45
100

= 3) 4534 4.534
1000

= 4) 345672 345.672
1000

=

1
10

= 0.1

1
100 = 0.01

1
1000  = 0.001
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2       8      5           1      4       3

2 × 100
8 × 10

5 × 1

2
10

2
100

100 w�O\T ¿£*Ð �q� �|<�Ý bÍ]ôýÙ �|fÉ¼qT 1 jáTÖ�{Ù>± uó²$�dï

yîTTÔáï+ýË� uó²>·+ =

yîTTÔáï+ýË� uó²>·+ =

¿±�{ì¼ Ôî*jáTCñ�d uó²>·+ Ôî*jáTCñ�d uó²>·+

    
1 1 2 2, , ,

10 100 10 100  _óH��\ýË úeÚ @$T |�]o*+#�eÚ?

�¿£Ø&� V�äs�\T 10,100 >± �H��sTT.

10,100,1000,....V�äs�\T>± >·\ _óH��\qT »<�Xæ+Xø _óH��\Tµ n+{²sÁT.

|�PsÁ� d�+K«\T <�Xæ+Xø _óH��\T

e
+
<
�\
T

|
�<
�T\

T

ÿ
¿
£³
T¢

|
�<
�e

e
+
<
�e

y
îj

áT«
e

285.143 qT »Âs+&�T e+<�\ mquóÉÕ ×<�T bÍsTT+{Ù ÿ¿£{ì H�\T>·T ×<�Tµ n� #á<�TeÚÔ�eTT.

 2 jîTT¿£Ø kÍÆq $\Te R 200

8 jîTT¿£Ø kÍÆq $\Te R 80

5 jîTT¿£Ø kÍÆq $\Te R 5

1 kÍ�q$\Te R 
1

10

4 kÍ�q$\Te R 
4

100

3 kÍ�q$\Te R 
3

100

Ñ

1
10

= 0.1

1
100 = 0.01

1
1000  = 0.001

1
10

1
100

     1) 125 12.5
10

= 2) 345 3.45
100

= 3) 4534 4.534
1000

= 4) 345672 345.672
1000

=

3
1000

4
1 00

1
10
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Do these

1. Read  485.267.

2. Write the place value of all digits in  293.819.

3. Write any  5 examples for  decimal fractions.

Do You Know?
Ancient Indians represented fractions without horizontal line between numerator and
denominator.
The Arabs added the line drawn horizontally.
“Bhinnarasi” is originated in India in the works of Aryabhatta, Brahmagupta and
Bhaskara.
The word fraction is from Latin word  fractus / fractio  means  broken / break.

1. Fill in the blanks.

a) In improper fraction, numerator is ______ than the denominator.

b)
6
6  is ______ fraction  (which type?)

c) 2
13  is ______ fraction  (which type?)

d)
9
6  is ______ fraction (which type?)

e)
2
5  is ______ fraction (which type?)

f) A fraction having whole number and proper fraction is called  ______ fraction.

2. Convert 
9
6  into a mixed fraction.

3. Convert 12
5   into an improper fraction.

4. Write any 5 equivalent fractions to 2
3 .

5. Write simplest form of fraction for 25
75 .

Exercise   3
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�$ #ûjáT+&�

1. 485.267 qT n¿£�s�\ýË s�jáT+&�.

2. 293.819 n�� n+Â¿\ kÍÆq $\Te\T s�jáT+&�.

3. @yîÕH� 5 <�Xæ+Xø _óH��\T s�jáT+&�.

úÅ£� Ôî\TkÍ?

|�Ús�Ôáq ¿±\+ýË uó²sÁrjáTT\T _óH��\ýË \e V�äs�\ eT<ó�« ^Ôá �+#áÅ£�+&� s��dy�sÁT.

nsÁ�TÒ\T n&�¦^ÔáqT CË&�+#�sÁT.

»»_óq� s�¥µµ nHû~ uó²sÁÔá<ûXø+ýË �<�ÒÛ$+º+~. �sÁ«uó�³¼, ç�V�²�>·T|�Úï&�T, uó²d�ØsÁT&�T _óH��\�|Õ |�]XË<ó�q\T #ûXæsÁT.

�+>·¢+ýË »»çb�Í¿£üH�µµ nHû |�<�+ çb�Í¿£¼dt/çb�Í¿ìàjîÖ e+{ì ý²{ìH� |�<�\qT+&� eºÌ+~. nq>± $]Ðq/ $sÁ>·�&û n� nsÁÆ+.

nuó²«d�+  `  3

1. ¿ì+~ U²°\T |�P]+#á+&�.

n) n|�ç¿£eT _óq�+ýË \e+, V�äsÁeTT ¿£+fñ ______

�)
6
6  nHû~______ _óq�+  (@ sÁ¿£eTT)

�) 2
13  nHû~______ _óq�+  (@ sÁ¿£eTT)

�)
9
6  nHû~______ _óq�+  (@ sÁ¿£eTT)

�)
2
5  nHû~______ _óq�+  (@ sÁ¿£eTT)

}) ÿ¿£ |�PsÁ�d�+K« eT]jáTT ç¿£eT _óq�+ ¿£*Ðq _óH���� _____ _óq�+ n+{²sÁT.

2.
9
6 qT $TçXøeT _óq�+ýË¿ì eÖsÁTÌeTT.

3.
1
5

2 qT n|�ç¿£eT _óq�+ýË¿ì eÖsÁTÌeTT.

4.
2
3 Å£� @yîÕH� 5 d�eÖq _óH��\T s�jáTTeTT.

5.
25
75 nHû _óH���¿ì ¿£�w�¼ sÁÖ|�+ s�jáTTeTT.
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6. Write  two equivalent fractions to 64

36
.

7. Classify the following as like and unlike fractions 3 2 8 9 8 1, , , , ,
5 7 5 5 4 5 .

8. Fill in the boxes.

       a) 
15 3
20

- b) 2
5 50
= c) 3

5 30
=

9. Fill in the boxes with = or ¹ (¹ denotes not equal to)

       a) 16
8

2
1 b) 30

27
15
9 c) 39

12
13
9

10.   Fill in the blanks with equivalent fractions.

       a) ===== _______________
16
8

2
1

11. a) 6 1 ..................
5 5
- - b) 5 2 ...................

7 14
+ - c) 15 3 ...........

32 8
+ - d) 11 11 ........

16 8
+ -

12. a) 8 2 .........
10 10

- = b) 1 1 ........
3 9
- = c) 15 3 ........

32 8
- = d) 1 16 1 ........

16 8
- =

13.  Koushik went to school 1

4
km by walk.  He went on bicycle with his  friend for  the

remaining distance 3

4
 km. Then find the distance to school from his house.

14. Kavitha studied 1

2
 part of a book on 1st day, 1

3
 part on 2nd day, then how much part

she studied in both the days?

15.   2

3
 part of students in a school is boys. Find the part of girls in a school.

16.   Subtract 
21
4  from the total of  7

2  and 8
3 .

17.  Govind studied 
2
5

 part of a book on 1 day, 
1
7  part on 2nd day. Then how much part is

yet to be completed?

18. Write in words  189.257.

19. Write the place value of 6 in  489.167.

RRRR
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6.
64

36
 Å£� Âs+&�T d�eÖq _óH��\T s�jáTTeTT.

7.   \ qT+º d�C²Ü, $C²Ü _óH��\qT yûsÁT #ûjáTTeTT.

8. ¿ì+~ �|fÉ¼\qT |�P]+#á+&�.

9. ¿ì+~ �|fÉ¼\qT R ýñ<� ¹  ÔÃ |�P]+#á+&�.

10.   d�eÖq _óH��\ÔÃ U²°\qT �+|�+&�.

11. n) 6 1 ..................
5 5
- - �) 5 2 ...................

7 14
+ - �) 15 3 ...........

32 8
+ - �) 11 11 ........

16 8
+ -

12. n) 8 2 .........
10 10

- = �) 1 1 ........
3 9
- = �) 15 3 ........

32 8
- = �) 1 16 1 ........

16 8
- =

13. ¿�w¾¿ù bÍsÄÁXæ\Å£� yîÞøß{²�¿ì �+{ì qT+º 
1

4
 ¿ì.MT <�ÖsÁ+ q&�#îqT. n¿£Ø&� qT+º 

3

4
 ¿ì.MT <�ÖsÁ+ $TçÔáT� �dÕ¿ìýÙ�|Õ

yîÞèßqT. nsTTÔû bÍsÄÁXæ\Å£�, �+{ì¿ì >·\ <�Ös��� ¿£qT>=q+&�.

14. ¿£$Ôá ÿ¿£ |�Úd�ï¿£+ýË yîTT<�{ì sÃE 
1

2
 e uó²>·eTT, Âs+&�e sÃEq 

1

3
 e uó²>·+ #á~$Ôû, � Âs+&�T sÃEýË¢ ¿£$Ôá #á~$q

uó²>·+ m+Ôá?

15.  ÿ¿£ bÍsÄÁXæ\ýË 
2

3
 e+ÔáT nu²ÒsTT\T �H��sÁT. nsTTÔû � bÍsÄÁXæ\ýË mq�e e+ÔáT neÖ�sTT\T �H��sÁT?

16.   
7 8,
2 3  \ yîTTÔáï+ qT+º 

21
4  rd¾yûjáT+&�.

17. >Ã$+<� ÿ¿£ |�Úd� ï¿£+ýË 1e sÃEq 
2
5  uó²>·+, 2e sÃEq 

1
7 e uó²>·eTT #á~y�&�T. nsTTÔû nÔáqT

� |�Úd�ï¿±�� |�P]ï#ûjáT{²�¿ì �+Â¿+Ôá uó²>·+ #á<�y�*?

18. 189.257 qT n¿£�s�\ýË s�jáT+&�.

19. 489.167 ýË 6 jîTT¿£Ø kÍÆq $\Te m+Ôá?

n) �) �)

n)  16
8

2
1

   �)  30
27

15
9

�)  39
12

13
9

n) _______________
16
8

2
1

====

3 2 8 9 8 1, , , , ,
5 7 5 5 4 5

15 3
20

-
2
5 50
= 3

5 30
=

RRRR
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Do these

Chapter Measurements 5

Activity

With the help of  a scale, measure the length of a table in your class.

1) Guess the distance between any two dots. Repeat for other dots also.  Check by
measuring the same with scale.

2) Identify and write farthest two dots. Identify nearest to each other.

3) Draw another pencil longer than one cm to this pencil.

A. .C

B. .D
.J

To measure the small things, we use centimetre (cm).
To measure length in cm, we use scale.

9.1 Measuring length and distances
Siva was thirsty while walking along the road with his

father and saw a sugarcane juice centre on the road side. He
ordered a glass of juice. The juice seller squeezed one glass
of juice from a sugar cane. Siva estimated the length of
sugarcane.
Teacher :  Can you estimate the length of sugar-cane?
Student : Yes, it is about 2 metres.
Teacher : If you cut into small pieces, in which units we measure them?

9.1.1 Measuring length in metre and centimetre
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�$ #ûjáT+&�

n<ó�«jáT+

ºq� ed�TïeÚ\ bõ&�eÚ\qT ¿=\e&��¿ì �d+{¡MT³sÁ¢qT �|�jîÖÐkÍïeTT.

�d+{¡MT³sÁ¢ÔÃ ¿=\e&��¿ì eTq+ �dØ\TqT �|�jîÖÐkÍïeTT.

¿£�Ôá«+

ÿ¿£ C²yîTç{¡u²¿ùàýË� �dØ\T d�V�äjáTeTTÔÃ ÔásÁ>·Ü >·~ýË� fñ�TýÙ bõ&�eÚqT ¿=\e+&�.

1) ç|�Ü Âs+&�T _+<�TeÚ\ eT<ó�« >·\ <�Ös��� n+#áH� yûjáT+&�. �dØ\TÔÃ ¿=*º d�]#áÖ&�+&�.

2) @ Âs+&�T _+<�TeÚ\ eT<ó�« <�ÖsÁ+ mÅ£�Øe>± �+~? <�>·ZsÁ>± �q� _+<�TeÚýñ$?

3) ¿ì+<� �eÇ�&�q �|�àýÙ ¿£H�� ÿ¿£ �d+{¡MT³sÁT mÅ£�Øe bõ&�eÚ >·\ �|�àýÙ u¤eT�qT ^jáT+&�.

¿=\Ôá\T

A. .C

B. .D
.J

9.1 bõ&�eÚ\qT, <�Ös�\qT ¿=\e&�+

sÃ&�T¦�|Õ q&�Td�Tïq� ¥eÅ£� <�V�²+yûd¾ sÃ&�T¦ ç|�¿£ØHû>·\ #îsÁÅ£�sÁd�+ <�T¿±D²�¿ì

yîÞ²¢&�T. ÿ¿£ >±¢d�T #îsÁTÅ£�sÁd�+ �eÇeT� n&�>±&�T. <�T¿±D<�sÁT ÿ¿£ #îsÁTÅ£�>·&�

qT+º ÿ¿£ >±¢dt p«dt(sÁd�+) rd¾ �#�Ì&�T. ¥e #îsÁTÅ£�>·&� jîTT¿£Ø bõ&�eÚqT n+#áH�

yûkÍ&�T.

�bÍ<ó�«jáTT&�T : #îsÁÅ£�>·&� bõ&�yî+ÔÃ n+#áH� yûjáT>·\s� |¾\¢\Ö!

|¾\¢\T : kÍsY! �+#áT$T+#áT>± Âs+&�T MT³sÁ¢ bõ&�eÚ.

�bÍ<ó�«jáTT&�T : #îsÁÅ£�>·&�qT ºq� eTT¿£Ø\T>± #û�dï, ÿ¿ÃØ eTT¿£Ø bõ&�eÚqT

@ ç|�eÖD²\ýË ýÉ¿ìØ+#á>·\eTT?

9.1.1 bõ&�eÚ\qT MT³sÁT¢, �d+{¡MT³sÁ¢\ýË ¿=\e&�+
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4) Draw a water bottle 1 cm shorter to this.

Why to measure in millimetres?

Rekha and Shiva are measuring the lengths of some objects in centimetres and metres.
Let's measure the following things using scale or tape and fill in the table.

Thing Comb Water bottle Spoon Skipping rope Hand  stick

 Length(cm)

While they are doing the work, Latha brought one groundnut seed and asked “can
you measure the length of this seed?” They tried to measure it in centimetres. But they
observed that length of the seed is below 1 centimetre.

Can you measure the length of the seed?

Look at this picture.

Observe the above picture and write the answers.

At which starting point of the scale, the groundnut seed is placed? ________

Count the number of lines it covered ____________________

Is it one centimetre? ___________________

The distance between 0 to 1 is divided into _______________ equal parts.

cm.
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4) �eÇ�&�q u¤eT� ¿£q� ÿ¿£ �d+.MT ÔáÅ£�Øe bõ&�eÚ >·\ úÞøß dÓkÍ u¤eT� ^jáT+&�.

$T©¢ MT³sÁ¢ýË ¿=\y�*àq ned�sÁ+.

¹sK eT]jáTT ¥e ¿=�� ed�TïeÚ\ bõ&�eÚ\qT �d+MT. eT]jáTT MT³sÁ¢ýË ¿=\Td�TïH��sÁT.

�dØ\T eT]jáTT fñ|�ÚqT �|�jîÖÐ+º ¿ì+~ ed�TïeÚ\ bõ&�eÚ\qT ¿=\T<�Ý+.

ed�TïeÚ <�TyîÇq úÞøß dÓkÍ d�ÖÎqT �&û Ô�&�T #ûÜ ¿£çsÁ

bõ&�eÚ

(�d+.MT)

y�sÁT ¿=\Td�Tïq�|�ð&�T \Ôá ÿ¿£ yûsÁTXøq>· Ð+È ($Ôáïq+) �ºÌ, � Ð+È bõ&�eÚ ¿=\e>·\s�? n� n&�Ð+~. y�sÁT

� Ð+È bõ&�eÚqT �d+.MT\ýË ¿=\e&��¿ì ç|�jáTÜ�+#�sÁT. ¿±ú � $Ôáïq+ bõ&�eÚ 1 �d+.MT. ¿£H�� ÔáÅ£�Øe>± �+<��

>·eT�+#�sÁT.

MTsÁT � Ð+È bõ&�eÚqT ¿=\e>·\s�?

ºçÔ��� #áÖ&�+&�.

|�¿£ØqTq� ºçÔ��� C²ç>·Ôáï>± >·eT�+º ç|�Xø�\Å£� d�eÖ<ó�H�*eÇ+&�.

�dØ\T @ _+<�TeÚ e<�Ý $Ôáïq+ �+#á�&�+~? ________________________

� $Ôáïq+ m�� ^Ôá\qT �ç¿£$T+º+~? ________________________

n~ ÿ¿£ �d+.MTÅ£� d�eÖqyûTH�? ________________________

0 qT+&� 1 esÁÅ£� >·\ eT<ó�« <�ÖsÁ+ m�� d�eTuó²>±\T>± $uó��+#á�&�+~? _____________________

�d+.MT
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Do these

Do these

The numbered lines correspond to centimeters, while the unnumbered lines indicate
millimetres. We write millimetres as mm in short form. So 1 centi-metre is equal to 10th millimetres
and 1 mm = 1

10  cm (1mm= 10th part of 1cm = 0.1cm)

A scale represents two units “centimetre and millimetre”.

Now count the millimetres the peanut has covered. It is _____mm.

Give some examples which measure only in millimetres.
1. _______ 2. _______ 3. _______ 4. _______

 Activity

Measuring the length of a safety pin:
Observe the adjacent picture and write answers.

At which starting point is the safety pin placed?__________
Count the centimetres it covered __________ cm.
Count the unnumbered lines the pin covered after 1cm _____
The safety pin covered ____cm and ____ millimetres.

Meera measures it in millimetres
1 cm + 4 mm = 10 mm + 4 mm = 14 mm

Find the thickness of your writing pad.

Centimetre and Millimetre:
The observations of class 5 students about the distance between two plants in

fields are given in a table. They want to convert them into millimetres.  We know that
1cm = 10 mm.

1 cm
0. 5 cm
10 Lines per
 centimetre 0 1cm

cm

10 millimeters

cm.
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�$ #ûjáT+&�

�$ #ûjáT+&�

n+Â¿\T / d�+K«\ÔÃ #áÖ|¾+ºq ^Ôá\T �d+{¡MT³sÁT¢>±qT, d�+K«\T / n+Â¿\T ýñ� ^Ôá\T (�d+.MT\ eT<ó�«ýË)

$T©¢MT³sÁ¢qT d�ÖºkÍïsTT. eTq+ $T©¢MT³sÁ¢qT Å£�¢|�ï+>± $T.MT. >± s�kÍï+. ¿±eÚq 1 �d+.MT R 10 $T.MT\Å£� d�eÖq+.

n<û $<ó�+>± 1 $T.MT  R  
1

10  �d+.MT. (1$T.MT R 1 �d+.MTýË 10e e+ÔáT uó²>·+ R 0.1 �d+.MT)

�dØ\TýË �d+.MT eT]jáTT $T.MT nqT Âs+&�T ¿=\Ôá\T �+{²sTT.

�|�ð&�T Ð+È bõ&�eÚqT $T.MT\ýË ¿=\e+&�. Ð+È bõ&�eÚ ___________ $T.MT

$T*¢MT³sÁ¢ýË eÖçÔáyûT ¿=\e >·*Ðq ¿=�� �<�V�²sÁD\T s�jáT+&�.

1. _______ 2. _______ 3. _______ 4. _______

¿£�Ôá«+

 |¾ú�d�T bõ&�eÚ ¿=\e&�+:

 |�¿£ØqTq� ºçÔá+ >·eT�+º d�eÖ<ó�H�*eÇ+&�.

@ çbÍsÁ+uó� ^Ôá (_+<�TeÚ) e<�Ý |¾ú�d�T �+#á�&�q~? _______

n~ m�� �d+.MT\ bõ&�eÚ �+~? _______
1 �d+.MT Ôás�ÇÔá n~ �ç¿£$T+ºq ^Ôá\ d�+K« _______
|¾ú�d�T bõ&�eÚ _______   �d+.MT _______   $T.MT

MTs� |¾ú�d�T bõ&�eÚqT $T.MT\ýË ýÉ¿ìØ+º+~.

      1 �d+.MT G 4 $T.MT R 10 $T.MT G 4 $T.MT

R 14 $T.MT

 |�̄ ¿£� s��d+<�TÅ£� �|�jîÖÐ+#û n³¼ eT+<�+ ¿£qT>=q+&�.

�d+{¡ MT³sÁT eT]jáTT $T©¢MT³sÁT:

5e ÔásÁ>·Ü $<�«sÁT�\T ¿=~ÝeT+~ bõý²\ýË ¿=�� sÁ¿±\ yîTT¿£Ø\ eT<ó�« �+&û <�Ös��� >·T]+º #ûd¾q

|�]o\q\T ¿ì+~ |�{ì¼¿£ýË �eÇ�&�¦sTT. y�sÁT <��� $T©¢MT³sÁ¢ýË qyîÖ<�T #ûjáÖ\qTÅ£�H��sÁT.

1 �d+.MT R 10 $T.MT

1 �d+.MT

0.5 �d+.MT

$T©¢MT³sÁT

(10 ̂ Ôá\T)
0 1�d+.MT

10 $T©¢MT³sÁT¢

�d+.MT
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To convert
higher unit to
lower units,
we need to
multiply.

To convert
lower unit to

higher unit, we
need to divide.

Do you know!

Ask the students to observe the length of the following things and
convert them into centimetres.

We know that 1mm = 1
10  cm

Study the following table

We commonly use kilometre to measure far distances. Metre, centimetre and
millimetre are used to measure lengths of objects, clothes etc.

Activity

Plants
Name of

the student
Distance in
millimetres

Distance in

centimetres

Swathi
Sudeepa
Samera

Santha bai

Rose plants

Jasmine plants
Peanut plants
Tomato plants

 80 cm

45 cm

30 cm

75 cm

80 × 10 mm = 800 mm

Name of the
student
Jubair
Somla
Jack
Malli

Length in mm

220
115
180
200

Length in cm

220 ÷ 10 = 22 cm

Objects

Textbook
Pen
Slate
Brick

Metric  units  Kilo (1000)   Hecta (100) Deca (10)  Basic unit 1 deci (
1

10 ) Centi (
1

100) milli (
1

1000 )

Length Kilometre   Hectametre Decametre Metre Decimetre Centimetre Millimetre

Weight Kilogram Hectagram Decagram Gram Decigram Centigram Milligram

Capacity Kilolitre Hectalitre Decalitre Litre Decilitre Centi litre Millilitre

Thousands  Hundreds Tens    Ones Tenths   Hundredths Thousandths

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



>·DìÔá+ÔÃ >·eT�ÔáTï   ÔásÁ>·Ü ` 5131

$<�«]� �|sÁT |�]o\q eT<ó�«<�ÖsÁ+

$T.MT\ýË

eT<ó�«<�ÖsÁ+

�d+.MT\ýË

kÍÇÜ

d�TB|�

d�MTsÁ

Xæ+Ô� uó²sTT

>·Tý²_ yîTT¿£Ø\T

eTýÉ¢ yîTT¿£Ø\T

yûsÁTXøq>· yîTT¿£Ø\T

³yîÖ³ yîTT¿£Ø\T

80 �d+.MT.

45 �d+.MT.

30 �d+.MT.

75 �d+.MT.

80 I 100 R 800 $T.MT

mÅ£�Øe $\Te ç|�eÖD²\

qT+&� ÔáÅ£�Øe $\Te �q�

ç|�eTD²\ýË¿ì eÖs�Ì\+fñ

>·TDì+#�*.

ÔáÅ£�Øe $\Te �q�

ç|�eÖD²\qT mÅ£�Øe

$\Te >·\ ç|�eÖD²\ýË¿ì

eÖs�Ì\+fñ uó²Ð+#�*.

MTÅ£� Ôî\TkÍ!

¿£�Ôá«+

¿ì+<� �eÇ�&�q |�{ì¼¿£ýË� ed�TïeÚ\ bõ&�eÚ\qT $T©¢MT³sÁ¢ qT+&� �d+{¡MT³sÁ¢ýË¿ì eÖsÁÌ+&�.

1 $T.MT  R  
1

10  �d+.MT.

$<�«]� �|sÁT       ed�TïeÚ\T
bõ&�eÚ

$T.MT. \ýË

bõ&�eÚ

�d+.MT. \ýË

EuñsY

kþeÖ¢

C²¿ù

eT*¢

|�Úd�ï¿£+

¿£\+(�|H�)

|�\¿£

�³T¿£

¿ì+~ |�{ì¼¿£qT |�]o*+#á+&�

   yû\T           e+<�\T |�<�T\T     ÿ¿£³T¢ <�Xæ+Xø+         XøÔ�+Xø+      d�V�²çkÍ+Xø+

 ç|�eÖD¿=\Ôá\T ¿ìýËI1000    �V²¿±¼I100    &î¿±I10   eTÖ\¿=\ÔáI1   &îd¾
1

10 �d+{ì
1

100 $T©¢ 
1

1000
bõ&�eÚ ¿ìýËMT³sÁT    �V²¿±¼MT³sÁT  &î¿±MT³sÁT       MT³sÁT   &îd¾MT³sÁT �d+{ìMT³sÁT $T©¢MT³sÁT

�sÁTeÚ ¿ìýËç>±eTT    �V²¿±¼ç>±eTT    &î¿±ç>±eTT       ç>±eTT   &îd¾ç>±eTT �d+{ìç>±eTT $T©¢ç>±eTT

|�]eÖD+ ¿ìýË©³sÁT    �V²¿±¼©³sÁT    &î¿±©³sÁT      ©³sÁT  &îd¾ ©³sÁT �d+{ì©³sÁT $T*¢©³sÁT

bõ&�eÚ\qT ¿=*#û³|�Ú&�T kÍ<ó�sÁD+>± eTq+ mÅ£�Øe <�Ös�\qT ¿=\e&��¿ì ¿ìýËMT³sÁ¢qT �|�jîÖÐkÍï+.

MT³sÁT,�d+{ìMT³sÁT, $T©¢MT³sÁ¢qT ed�TïeÚ\T, <�Td�Tï\T yîTT<�\>·T y�{ì bõ&�eÚ\qT ¿=\e&��¿ì �|�jîÖÐkÍï+.

220÷10 = 22 �d+.MT.220

115

180

200
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Imran identified how Sumi told the other piece is missing. He subtracts the length of

two pieces from the total length of a scale that is 30cm. He gave an example to subtraction.

     Thousands Ones     Hundredths Thousandths

Metric       Kilo        Basic unit Centi     milli

Units        X 1000 1 1/100     1/1000

Length      Kilometre       Metre         Centimetre     Millimetre

Why should I learn about millilitres,
centimetres, metres etc., and

convert it into
different measurements?

Sumi is searching for a scale. When she found, it was broken into some pieces. She
stuck two pieces with fevistick and observed another one piece was missing. How could
she tell it?

Imran identified that Sumi has done both addition and subtraction. He explained an addi-
tion example like this.

Example-1:
 The lengths of two pieces are 12 cm 3 mm and 6 cm 2 mm. The total length of two

pieces is:
Solution: cm mm

12 3
 (+) 6 2

18 cm         5 mm
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d�T$T �dØ\TýË eTs=¿£ eTT¿£Øýñ<�� mý² #î|¾Î+<Ã, �çeÖH� >·T]ï+#�&�T. nÔáqT 30 �d+.MT.\ �dØ\T bõ&�eÚ qT+&�

Âs+&�T uó²>±\ bõ&�eÚ\ yîTTÔ�ï�� rd¾yûXæ&�T. � $<ó�+>± rd¾yûÔá �<�V�²sÁDqT $e]+#�&�T.

yû\T ÿ¿£³T¢ XøÔ�+Xø+    d�V�²çkÍ+Xø+

yîTç{ì¿ù          ¿ìýË       eTÖ\¿=\Ôá �d+{ì        $T*¢

¿=\Ôá\T          X 1000 1 1/100         1/1000

bõ&�eÚ        ¿ìýËMT³sÁT MT³sÁT �d+{ìMT³sÁT      $T*¢MT³sÁT

HûqT $T*¢©³sÁT¢, �d+{ìMT³sÁT¢ MT³sÁT¢ yîTT<�ýÉÕq ¿=\Ôá\

>·T]+º HûsÁTÌ¿Ãy�*àq ned�sÁ+ @$T{ì? ÿ¿£ ¿=\Ôá

qT+&� eTs=¿£ ¿=\ÔáÅ£� eÖs�Ì*àq ned�sÁ+ @$T{ì?

d�T$T ÿ¿£ �dØ\T ¿Ãd�+ yîÔáTÅ£�ÔÃ+~. ¿£q|�&�q ÔásÁTy�Ôá #áÖ�dï n~ ¿=�� eTT¿£Ø\T>± $]ÐbþsTT �+~. Âs+&�T

�dØ\T eTT¿£Ø\qT nÜ¿ì+º #áÖ�dï |�P]ï �dØ\T ¿±e&��¿ì eTs=¿£ eTT¿£Ø ned�sÁ+ n� #î|¾Î+~. �yîT mý² #î|¾Î+<Ã Ôî\TkÍ?

�çeÖH�, d�T$T d�+¿£\q+ (Å£L&�¿£) eT]jáTT e«e¿£\q+ (rd¾yûÔá) Âs+&�Ö #ûjáT&�+ <�Çs� #î|¾Î+<�� ÿ¿£

�<�V�²sÁD <�Çs� �ý² $e]+#�&�T.

�<�V�²sÁD`1 :

 Âs+&�T �dØ\T eTT¿£Ø\ bõ&�eÚ\T 12 �d+MT 3.$TMT eT]jáTT 6�d+MT  2 $T.MT nsTTÔû � Âs+&�+{ì� nÜ¿ì�dï,

kÍ<ó�q : �d+MT $T.MT

12 3

 (G)  6 2

18 �d+.MT  5 $T.MT
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Exercise -  1

I) Find the sum of the following.
1)    7 cm 5 mm + 9 cm 6 mm 2)   82 cm 8 mm + 92 cm 2 mm

II) Subtract the following.
1)    26 cm 4 mm from 43 cm 3 mm 2)   87 cm 6 mm from 91cm 9 mm

III) Multiply the following.
1) 18 cm 6 mm x 5 2) 54 cm 3 mm x 23

IV) Solve the following  problems.
1) Rafi said “the length of my finger nail is 5 cm and the length of my finger is 7 mm”.

Is  he  correct? Give reasons.
2) Gouse measured the length of his compass box as 12 cm 5 mm. Babu said that the

length of his box is 2 cm 5 mm more than Gouse box. Find Babu's box length.
3) Madhavi  made a garland with a length of 80 cm. Later she added 60 cm garland

piece to that. What is the total length of the garland?
4) Mythili broke a pencil with a length of 18 cm into two pieces.

If the length of one piece is 8 cm 5 mm, find the length of the
other piece.

5) While drawing a line segment of length 12 cm,  Seenu has
drawn upto 8 cm 7 mm. Find the remaining part  to be drawn?

Example-2:  Subtract 18 cm 5 mm
  from 30 cm

Solution : cm mm
30 0
18 5

(–)
11cm 5 mm

Example-3: Length  of  a  pen  is  13  cm
8 mm. 8 pens are arranged in row, without
spacing. What is the length of the row?
Solution :
Length of pens =  13 cm 8 mm
No. of pens =   8
Length of row =  13 cm 8 mm

x  8
   110 cm 4 mm
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nuó²«d�+ `   1

I) ¿ì+~ Å£L&�¿£\T #ûjáT+&�.

n) 7�d+.MT. 5$T.MT. G 9�d+.MT. 6$T.MT. �) 82�d+.MT. 8$T.MT. G 92�d+.MT. 2$T.MT.

II) rd¾yûÔá\T #ûjáT+&�.

n) 26�d+.MT. 4$T.MT.\qT, 43�d+.MT. 3$T.MT.\ qT+&� rd¾yûjáT+&�.

�) 87�d+.MT. 6$T.MT.\qT, 91�d+.MT. 9$T.MT.\ qT+&� rd¾yûjáT+&�.

III) >·TDì+#á+&�.

n) 18 �d+.MT. 6 $T.MT. I 5 �) 54 �d+.MT. 3 $T.MT. I 23

IV) ç¿ì+~ d�eTd�«\T kÍ~ó+#á+&�.

1) sÁ|�Ó »»H� yû* >ÃsÁT bõ&�eÚ 5 �d+.MT. eT]jáTT H� yû* bõ&�eÚ 7 $T.MT.µµ n� nH��&�T. sÁ|�Ó #î|¾Îq~ d�]jî®Tq<ûH�?

¿±sÁD+ Ôî\|�+&�.

2) >�dt Ôáq C²yîTç{ìu²¿ùà bõ&�eÚ 12 �d+.MT. 5 $T.MT. >± ¿=*#�&�T. u²�T »» H� u²¿ùà bõ&�eÚ >�dt u²¿ùà bõ&�eÚ ¿£H��

2 �d+.MT. 5$T.MT. mÅ£�Øeµµ nH��&�T. nsTTÔû u²�T u²¿ùà bõ&�yî+Ôá?

3) eÖ<ó�$ 80 �d+.MT. bõ&�yîÕq |�P\<�+&� n*¢+~. ÔásÁTy�Ôá 60 �d+.MT.\ |�P\ <�+&� yîTT<�{

<��ÔÃ ÈÔá #ûd¾+~. |�P\<�+&� yîTTÔáï+ bõ&�yî+Ôá?

4) yîT®~*̧ 18 �d+.MT.\ bõ&�eÚ >·\ ÿ¿£ �|�àýÙqT 2 eTT¿£Ø\T>± $]º+~. n+<�TýË ÿ¿£ eTT¿£Ø

bõ&�eÚ 8 �d+MT 5 $T.MT. nsTTÔû Âs+&�e eTT¿£Ø bõ&�yî+Ôá?

5) çoqT 12 �d+.MT.\ ¹sU²K+&��� ^#û ç¿£eT+ýË 8 �d+.MT. 7 $T.MT.\ esÁÅ£� ^Xæ&�T.

�+Â¿+Ôá bõ&�eÚ ̂ jáÖ*?

�<�V�²sÁD`2: 30�d+.MT.\ qT+&�

       18 �d+.MT. 5 $T.MT.qT rd¾yûjáT+&�.

kÍ<ó�q  : �d+.MT. $T.MT.

30 0

18 5

(`)

11�d+.MT. 5 $T.MT.

�<�V�²sÁD`3: ÿ¿£ ¿£\eTT bõ&�eÚ 13 �d+.MT.8 $T.MT.

8 ¿£\eTT\qT ÿ¹¿ esÁTd�ýË neT]ÌÔû �

esÁTd� bõ&�eÚ m+Ôá?

kÍ<ó�q  :

ÿ¿£ ¿£\+ bõ&�eÚ R  13�d+.MT. 8 $T.MT.

esÁTd�ýË neT]Ìq ¿£\eTT\T R  8

esÁTd� bõ&�eÚ R  13�d+.MT. 8$T.MT.

    I 8

110�d+.MT. 4 $T.MT.
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6) Kodanda solved the problem like this. Which process has he adopted to solve?

7)  Sunitha estimated the length of one seed as

6 mm. Ramya said if one seed length is 6 mm then the

length of 4 seeds is 24 mm. How did Ramya say that?

8) Suraj observed 12 caterpillars moving in a row. He
estimated the length of one caterpillar as
3.5  cm.  What  will  be  the  length  of  the  row?
(Estimate)

9) The length of a safety pin is 2 cm. Mary wants to measure

18 cm length by using the safety pin. How many times

should  she count by moving it in a straight line?

9.1. 2 Measuring length in metres

Metres and Centimetres:

Hari and Siri wanted to buy

new clothes.  They went to a cloth

store and bought some pieces of

cloth. The shopkeeper gave them

cloths of different lengths.

cm  mm
20 8
15 6
 5 2
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6) ¿Ã<�+&� ÿ¿£ d�eTd�«qT �ý² #ûXæ&�T. nÔáqT @ ç|�ç¿ìjáTqT �|�jîÖÐ+#�sÁT?

7) d�TúÔá ÿ¿£ $Ôáïq+ bõ&�eÚ 6 $T.MT>± n+#áH� yûd¾+~. sÁeT« »» ÿ¿£ $Ôáïq+

bõ&�eÚ 6 $T.MT nsTTÔû 4 $ÔáïH�\ bõ&�eÚ 24 $T.MT neÚÔáT+~µµ nq�~.

sÁeT« mý² d�eÖ<ó�q+ #î|¾Î+~?

8) d�ÖsÁCÙ 12 >=+>·[ |�ÚsÁT>·T\T ÿ¿£ esÁTd�ýË yîÞø�ï+&�&�+ >·eT�+#�&�T. nÔáqT ÿ¿£

>=+>·[|�ÚsÁT>·T bõ&�eÚqT 3.5 �d+.MT\T>± n+#áH� yû�dï, esÁTd� yîTTÔáï+ bõ&�yî+Ôá

�+&�e#áTÌ? ( n+#áH�yûd¾ ýÉ¿£Ø#ûjáT+&�)

9) ÿ¿£ |¾ú�d�T bõ&�eÚ 2 �d+.MT. yûT¯ 18 �d+.MT bõ&�eÚqT ¿=\y�\+fñ |¾ú�d�TqT

m��eÖsÁT¢ �|�jîÖÐ+#�*?

9.1. 2 bõ&�eÚ\qT MT³sÁ¢ýË ¿=\e&�+

MT³sÁT¢ eT]jáTT �d+{¡MT³sÁT¢ :

V�²], d¾] ¿=Ôáï �³¼\T (<�Td�T ï\T)

¿=H�\qTÅ£�H��sÁT. y�sÁT ÿ¿£ <�T¿±D²�¿ì yî[ß

¿=�� <�Td�Tï\T ¿=H��sÁT. <�T¿±D²<�sÁT y�]¿ì

$$<ó� bõ&�eÚ\T >·\ <�Td�Tï\qT �#�ÌsÁT.

�d+.MT. MT.MT.

20   8
15   6
 5   2
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Siri measured the length of the shirt piece as 1 m 50 cm with scale. When she reached 100
cm she made a mark as 1 metre.

We know 1 metre = 100 centimetres
Measuring 1 metre 50 cm in centimeters = 1 x 100 cm  + 50 cm

= 100 cm + 50 cm
= 150 cm.

Now change the measurement given in the 2nd column into cm.

Converting cm to metres:
Example: When Siri observed length of the blouse as 90

centimetres, she wanted to convert 90 cm into
metres.

Solution : The length of the blouse = 90 cm
We know that 1metre = 100 cm
Hence 1 cm = 100

1  m

Converting 90cm to metres = 90
100

= 0.90 metres.

Do you know!

90 centimetres = 90 x 1
100

metres (in the form of decimal
fraction)

= 90
100  metres

= 0.90 metres

After understanding the concept of decimals, working with measurements is very simple.
Like the decimal system, the metric system is also based on units of 10 and its multiples.

After the decimal point, if there
is zero at the end, it need not be

written.

Measurement in cm

150 cm

Measurement

1 m 50 cm

1 m 5 cm

1 m 80 cm

0 m 90 cm

Dress

Shirt

Pant

Long skirt

Blouse
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d¾] #=¿±Ø >·T&�¦ bõ&�eÚ 1MT. 50 �d+.MT.>± �dØ\TÔÃ ¿=*º+~. ¿=*#û³|�ð&�T 100 �d+.MT. <�>·ZsÁ ÿ¿£ eÖsÁTØ (3)

�+º+~. 100 �d+.MT. R 1MTöö

1MT R 100 �d+.MT. >± eTqÅ£� Ôî\Td�T

1 MT 50 �d+.MT.\qT �d+.MT.\ýË¿ì eÖ]�dï R 1 I 100 �d+.MT. G 50 �d+.MT.

R 100 �d+.MT. G 50 �d+.MT.

R 150 �d+.MT.

¿ì+<� �eÇ�&�q |�{ì¼¿£ýË 2e >·&�ýË� ¿=\Ôá\qT �d+.MT.\ýË ýÉ¿ìØ+#á+&�.

<�Td�Tï\T bõ&�eÚ

1 MT. 50 �d+.MT.

1 MT. 5 �d+.MT.

1 MT. 80 �d+.MT.

0 MT. 90 �d+.MT.

�d+.MT\ýË eÖ]�dï

150 �d+.MT.#=¿±Ø

bÍ«+³T

\+>±

C²Â¿³T¼

�d+.MT\qT MT³sÁ¢ýË¿ì eÖsÁÌ&�+:

�<�V�²sÁD: d¾] C²Â¿{Ù ¿=\Ôá 90 �d+.MT\T>± >·T]ï+º+~. �yîT 90

�d+.MT\qT MT³sÁ¢ýË¿ì eÖs�Ì\qTÅ£�+~.

kÍ<ó�q : C²Â¿{Ù >·T&�¦ bõ&�eÚ R 90 �d+.MT

1MT R 100 �d+MT.>± eTqÅ£� Ôî\Td�T

¿±eÚq 1�d+.MT. R 100
1

 MT.

90 �d+.MT \qT MT³sÁ¢ýË¿ì eÖ]�dï R
90

100

R 0.90 MT³sÁT¢

MTÅ£� Ôî\TkÍ!

90 �d+.MT R 90 I 
1

100 MT.

(<�Xæ+Xø _óq�+ ç|�¿±sÁ+)

 R 
90

100

 R 0.90 MT³sÁT¢

<�Xæ+Xø kÍ�H�\T nsÁ�yîT®Ôû ¿=\Ôá\Å£� d�+�+~ó+ºq $w�jáÖ\T d�T\uó�+>± �+{²sTT. <�Xæ+XøeÖq+ ý²¹> yîTç{ì¿ù

(ç|�eÖD) ¿=\Ôá\T Å£L&� 10 eT]jáTT 10 jîTT¿£Ø >·TDìC²\Å£� d�+�+~ó+ºqyû.

<�Xæ+XøkÍ�q+ Ôás�ÇÔá ºe]ýË »0µ e�dï

s�jáTe\d¾q ned�sÁ+ ýñ<�T.

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



...................................Maths Magic   Class - 5 140

Example-1: Sanjana used 26 m 15 cm bamboo stick to make a big basket and 12 m 65
cm bamboo stick to make a sieve. Find the total length of bamboo used by
her.

Solution : Bamboo stick used to make a basket = 26 m 15 cm
Bamboo stick used to make a sieve =    (+) 12 m 65 cm
The total length of  bamboo stick used = 38 m  80 cm

Example-2: Obulesu agreed to construct a school compound wall of length
100 m. He completed 56 m of wall in one week. What length of wall should
be constructed further ?

Solution : The length of the compound wall = 100 m
Length of constructed wall =    (-)  56 m

Length of the wall to be completed =   44 m
Example-3: A snail moves 30 cm in a minute. How much distance it can cover in 15min-

utes?
Solution : The distance covered by snail in one minute = 30 cm

The distance covered by snail in 15 minutes = 30 cm x 15

=  450 cm or 4 m 50 cm
Example-4: Sri krishna weaved a cloth with a length of 1m 50 cm. If she wants to make it

into two parts what will be the length of each part?
Solution : Length of a cloth weaved by Sri krishna =1 m 50 cm

Converting 1m 50cm into cm = 1x 100 cm + 50 cm

= 100 cm + 50 cm
= 150 cm

Length of half part of the cloth = 150 cm ÷ 2

= 75 cm

I) Add the following.

1) 10 m 75 cm and 6 m 65 cm 2)  85 m 23 cm and 68 m 79 cm

II) Subtract the following.

1) 10 m 15 cm from 25 m 25 cm 2)  64 m 45 cm from 100 m

Exercise -   2
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�<�V�²sÁD`1: d�+Èq ÿ¿£ �|<�Ý �T³¼ #ûjáT&��¿ì 26MT. 15 �d+.MT.\ yî<�TsÁT �<�Ý, #û³(ÈýÉ¢&�) #ûjáT&��¿ì 12MT. 65

�d+.MT. yî<�TsÁT�<�Ý �|�jîÖÐ+º+~. �yîT �|�jîÖÐ+ºq yîTTÔáï+ yî<�TsÁT�<�Ý bõ&�yî+Ôá?

kÍ<ó�q: �T³¼ #ûjáT&��¿ì �|�jîÖÐ+ºq yî<�TsÁT�<�Ý R 26 MT. 15 �d+.MT.

#û³ #ûjáT&��¿ì �|�jîÖÐ+ºq yî<�TsÁT�<�Ý R (G)12 MT. 65 �d+.MT.

�|�jîÖÐ+ºq yîTTÔáï+ yî<�sÁT�<�Ý bõ&�eÚ 38 MT. 80 �d+.MT.

�<�V�²sÁD`2: z�Týñd�T ÿ¿£ �+{ì¿ì 100 MTöö bõ&�eÚ >·\ ç|�V�²¯qT ¿£³¼&��¿ì ÿ|�ðÅ£�H��&�T. nÔáqT 56 MTöö bõ&�eÚ >·\

ç|�V�²¯qT 7 sÃE\ýË ¿£{²¼&�T. �+¿± m+Ôá bõ&�eÚ ç|�V�²¯ ¿£{²¼*à�+~?

kÍ<ó�q: ¿£³¼e\d¾q ç|�V�²¯ bõ&�eÚ R 100 MT.

¿£{ì¼q ç|�V�²¯ bõ&�eÚ R (`)   56 MT.

|�P]ï #ûjáTe\d¾q ç|�V�²¯ bõ&�eÚ R  44 MT.

�<�V�²sÁD`3: ÿ¿£ qÔáï ÿ¿£ �$Tw�+ýË 30 �d+.MT. <�ÖsÁ+ ¿£<�\>·\<�T. � qÔáï n<û yû>·+ÔÃ 15 �öö\T ¿£~*Ôû m+Ôá <�ÖsÁ+

yîÞøß>·\<�T?

kÍ<ó�q:   qÔáï ÿ¿£ �$Tw�+ýË ¿£<�\>·*Ðq <�ÖsÁ+ R 30 �d+.MT.

qÔáï 15 �$Tw�eTT\ýË ¿£<�\>·*Ðq <�ÖsÁ+ R 30 �d+.MT. I 15

R 450 �d+.MT. ýñ<� 4 MT. 50 �d+.MT.

�<�V�²sÁD`4: l¿£�w�� 1 MT. 50 �d+.MT.\ bõ&�eÚ >·\ >·T&�¦qT eT>·Z+�|Õ Hûd¾+~. �yîT <��� Âs+&�T d�eÖq uó²>±\T>±

#ûjáÖ\+fñ ÿ¿£ d�>·+ m+Ôá bõ&�eÚ+³T+~?

kÍ<ó�q:   l¿£�w�� Hûd¾q >·T&�¦ bõ&�eÚ R 1 MT. 50 �d+.MT.

1 MT. 50 �d+.MT.\qT �d+.MT.\ýË¿ì eÖsÁÌ>± R 100 �d+.MT. G 50 �d+.MT.

R 150 �d+.MT.

>·T&�¦qT Âs+&�T d�eTuó²>±\T>± #û�dï R 150 �d+.MT. ª 2

R 75 �d+.MT.

>·T&�¦ ÿ¿£ d�>· uó²>·+ bõ&�eÚ R 75 �d+.MT.

I) ¿ì+~ y�{ì� Å£L&�+&�.

n) 10 MT. 75�d+.MT. eT]jáTT 6 MT. 65 �d+.MT �) 85 MT. 23�d+.MT.eT]jáTT 68 MT. 79 �d+.MT.

II) ¿ì+~ rd¾yûÔá\T #ûjáT+&�.

n) 25 MT. 25 �d+.MT.\ qT+&� 10 MT.15 �d+.MT. �) 100 MT. qT+&� 64$T.45 �d+.MT

nuó²«d�+ `   2
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III) Multiply the following.
1)  25 m 12 cm × 9              2) 102 m 65cm  ×  46           3) 125 m 83 cm  ×  57

IV) Divide the following.
 1) 40 m 80 cm ÷ 16           2) 100 m 75 cm ÷ 25    3) 337 m 5 cm  ÷   5

V) Solve the following problems.
1. Basha tied two sticks with the lengths of 2 m 50 cm and 1m 75 cm to pluck a

mango from a tree. Find the approximate length of the stick he made.
2. Class 5 students joined two ropes with the lengths of 2 m 75 cm and 3 m 75 cm

to play tug of war. What is the approximate length of the rope they prepared?
3. Class 5 children purchased 45 m colour paper roll to decorate their school on

Independence day. They used 43 m 50 cm roll. How much length of roll was
remaining?

4. Kiran, an electrician used 45 m 70 cm length of electric wire from 50 metre roll for
wiring a house. How much length of wire is left with him?

5. Kumar wants to stitch a saree fall to a 6 m long saree. She has 5 m 50 cm length
saree fall. What should be the length of the saree left without saree fall?

6. David used 90 cm cloth to stitch a blouse. To stitch 5 such blouses, how much
length of cloth does he need?

7. A caterpillar covers 100 cm distance in a minute. How much distance does it
cover in 15 minutes?

8. Swamy shared  20 cm of chocolate bar to 4 members equally. How long will each
piece be?

9.  Aparna wants to cut 2 m length of cloth pieces to make door curtains from 10
metre cloth. How many curtains can she make?

9.1.3 Measuring distances in km

When Ravi was going on bike along with his father, he observed that the digits in one's
place in the Odo - Meter of his bike changed from 0 to 9. After 9 '0' comes in one's
place and the ten's place digit also changed.
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III) >·TDì+#á+&�.

n) 25 MT. 12 �d+.MT. I 9 �) 102 MT. 64 �d+.MT. I 46 �) 125 MT. 83 �d+.MT. I 57

IV) uó²>·V�äs�\T #ûjáT+&�.

n) 40 MT. 80 �d+.MT. ª 16 �) 100 MT. 75 �d+.MT. ª 25 �) 337 MT. 5 �d+.MT. ª 5

V) ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

1) uó²cÍ #î³T¼ �|Õq eÖ$T&� |�+&�T Ôî+|�&��¿ì 2 MT. 50 �d+.MT. eT]jáTT 1 MT 75 �d+.MT. bõ&�eÚ\T >·\

Âs+&�T ¿£çsÁ\qT CË&�+#�&�T. nÔá&�T m+Ôá bõ&�eÚ >·\ ¿£çsÁqT ÔájáÖsÁT#ûXæ&�T? (d�TeÖsÁT>±)

2) 5e ÔásÁ>·Ü $<�«sÁT�\T »»³>́ �|�t y�sYµµ �³ �&û+<�TÅ£� 2 MT. 75 �d+.MT. eT]jáTT 3 MT. 75 �d+.MT. bõ&�eÚ\T

>·\ Âs+&�T Ô�ÞøßqT eTT&�yûXæsÁT. m+Ôá bõ&�eÚ >·\ Ô�&�T ÔájáÖsÁsTT+~? (d�TeÖsÁT>±)

3) 5e ÔásÁ>·Ü |¾\¢\T kÍÇÔá+çÔá«~HÃÔáàe+ sÃE bÍsÄÁXæ\qT n\+¿£]+#á&��¿ì 45 MT³sÁ¢ sÁ+>·T\ ¿±ÐÔá+ ¿=qT>Ã\T

#ûXæsÁT. n+<�TýË 43 MT. 50 �d+.MT. ¿±ÐÔá+ �|�jîÖÐ�dï, $TÐ*q ¿±ÐÔá+ bõ&�yî+Ôá?

4) m\ç¿¡¼w¾jáTH� ¿ìsÁDY 50 MT. bõ&�eÚ >·\ m\ç¿ì¼¿ù ( ¿£Âs+{Ù) r>·ýË qT+&� 45 MT. 70 �d+.MT. qT ÿ¿£ �+{ì¿ì yîÕ]+>́

#ûjáT&��¿ì �|�jîÖÐ+#�&�T. $TÐ*q r>· bõ&�yî+Ôá?

5) Å£�eÖsY 6 MT. bõ&�eÚ >·\ NsÁÅ£� b�ÍýÙ Å£�{²¼\qTÅ£�H��&�T. nÔá� <�>·ZsÁ �q� 5 MT. 50 �d+.MT.\ b�ÍýÙ NsÁÅ£�

Å£�{ì¼Ôû, m+Ôá bõ&�eÚ NsÁÅ£� b�ÍýÙ �+&�<�T?

6) &û$&� ÿ¿£ C²Â¿{Ù Å£�³¼&��¿ì 90 �d+.MT.\ >·T&�¦qT �|�jîÖÐ+#�&�T. ný²+{ì C²Â¿³T¢ �+¿± 5 Å£�{²¼\+fñ m+Ôá

bõ&�eÚ >·T&�¦ ned�sÁeTeÚÔáT+~?

7) ÿ¿£ >=+>·[|�ÚsÁT>·T 1 �ööýË 100 �d+.MT. bÍ¿£>·\<�T. n~ 15 �öö\ýË m+Ôá <�ÖsÁ+ bÍ¿£>·\<�T?

8) kÍÇ$T q\T>·T]¿ì 20 �d+.MT. bõ&�eÚ >·\ #�Â¿¢{Ùu²sYqT |�+#�&�T. ÿ¿=Ø¿£Ø eTT¿£Ø bõ&�yî+Ôá?

9) n|�sÁ� 10 MT³sÁ¢ bõ&�eÚq� >·T&�¦ qT+&� 2 MT³sÁ¢ bõ&�eÚ >·\ Ôá\T|�Ú ¿£Âs¼qT¢ #ûjáÖ\qTÅ£�+~. �yîT � >·T&�¦ÔÃ m��

¿£Âs¼qT¢ #ûjáT>·\<�T?

9.1. 3 <�Ös�\qT ¿ìýËMT³sÁ¢ýË ¿=\e&�+

sÁ$ y�Þøß H�q�ÔÃ d�V�ä yîÖ{²sY �dÕ¿ìýÙ �|Õ yîÞø�ïq�|�ð&�T uÉÕ¿ù ÿ&ÃMT³sY ýË n+Â¿\T 0 qT+&� 9 esÁÅ£� n+Â¿\T

eÖsÁ&�+ >·eT�+#�&�T. ÿ¿£³¢ kÍ�q+ýË 9 Ôás�ÇÔá »0µ eºÌq|�ð&�T |�<�T\ kÍ�q+ýË >·\ n+Â¿ eÖsÁTÔÃ+~.
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He also observed some mile stones on the road side was represented as 0.2 km for 200
m, 0.4 for 400 m likewise. When 2 appeared in the odometer Ravi observed that the bike
reached the 0.2 marked mile stone and so on.

He calculated the distance covered by his father's bike.
He converted 6 km into metres after reaching the village.
Example 1 : Converting 6 km into metres.

1 km = 1000 m
6 km = 6 x 1000 m

= 6000 m

Example  2  :  Convert 3 km and 25 m into metres.

1 km = 1000 m

3 km and 25 m = 3x1000 m + 25 m

= 3000 m + 25 m

= 3025 m

Exercise -  3

I) Do the following.
1) Convert 15 km 500 m into metres.
2) Convert 128 km into metres.
3) Convert 12690 metres into kilometres.
4) Convert 18000 metres into kilometres.

II) Solve the following.
1) A boy comes to school on foot. He has to walk along the path of 400 m beside a

pond, 350 m green field and 450 metres road. How much distance has he covered
to reach the school? How much more is the distance walked, than 1 km?

 1 km = 1000m

 1
2   km = 500 m (half kilometre)

Rampuram
4 km

Rampuram
3 km200 m 400 m 600 m 800 m
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  nÔáqT Ôáq Ôá+ç&� uÉÕ¿ù �|Õ yî[ßq <�Ös��� ýÉ¿ìØ+#�&�T.

n+Ôû¿±¿£ sÁ$ sÃ&�T¦ |�¿£Øq ¿=�� s�Þøß�|Õ 200 MT³sÁ¢Å£� >±qT 0.2 ¿ì.MT, 400 MT³sÁ¢Å£� >±qT 0.4 ¿ì.MT\T>±

s�d¾ �+&�³+ >·eT�+#�&�T. ÿ&ÃMT³sYýË 2 ¿£�|¾+ºq|�ð&�T yîÖ{²sY �dÕ¿ìýÙ 0.2 ¿ì.MT yîT®\Ts�sTT� #ûsÁ&�+ ný²

eÖsÁTÔáÖ bþsTT+~.

sÁ$ ç>±eÖ�¿ì  #ûs�¿£ 6 ¿ì.MT \qT MT³sÁ¢ýË¿ì eÖs�Ì&�T.

�<�V�²sÁD (1) : 6 ¿ì.MT \qT MT³sÁ¢ ýË¿ì eÖsÁÌ+&�.

1 ¿ì.MT R 1000 MTöö

6 ¿ì.MT R 6 I 1000 MT

R 6000 MT

�<�V�²sÁD (2) : 3 ¿ì.MT 25 MT öö \qT MT³sÁ¢ ýË¿ì eÖsÁÌ+&�.

1 ¿ì. MT R 1000 MT.

       3 ¿ì.MT 25 MT R 3 I 1000 MT. G 25 MT.

R 3000 MT. G 25 MT.

R 3025 MT.

nuó²«d�+ -  3

I) �$ #ûjáT+&�.

1) 15 ¿ì.MT. 500 MT\qT MT³sÁ¢ýË¿ì eÖsÁÌ+&�.

2) 128 ¿ì.MT.\qT MT³sÁ¢ýË¿ì eÖsÁÌ+&�.

3) 12690 MT³sÁ¢qT ¿ì.MT.ýË¿ì eÖsÁÌ+&�.

4)  18000 MT³sÁ¢qT ¿ì.MT.\ýË¿ì eÖsÁÌ+&�.

II) ¿ì+~ d�eTd�«\T kÍ~ó+#á+&�.

1) ÿ¿£ nu²ÒsTT �&�¿ì s�e&��¿ì 400 MT. bÍ&�eÚ>·\ ¿=\qT, 350 MT. bõ&�eÚ>·\ bõ\+, 450 MT. bõ&�eÚ>·\

sÃ&�T¦ <�{²*. nsTTÔû nÔáqT �&�¿ìs�e&��¿ì  m+Ôá<�ÖsÁ+ q&�y�*? q&�ºq <�ÖsÁ+ 1¿ì.MT ¿£+fÉ m+Ôá mÅ£�Øe?

 1 ¿ì.MT. R 1000 MT.

 
1
2  ¿ì.MT. R 500 MT. ( nsÁ¿ìýËMT³sÁT)

s�eÖ|�ÚsÁ+

4 ¿ì.MT.

s�eÖ|�ÚsÁ+

3 ¿ì.MT.
200 MT. 400 MT. 600 MT. 800 MT.
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2) Sitamma used 2.50 m bamboo piece to make a sieve and
1.5 m to make a vase. What is the total length of
bamboo stick has she used to make the articles?

3) Roshan travelled 540 km from Anantapur to Vijayawada via Kurnool. Rakesh
travelled 520 km from Anantapur to Vijayawada via Nandyal. Who travelled
more? By how many kilometres?

4) Andhra Pradesh Government sanctioned 5.650 km road to a village. The contrac-
tor covered 1.250 km. What distance is yet to be covered?

5) Banu bought 5 metres of shirting cloth. She used 1.5 m for her elder son Raheem
and 1.2 m  for her younger son Kabeer. What is the length of shirting cloth left
over?

6) Three benches are arranged in a row. The length of each bench is 1m 15 cm.
What is the length of the row?

7) A train covers 50 km distance in an hour. How

much distance does it cover in 12 hours if it

continues the same speed?

8. Rangaiah wants to fence his field around 1500
m. How many kilometres he has to fence?

9. The diameter of Earth (distance from one side to
the other side passing through the centre point)
is 12742 km. Find its radius (radius is half of the
diametre).

Think & Discuss

1. How long is the thread in a reel?
2. Can a kite reel be more than 1 km long?
3. Which height can a plane fly?
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2) dÓÔáeT� 2.50 MT. bõ&�eÚ>·\ yî<�TsÁT�<�ÝqT ÈýÉ¢&� #ûjáT&��¿ì. 1.5 MT. bõ&�eÚ

yî<�TsÁT�<�ÝqT �T³¼ #ûjáT&��¿ì �|�jîÖÐ+º+~. �yîT Âs+&�+{ì¿ì ¿£*|¾ m+Ôá

bõ&�eÚ �<�ÝqT �|�jîÖÐ+º+~?

3) sÃw�H� nq+Ôá|�ÚsÁ+ qT+&� ¿£sÁÖ�\T MT<�T>± $ÈjáTy�&�Å£� 540 ¿ì.MT.\T ç|�jáÖDì+#�&�T. s�¹¿wt q+<�«\

MT<�T>± nq+Ôá|�ÚsÁ+ qT+&� $ÈjáTy�&�Å£� 520 ¿ì.MT.\T ç|�jáÖDì+#�&�T. mesÁT mÅ£�Øe <�ÖsÁ+ ç|�jáÖDì+#�sÁT?

m�� ¿ì.MT.\T mÅ£�Øe?

4) �+ç<ó�ç|�<ûXÙ ç|�uó�TÔáÇ+ ÿ¿£ ç>±eÖ�¿ì 5.650 ¿ì.MT.\ sÃ&�T¦ eT+psÁT #ûd¾+~. ¿±+ç{²¿£¼sY ÿ¿£ Hî\ýË 1.250

¿ì.MT.\ sÃ&�T¦ yû�dï �+¿£qÖ yûjáTe\d¾q sÃ&�T¦ bõ&�yî+Ôá?

5) uó²qT 5 MT. bõ&�eÚ>·\ >·T&�¦ÔÃ 1.5 MT. �|<�Ý Å£�eÖsÁT&�T sÁVÓ²+Å£�, 1.2 MT. ºq� Å£�eÖsÁT&�T ¿£;sY Å£� #=¿±Ø\T

Å£�{ì¼+º+~. �+¿± m+Ôá bõ&�eÚ>·T&�¦ $TÐ*�+³T+~?

6) 3 uÉ+N\T ÿ¿£ esÁTd�ýË neTsÁÌ�&� �H��sTT. ÿ¿£ uÉ+N bõ&�|�Ú 1 MT. 15 �d+. MT. nsTTÔû esÁTd� bõ&�yî+Ôá?

7) ÿ¿£ ÂsÕ\T >·+³Å£� 50 ¿ì.MT.\ <�ÖsÁ+ ç|�jáÖDìd�Tï+~. n<ûyû>·+ÔÃ

n~ 12 >·+³\ýË m+Ôá <�ÖsÁ+ ç|�jáÖDì+#á >·\<�T?

8) sÁ+>·jáT« Ôáq 1500 MT. |�]~ó>·\ bõý²�¿ì ¿£+#î

yûsTT+#�\qTÅ£�H��&�T. nÔáqT m�� ¿ìýËMT³sÁ¢ ¿£+#î

yûsTT+#�*?

9) uó�Ö$T jîTT¿£Ø y�«d�+ (uó�Ö$T �|Õ ÿ¿£ _+<�TeÚ qT+&� eTsÃ¿£

_+<�TeÚÅ£� ¹¿+ç<�+ qT+&� ç|�jáÖDì+#û <�ÖsÁ+) 12742

¿ì.MT.\T. nsTTÔû y�«kÍsÁÆyîT+Ôá?

�ýËº+#áT ` #á]Ì+#áT

1. ÿ¿£ <�sÁ+ ¯\TýË m+Ôá bõ&�eÚ <�sÁ+ �+³T+~?

2. >±*|�³+ m>·¹s�d <�sÁ+ 1 ¿ì.MT. bõ&�eÚ¿£H�� mÅ£�Øe>±

�+³T+<�?

3. $eÖH�\T m+Ôá mÔáTïýË m>·TsÁTÔ�sTT?
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9.2 Measuring mass  (How heavy? How light?)

Abdul went to a kiranashop, and spent sometime there. He observed the
customers and things they were buying.

Write any 5 items usually we buy in kilograms and grams.

Abdul : I want 4 rice packets.
The shop keeper : What type of bags do you want? 25 kg  or 10 kg  bags.
Abdul : I want to buy 25 kilo bags.
The shop keeper : If you buy four such bags, it will be one quintal.

Abdul calculated it.  4 x 25 kg  =  100 kg
Abdul : Then what is a ton?
The shop keeper : The weight of 10 quintals is one ton.

So 1 ton = 10 x 100 = 1000 kg

1 quintal = 100 kg

1 ton = 1000 kg

Items we buy in kilos     Items we buy in grams
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9.2 �sÁTeÚ\qT ¿=\e&�+ (m+Ôá �sÁTeÚ ? m+Ôá Ôû*¿£)

n�TÝýÙ ÿ¿£ ¿ìs�D² n+>·&�¿ì yî[ß ¿=+Ôá�deÚ >·&�bÍ&�T. nÔá&�T ¿=~ÝeT+~�, y�sÁT ¿=+³Tq� ed�TïeÚ\qT >·eT�+#�&�T.

eTq+ ç>±eTT\ýËqT, ¿ìýË ç>±eTT\ýË ¿=Hû 5 ed�TïeÚ\ �|sÁT¢ s�jáT+&�.

n�TÝýÙ : H�Å£� 4 _jáT«+ �kÍï\T ¿±y�*.

¿ìs�D²<�sÁT : mý²+{ì �kÍï\T ¿±y�* ? 25 ¿ìýË\ �kÍïý² ýñ¿£ 10 ¿ìýË\ �kÍïý² ?

n�TÝýÙ : 25 ¿ìýË\ �kÍï\T ¿±y�*.

¿ìs�D²<�sÁT : 25 ¿ìýË\ �kÍï\T 4 nsTTÔû 1 ¿ìÇ+{²\T neÚÔáT+~.

n�TÝýÙ �ý² ýÉ¿ìØ+#�&�T. 4 I 25 ¿ìýË\T R 100 ¿ìýË\T 1 ¿ìÇ+{² R 100 ¿ìýË\T

n�TÝýÙ : eT] ³qT� n+fñ m+Ôá ?

¿ìs�D²<�sÁT : 10 ¿ìÇ+{²Þø�ß nsTTÔû ÿ¿£³qT� neÚÔáT+~.

n+fñ 1 ³qT� R 10 I 100 R 1000 ¿ìýË\T 1 ³qT� R 1000 ¿ìýË\T

  ¿ì.ç>±.\ýË ¿=Hû ed�TïeÚ\T  ç>±eTT\ýË ¿=Hû ed�TïeÚ\T
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Do this :

Do these

 Fill in the blanks with kilos or grams. (One is done for you).

1) My friend weighs 38 Kg

2) A packet of rice weighs 50___________

3) My pen weighs 20______

4) My school bag weighs 3.5____________________

5) A tube of gum weighs 100 ___________

6) My empty water bottle weighs ___________________

Here are some example to convert kilogram into gram and vice versa.

Ex-1: Convert 5 kilograms into grams.

Sol:    1 kilogram = 1000 grams

5 kilos = 5x 1000 grams

            = 5000 grams

Ex-3: Convert 3000 grams into kilograms.

Sol:    1000 grams = 1 kilogram

    3000 grams  = 3000/1000 kilograms

           = 3 kilograms

Ex-2:  Convert 3kg 5 grams into grams

Sol:    1 kilo = 1000 grams

        =3kg 5g = 3x 1000 grams+ 5 grams

= 3005 grams

Ex-4 : Convert 5040 grams into kilograms.

Sol: 1000 grams = 1 kilogram

      5040 grams  = 5040/ 1000 kilograms

         = 5 kilogram 40 grams

I) Convert the kilograms into grams.

(Note: 1 kilogram = 1000 grams)

1)  3 kilograms 2)  34 kg          3)  17 kg 600 g

4)  38 kg 720g 5)  89 kg 540g

II) Convert  grams into kilograms.

 1) 6000 g 2) 7090 g         3)  8069 g

4) 12405 g 5)  2418 g
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�$ #ûjáT+&� :

�$ #ûjáT+&�

¿ì+~ y�{ì� d�Ôá«yîÖ (T), nd�Ôá«yîÖ (F) Ôî\|�+&�. ÿ¿£ yûÞø nd�Ôá«+ nsTTÔû ¿±sÁD+ Ôî\|�+&�.

1) H� �d�V¾²ÔáT&�T/ s�\T �sÁTeÚ 38 ¿ì. ç>±.

2) ÿ¿£ _jáT«+ �kÍï �sÁTeÚ 50 ..........

3) H� ¿£\+ �sÁTeÚ 20 ............

4) H� d�ÖØ\T d�+º (bag) �sÁTeÚ 3.5 .........

5) ÿ¿£ �+¿£ dÓkÍ (gum)  �sÁTeÚ 100 ..........

6) H� U²° úÞøß dÓkÍ (water bottle) �sÁTeÚ ............

¿ì+~ ¿ìýËç>±eTT\qT, ç>±eTT\ýË¿ì eÖsÁÌ&�+, ný²¹> ç>±eTT\qT, ¿ìýË ç>±eTT\ýË¿ì eÖsÁÌ&�+ �|Õ �<�V�²sÁD\T �eÇ�&�q$.

�<�V�²sÁD (1) : 5 ¿ì.ç>±.\qT ç>±eTT\ýË¿ì eÖsÁÌ&�+

kÍ<ó�q : 1000 ç>±. R 1 ¿ìýË ç>±eTT

5 ¿ì.ç>±. R 5 I 1000 ç>±.

R 5000 ç>±.

�<�V�²sÁD(3): 3000 ç>±.\qT ¿ì.ç>± \ýË¿ì eÖsÁÌ&�+

kÍ<ó�q : 1000 ç>±. R 1 ¿ì.ç>±.

3000 ç>±. R 3000/1000 ç>±.

R 3 ¿ì.ç>±.

 �<�V�²sÁD(2) : 3 ¿ì.ç>±. 5 ç>±. \qT ç>±.ýË¿ì

 kÍ<ó�q : 1 ¿ì. ç>±. R 1000 ç>±.

           3¿ì.ç>±. 5 ç>±. R 3I1000ç>±.G5 ç>±.

R 3000 G 5 ç>±.

R 3005 ç>±.

�<�V�²sÁD (4) : 5040 ç>±. \qT ¿ì.ç>±.\ ýË¿ì eÖsÁÌ&�+

kÍ<ó�q : 1000 ç>±. R 1¿ì ç>±.

5040 ç>±. R 5040/ 1000 ¿ì.ç>±.

R 5 ¿ì.ç>±. 40 ç>±.

I) ¿ìýË ç>±eTT\qT ç>±eTTý ýË¿ì eÖsÁÌ+&�.

1)  3 ¿ì.ç>±. 2)  34 ¿ì.ç>±. 3)  17 ¿ì.ç>±. 600 ç>±.

4)  38 ¿ì.ç>±. 720ç>±. 5)  89 ¿ì.ç>±. 540 ç>±.

II) ç>±eTT\qT ¿ì. ç>± \ýË¿ì eÖsÁÌ+&�.

1)  6000 ç>±. 2)  7090 ç>±. 3)  8069 ç>±.

4)  1240 ç>±. 5)  2418 ç>±.
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Exercise - 4
1) Add the following:

a) 13 kg 420 g and 24 kg 600 g            b) 79 kg  969 g and 98 kg 327 g
2) Subtract the following:

a) 235 kg 250 g from 355 kg 450 g    b) 21 kg 62 g from 160 kg 330 g
3) Multiply the following:

a) 8 kg 750 g x 12         b)  475 kg x 16       c) 9850 g x 25
4) Make the divisions:

a) 7500 kg ÷ 20           b) 6600 g ÷ 15 c) 150 kg 30 g ÷ 30
5) Subbaiah harvested 120 kg ladies fingers, 520 kg ridge gourds and 150 kg tomatoes.

How much weight of vegetables has he yielded?
6) Farhana purchased 2 kg 500 g laddoos, 1 kg honey cake, 750 g jamoon and 500 g

jilebi. How much weight of sweets has she purchased?
7) Helen buys a school bag that weighs 700 g. After keeping the class books in her bag

it weighs 3 kgs. Find the weight of the books.
8) Shafi purchases 22 kg idly ravva for his canteen. If he used 18 kg 500 g ravva in one

day, how much ravva will be left with him?
9) Samson lifted 150 kg weight and Somi Reddy lifted 2 quintals. Who lifted more

weight? By how much?
10) A worker in a biscuit factory has to pack 25.500 kg biscuits in a carton. What will be

the weight of 15 cartons of biscuits?
11) Sarala uses 50 g coffee powder in a week for household. How much coffee powder

should Sarala buy for one month? (30 days)
12) Sarma packs food packets 550 g. each. If he packs 20 such food packets, how

much food has he packed?
13) A piece of wood weighs 24 kg. The wood cutter wants three equal pieces from it.

How much weight each piece would it be?
14) I have 10 packets of rice that weigh 500 kgs. What is the weight of one packet?
15) A vegetable seller sells 3 kilos of brinjals for `60. What is the cost of one kilo

brinjals?

For All Classes New Text Books Open Below Link 
 https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



>·DìÔá+ÔÃ >·eT�ÔáTï   ÔásÁ>·Ü ` 5153

nuó²«d�+ `   4

1) Å£L&�¿£\T #ûjáT+&�.

n)  13 ¿ì.ç>±. 420 ç>±. eT]jáTT 24 ¿ì.ç>±.  600 ç>±.

�)  79 ¿ì.ç>±. 969 ç>±. eT]jáTT 98 ¿ì.ç>±. 327 ç>±.

2) rd¾yûÔá\T #ûjáT+&�.

n)  355 ¿ì.ç>±. 450 ç>±. qT+&� 235 ¿ì.ç>±. 250 ç>±.

�)  160 ¿ì.ç>±. 330 ç>±. qT+&� 21 ¿ì.ç>±. 62 ç>±.

3) >·TDì+#á+&�.

n)  8 ¿ì.ç>±. 750 ç>±. I 12             �)  475 ¿ì.ç>±. I 16 �)  9850 ç>±  I 16

4) uó²>·V�äs�\T #ûjáT+&�.

n)  7500 ç>±. ª 20 �)   6600 ç>±. ª 15 �)  150 ¿ì.ç>± 30 ç>±. ª 30

5) d�T�ÒjáT« Ôáq bõ\+ýË 120 ¿ì.ç>±. uÉ+&�¿±jáT\T,520 ¿ì.ç>±. ;sÁ¿±jáT\T, 150 ¿ì.ç>±. {¤eÖ{Ë\T |�+&�+ºq

yîTTÔáï+ ¿±jáT>·ÖsÁ\ �sÁTyî+Ôá?

6) |��s�½H� 2 ¿ì.ç>±. 500 ç>±. \&�Ö¦\T, 1 ¿ì.ç>±. V�²ú¹¿¿ù, 750 ç>±. C²eTÖH�, 500 ç>±. �ýñ_ ¿=q�~. �yîT m+Ôá

�sÁTeÚ>·\ dÓÇ³T¢ ($TsÄ�sTT\T) ¿=q�~?

7) �V²ýÉH� 700 ç>±. �sÁTeÚq� ÿ¿£ d�ÖØ\T u²«> ́(d�+º) ¿=q�~. n+<�TýË ÔásÁ>·Ü |�Úd�ï¿±\T �+º #áÖ�dï d�+º �sÁTeÚ

3 ¿ìýË\Tq�~. |�Úd�ï¿±\ �sÁTeÚ m+Ôá?

8) w�|�¾ Ôáq ¿±«+{¡H� ¿Ãd�+ 22 ¿ì. ç>±.\ �&�¢ sÁeÇ ¿=H��&�T. nÔá&�T ÿ¿£ sÃEýË 18 ¿ì. ç>±. 500 ç>±. sÁeÇ

$�jîÖÐ�dï $TÐ*q sÁeÇ m+Ôá?

9) Xæ+d�H� 150 ¿ì.ç>±. �sÁTeÚqT, kþ$TÂs&�¦ 1 ¿ìÇ+{²ýÙ\ �sÁTeÚqT mÔ�ïsÁT. mesÁT mÅ£�Øe �sÁTeÚ mÔ�ïsÁT? m+Ôá

�sÁTeÚ?

10) ÿ¿£ _�dØ{Ù b�Í¿£¼̄ ýË |��#û�d e«¿ìï 25.500 ¿ì. ç>±. �sÁTeÚ >·\ _�dØ³¢qT ÿ¿£ bÍØÂ¿{Ù ýË d�s�Ý*. ný² 15

bÍ«Â¿³¢ýË m+Ôá �sÁTeÚq� _�dØ³¢qT d�sÁÝe#áTÌ?

11) d�sÁÞø Ôáq �+{ìýË sÃEÅ£� 50 ç>±. ¿±|�Ó bå&�sYqT �|�jîÖÐd�Tï+~. �yîT ÿ¿£ Hî\ýË m+Ôá ¿±|�Ó bå&�sYqT $�jîÖÐd�Tï+~?

(30 sÃE\T)

12) XøsÁ� 550 ç>±. �sÁTeÚq� nq�+ bÍ«Â¿³¢qT neTT�Ô�sÁT. ný²+{ì$ 20 bÍ«Â¿³¢qT ÔájáÖsÁT#û�dï, m+Ôá �sÁTeÚq�

�V�äs��� bÍ«¿ù #ûjáÖ* ?

13) ÿ¿£ <�T+>· �sÁTeÚ 24 ¿ì. ç>±. <��� eTÖ&�T d�eÖq uó²>±\T>± $uó���dï, ÿ¿=Ø¿£Ø eTT¿£Ø �sÁTeÚ m+Ôá?

14) 10 _jáT«+ �kÍï\ �sÁTeÚ 500 ¿ì.ç>±. nsTTÔû ÿ¿£ �kÍï �sÁTeÚ m+Ôá?

15) ÿ¿£ Å£LsÁ>±jáT\ y�«bÍ] 3 ¿ìýË\ e+¿±jáT\T ` 60 \Å£� neÖ�&�T. ÿ¿£Ø ¿ìýË e+¿±jáT\ <ó�sÁ m+Ôá?
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Think & Discuss

In how many ways can a vegetable vendor weigh 1 kilo beans by using the weights 500 g,
200 g, 100 g and 50 g ? (Use the weights second time if needed.)

Project :

Make sample weights with sand and cover or with empty paste tubes and sand. (Go to a
grocery shop. Bring the weights. Use the weights and prepare same weights with sand and
cover.)

 Do you know!
 Converting 3 kilograms into milligrams.

Kilogram = 1 x 1,000 grams, (1 gram = 1÷1,000 kilograms)
Kilo means 1,000
Milli means 1÷1,000 (thousandth part of a gram)
First we have to change kg to grams.
3 kilograms is equal to 3 times of 1,000 grams.
That equals 3,000 grams.
1 milligram is equal to 1÷1,000 grams (vice versa 1 gram = 1,000 mg)
So 3,000 g = 3,000 x 1,000 milli grams = 30,00,000 milli grams.

9.3 Measuring liquids (Sharing payasam in Litres and milliliters)

   The animals in
the forest decided

to celebrate
'Forest Day'.
   Hence it is

announced that all
the animals have to

attend the
celebrations.
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çbÍCÉ¿ù¼ |��  :`

bÍÔá �|dt¼ ³Ö«uÙ\T, ¿£esÁT¢, �d�T¿£ �|�jîÖÐ+º qeTÖH� �sÁTeÚ\qT ÔájáÖsÁT #ûjáT+&�. (¿ìs�D² cÍ|�ÚÅ£� yî[ß ÔáÖ�¿£

s�ÞøßqT Ôî#áTÌÅ£�� y�{ì <�Çs� ÔájáÖsÁT#ûjáT+&�)

 MTÅ£� Ôî\TkÍ !

 3 ¿ì. ç>± \qT $T©¢ ç>±eTT\ýË�¿ì eÖsÁÌ&�+

1 ¿ìýË ç>±eTT R 1 I 1000 ç>±öö (1 ç>±. R 1/1000 $T.ç>±.)

¿ìýË nq>± 1000

$T.©. nq>±, 1/1000 (ç>±eTTýË yîjáT«e e+ÔáT)

yîTT<�³ ¿ì.ç>± \qT ç>±. \ýË¿ì eÖsÁÌ&�+

3 ¿ì.ç>±. 3 I 1000 R 3000 ç>±.

1 $T.©. ç>±eTTÅ£� R (1ª 1000) 1/1000 ç>±. (1ç>±. R 1000 $T.ç>±. )

¿±eÚq 3000 ç>±.\qT $T.ç>±.\ýË¿ì eÖ]�dï

3000 ç>±. R 3000 I 1000 ç>±. R 30,00,000 $T©¢ç>±eTT\T.

9.3 ç<�y�\qT ¿=\e&�+ (bÍjáTkÍ�� ©³sÁ¢ýË, $T©¢©³sÁ¢ýË |�+#á&�+)

   n&�$ýË �q�

 È+ÔáTeÚ\ú� ÿ¿£kÍ]

»»n&�$ ~HÃÔáàe+µµ

   ÈsÁT|�Ú¿Ãy�\�

�sÁ �sTT+#áT¿=H��sTT.

¿±eÚq n�� È+ÔáTeÚ\T

� �Ôáày�\Å£� Ôá|�Î�

d�]>± V�äÈsÁT¿±y�\�

ç|�¿£{ì+#�sTT.

ÿ¿£ y�«bÍ] 500 ç>±. 200 ç>±. 100 ç>±. eT]jáTT 50 ç>±. ÔáÖ�¿£ s�ÞøßqT �|�jîÖÐ+º 1 ¿ìýË �sÁTeÚqT m��

sÁ¿±\T>± ÔáÖjáTe#áTÌ? (s�ÞøßqT ned�sÁyîT®Ôû 2 e kÍ] �|�jîÖÐ+#áe#áTÌ)

�ýËº+#áT ` #á]Ì+#áT
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To make the occasion special it is suggested to prepare payasam for everyone. The

king of the jungle announced that it will sponsor the payasam for everyone.

On that day

The elephant drank ___________  litres.

The tiger drank ______________  litres.

The squirrel wanted only 500 millilitres. The cat poured the one litre payasam in a

bottle by mistake. The fox got angry and shouted at the cat for wasting.

How much payasam will be wasted? ________

All the animals enjoyed the payasam. At last a group of ants came. The cat felt sad.

The payasam was fnished. The elephant said no need to feel sad. As the ants can drink

only 1ml. each. The Payasam left over after the squirrel for drink will be enough for the

ants.

Which animal drank more quantity of Payasam?

Who drank the least quantity of Payasam?

Use the appropriate unit (Litre or milliliter) for the following:

Tea in a teacup   _________    Shampoo in a sachet   ________

Cough Syrup in the spoon _________ Water in a water tank   ________

Oil in oil packet  _________ Water in a bucket      ________

The fox drank 2 L payasam. The squirrel tried to convert into millilitres. Now let's convert

2 L into millilitres.

Solution:

The payasam drank by the fox  = 2 L

Measuring 2L in millilitres   = 2 x1000 ml  = 2000 ml

We know that 1L = 1000 ml
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� sÃEq ç|�Ôû«¿£+>± n+<�]¿Ãd�+ bÍjáTd�+ #ûjáÖ\� nqTÅ£�H��sTT. n&�$¿ì s�s�CÉÕq d¾+V�²+ bÍjáTkÍ�¿ì njûT«

KsÁTÌ yîTTÔáï+ Ô�Hû uó�]kÍïq� ç|�¿£{ì+º+~.

»»� sÃEqµµ

@qT>·T ............... ©³sÁ¢ bÍjáTd�+ Ô�Ð+~.

|�Ú* ............... ©³sÁ¢ bÍjáTd�+ Ô�Ð+~.

�&�TÔá 500 $T.©.\ bÍjáTd�+ eÖçÔáyûT ¿±y�\+~. ¿±ú |¾*¢ bõsÁbÍ³Tq 1 ©. bÍjáTd�+ dÓkÍýË bþ�dd¾+~. q¿£Ø

¿Ã|�+>± m+<�TÅ£� bÍjáTkÍ�� e�<¸� #ûkÍïe� |¾*¢� ¿Ã|�Î&�+~.

m+Ôá bÍjáTd�+ e�<̧� nsTT«+~ ? ...........

n�� È+ÔáTeÚ\T �q+<�+>± bÍjáTd�+ Ô�>±sTT. ºesÁ>± ÿ¿£ NeT\ >·T+|�Ú eºÌ+~. |¾*¢ bÍjáTd�+ nsTTbþsTT+<��

u²<ó�|�&�+~. ¿±� @qT>·T u²<ó�|�&�*àq ned�sÁ+ ýñ<�� NeT\T ÿ¿=Ø¿£Ø{ì 1 $T.©. eÖçÔáyûT Ô�>·>·\e� #î|¾Î+~

�&�Ôá Ô�>·>± $TÐ*q bÍjáTd�+ NeT\Å£� d�]bþÔáT+<�� #î|¾Î+~.

n¿£Ø&�¿ì 200 NeT\T e#�ÌsTT. y�{ì¿ì m+Ôá bÍjáTd�+ ned�sÁ+? ..............

n��+{ì¿£+fñ mÅ£�Øe bÍjáTd�+ Ô�Ð+~ mesÁT ?

n��+{ì¿£+fñ ÔáÅ£�Øe bÍjáTd�+ Ô�Ð+~ mesÁT ?

U²°\qT d�]jî®Tq ¿=\Ôá (©³sÁT ýñ<� $T*¢ ©³sÁT) ÔÃ �+|�+&�:

{¡ ¿£|�ðýË� {¡ |�]eÖD+ .............. cÍ+|�P bÍÂ¿{Ù ýË� cÍ+|�P |�]eÖD+ ............

d�ÖÎqT ýË� <�>·TZ {²�¿ù ................ úÞøß {²«+Å£�ýË� úÞø�ß .................

qÖHî bÍ«Â¿{Ù ýË�  qÖHî ............. �Â¿{Ù ýË� úÞø�ß ..........

q¿£Ø 2 ©. \ bÍjáTd�+ Ô�Ð+~. �&�TÔá <��� $T. ©. \ýË¿ì eÖsÁÌ&��¿ì ç|�jáTÜ�+º+~. 2 ©. \qT $T.©.\ýË¿ì

eÖsÁÌ>±

kÍ<ó�q :`

q¿£Ø Ô�Ðq bÍjáTd�+ |�]eÖD+ R 2 ©.

2 ©. ÔáqT $T.©. ýË¿ì eÖsÁÌ>± R 2 I 1000 $T. ©.

R 2000 $T. ©.

1 ©. R 1000 $T.©.
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 Exercise - 5

I) Convert the following into millilitres:

1) 5 L 2) 15 L 3) 38.5 L 4) 82.7 L

II) Compare the given measurements by using <, > and = symbols.

1. 200 ml 100 ml +100 ml +100 ml

2. 3 L 500 ml +500 ml +500 ml +500 ml +500 ml +500 ml

3. 100 L 20 L +20 L +10 L+ 50 L

4. 150 ml 50 ml +60 ml +20 ml

5. 20 ml 5 ml + 2 ml + 15 ml

   1.    Capacity of each cup is  _________

   2.    Capacity of each small bottle is  _____

   3.    Capacity of each can is ________

   4.    Capacity of each tumbler is _______

III) Calculate the capacity.

IV) Add the following:

1) 12 L 100 ml and 8 L 725 ml 2) 93 L 450 ml and 675 ml

3) 20 ml 33 L 823 ml and 45 L 202 ml 4) 15 L and 500 ml

V) Subtraction:

1) 83 L 103 ml from 98 L 208 ml 2) 16 L 540 ml from 75 L 725 ml

3) 2 L 208 ml from 10 L 425 ml 4) 33 L 98 ml from 42 L 250 ml

600 ml

1L

2L

800 ml
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nuó²«d�+ `    5

1) ¿ì+~ y�{ì� $T.©. \ýË¿ì eÖsÁÌ+&�.

n) 5 ©. �) 15 ©. �) 38.5 ©. �) 82.7 ©.

2) ¿ì+~ �eÇ�&�q ¿=\Ôá\ ÈÔá\qT <, > eT]jáTT R >·TsÁTï\qT �|�jîÖÐ+º bþ\Ì+&�.

n. 200 $T.©.   100 $T.©G100 $T.©.

�. 3 © .   500 $T.©.G500 $T.©.G 500 $T.©.G 500 $T.©.G500 $T.©.G500 $T.©.

�. 100 ©.   20 ©.G20 ©.G10 ©.G50 ©.

�. 150 ©.   50 $T.©.G60 $T.©.G20 $T.©.

5. 20 $T©   5 $T.©G2 $T.©G15 $T.©.

   n. ÿ¿ÃØ¿£|�ÚÎ |�]eÖD+.

   �. ºq� dÓkÍ |�]eÖD+.

   �. ºq� &�u²Ò |�]eÖD+.

  �. >±¢d�T |�]eÖD+.

3) |�]eÖD²�� ýÉ¿ìØ+#á+&�.

4) Å£L&�+&�.

n) 12 ©. 100 $T.©. eT]jáTT 8 ©.725 $T.©. �) 93 ©. 450 $T.©. eT]jáTT 675 $T.©.

�) 33©. 823 $T.©. eT]jáTT 45 ©. 202 $T.©. �) 15 ©. eT]jáTT 500 $T.©.

5) rd¾yûjáT+&�.

n) 98 ©. 208 $T.©.\ qT+&� 83 ©. 103 $T.©. �) 75 ©. 725 $T.©. \ qT+&� 16 ©. 540 $T.©.

�) 10 ©. 425 $T.©.\ qT+&� 2 ©. 208 $T.©. �) 42 ©. 250 $T.©. \ qT+&� 33 ©. 98 $T.©.

600 $T©

1 ©

2 ©

800 $T©
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6) Nagaraju used 2 L 220 ml blue paint,

3 L 500 ml white paint and 750 ml

red paint to paint a house. How much

paint did he use?

7) Samson has a cow and a buffalo. Cow

gives 3 L 500 ml of milk and the

buffalo gives 5 L 680 ml of milk per

day. How much milk did Samson get

from both of them?

8) A milkman sells 20 litres of milk to a

tea stall. Tea seller uses 15 L 125 ml

milk to make tea.  How much milk is

left in the can?

9) An old model toilet flushes 8 litres of
water. Modern toilet flushes 3.5 L of
water. How many litres of water we can
save for each flush with modern toilet?

10) An elephant drinks 190 litres of water
per day. How many litres does it drink in
one month?
(Take 1 month = 31 days)
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6) H�>·s�E 2 ©. 220 $T.©. ú\+ sÁ+>·T, 3 ©.

500 $T.©. Ôî\T|�Ú sÁ+>·TqT eT]jáTT 750 $T.©.

msÁT|�ÚsÁ+>·T �|sTT+{Ù \qT ÿ¿£ �+{ì¿ì

$�jîÖÐ+#�&�T. nÔáqT m+Ôá �|sTT+{Ù

$�jîÖÐ+#�&�T?

7) Xæ+d�H� <�>·ZsÁ >·\ �eÚ ÿ¿£ sÃEÅ£� 3 ©. 500 ©. bÍ\T,

¹>Â< 5 ©. 680 $T.©.\ bÍ\T �kÍïsTT. nsTTÔû Xæ+d�H�

Âs+&�+{ì qT+&� m�� bÍ\T �d¿£]kÍï&�T?

8) ÿ¿£ bÍ\ y�«bÍ] ÿ¿£ {¡ kÍ¼ýÙ Å£� 20 ©. bÍ\T

bþkÍï&�T. {¡ kÍ¼ýÙ ýË� e«¿ìï 15 ©. 125 $T.©.\

bÍ\T $�jîÖÐ�dï, ¿±«H� ýË $TÐýñ bÍýÉ��?

9) bÍÔá sÁ¿£+ {²sTTýÉ{ÙÅ£� 8©. úsÁT ned�sÁ+. ¿=Ôáï

{²sTTýÉ{ÙÅ£� 3.5 ©. úsÁT ned�sÁ+. nsTTÔû ¿=ÔáïsÁ¿£+

{²sTTýÉ{Ù ÿ¿£ØkÍ]¿ì m�� ©³sÁ¢ ú{ì� �<� #ûd�Tï+~?

10)  ÿ¿£ @qT>·T sÃEÅ£� 190 ©³sÁ¢ úsÁT Ô�>·TÔáT+~.

Hî\ sÃE\Å£� <��¿ì m�� ©³sÁ¢ úsÁT

ned�sÁeTeÚÔ�sTT?

(1 Hî\ R 31 sÃE\T>± rd�T¿Ã+&�.)
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11) John sells one ice cream cup containing 150 ml
ice cream. If he sells18 such ice cream cups, find
the total capacity of ice cream?

12) A juice bottle contains 2.2 L of juice. How
many  200 ml glasses are needed to pour
it completely?

13) Reshma observed that one shampoo sa-
chet contains 5 ml shampoo. To fill 400
ml bottle how many sachets are needed?

Fun Maths

Observe the pictures, follow the instructions and find out the answer.

The amount of milk in mug A is 300 ml more than that in B.
The amount of milk in mug B is 400 ml less than that in C.
The amount of milk in mug A is 100 ml more than that in C.
Find the amount of milk in three mugs. (Mug B is having 700 ml.)

Project : Collect the following information from your class students and fill in the table.

 S. No.   Name of the student    Height     Weight of his / her bag    Water in his bottle

    1.

    2.

    3.

    4.

    5.

A B C
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11) C²H� 150 $T.©. ×dtç¿¡y�T ¿£|�ð\qT neTT�Ô�&�T. ÿ¿£ yûÞø

nÔáqT ný²+{ì$ 18 ¿£|�ð\qT n$T�Ôû m+Ôá |�]eÖD+

>·\ ×dt ç¿¡y�TqT n$T�q³T¼?

12) ÿ¿£ |�ÞøßsÁd�+ dÓkÍýË 2.2 ©. sÁd�+ �+~. �|�Þøß

sÁkÍ�� m�� 200 $T.©. |�]eÖD+>± ¿£|�ð\ýË

�+|�e#áTÌ?

13) ¹scÍ� ÿ¿£ cÍ+|�P bÍ«Â¿{Ù ýË 5 $T.©. cÍ+|�P

�+<�� >·eT�+º+~. 400 $T.©.\ dÓkÍqT �+|�&��¿ì

m�� cÍ+|�P bÍ«Â¿{Ù\T ned�sÁ+ neÚÔ�sTT?

$HÃ<� >·DìÔá+

¿ì+~ d�Ö#áq\qT nqTd�]+º d�]jî®Tq d�eÖ<ó�H��� ¿£qT>=qTeTT.

 B  eT>́ýË ¿£H��  A  eT>ý́Ë 300 $T.©. mÅ£�Øe bÍ\T �H��sTT.

 B  eT>́ýË ¿£H��  C eT>´ýË  400 $T.©. mÅ£�Øe bÍ\T �H��sTT.

 A  eT>́ýË ¿£H��  C  eT>´ýË  100 $T.©. mÅ£�Øe bÍ\T �H��sTT.

 ÿ¿=Ø¿£Ø eT>́ ýË �q� bÍýÉ��? (B  eT>́ýË 700 $T.©. bÍ\TH��sTT).

çbÍCÉ¿ù¼ : MT ÔásÁ>·ÜýË� $<�«sÁTÆ\ $es�\ÔÃ ç¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

e. d�+K« $<�«]Æ �|sÁT mÔáTï d�ÖØ\T u²«>´ �sÁTeÚ   ú{ì dÓkÍýË >·\ úsÁT

    1.

    2.

    3.

    4.

    5.

A B C
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Do these

10.1 AM and PM
Mahitha's sister attended an interview in Rajahmundry and returned home in Eluru

that evening.
Mahitha : How was your Journey?
Sister : It was pleasant. It took 2 hours to Rajahmundry and 105 minutes for the

return journey.
Mahitha : You mean it took 120 minutes to go to Rajamundry, 1 hour 45 minutes for the

return journey.
Sister : Yes.

1. Mahitha's sister started at 6:30 in the morning and travelled for 2 hours. What time
did she reach Rajahmundry?

2. Mahitha's sister started at 3:00 in the afternoon and travelled for 1 hour 45 minutes.
At what time did she reach Eluru?

3. How much time did she take for the travel? (to and fro)

Chapter
Time
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�$ #ûjáT+&�

n<ó�«jáT+

¿±\+

10.1 A.M. eT]jáTT P.M.

eTV¾²Ôá y�Þøß n¿£Ø s�ÈeT+ç&�ýË eTTU²eTTÏ¿ì (interview) V�äÈÂsÕ kÍjáT+çÔ��¿ì @\ÖsÁTýË �q� y�] �+{ì¿ì

e#ûÌd¾+~.

eTV¾²Ôá : ç|�jáÖD+ mý² kÍÐ+~ ?

n¿£Ø : s�ÈeT+ç&�¿ì yîÞøß&��¿ì 2 >·+³\T, Ü]Ð s�e&��¿ì 105 �$TcÍ\T |�{ì¼+~.

eTV¾²Ôá : n+fñ s�ÈeT+ç&�¿ì yîÞøß&��¿ì 120 �$TcÍ\T, s�e&��¿ì 105 �$TcÍ\T (1 >·+öö 45 �öö\T) |�{ì¼+~.

¿£<�Ö !

n¿£Ø : neÚqT.

1. eTV¾²Ôá y�Þøß n¿£Ø �<�jáT+ 6:30 >·+öö\Å£� �jáT\T<û] 2 >·+³\T ç|�jáÖDì+º+~. �yîT @ d�eTjáÖ�¿ì s�ÈeT+ç&�

#û]+~ ?

2. eTV¾²Ôá y�Þøß n¿£Ø eT<ó�«V�²�+ 3:00 >·+öö\Å£� �jáT\T<û] 1 >·+öö 45 �öö\T ç|�jáÖDì+º+~. �yîT @ d�eTjáÖ�¿ì

@\ÖsÁT #û]+~ ?

3. �yîT yîTTÔáï+ m�� >·+³\T ç|�jáÖD+ #ûd¾+~ ?
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Mahitha observed the timing
board of a library and got confused
about AM, PM while returning from
school. She asked her sister for clarifi-
cation.
Sister  : The time from midnight 12 O' clock to 12 noon is written as  AM and time from
noon to midnight is written as PM.

These are shortened form of 'Ante Meridian' and 'Post Meridian'.
AM  (Ante Meridian)
PM  (Post Meridian)

D Now can you tell the working hours of the Library?

AM : Before 12 Noon. It means from midnight 12 to before 12 noon.
PM : After 12 Noon.  It means from 12 noon to before midnight 12.

 Activity - 1

Look at the event, observe the clock and decide its time AM or PM. Note it in the
box given.

Library Timings
8 am - 11 am
2 pm - 6 pm
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eTV¾²Ôá bÍsÄÁXæ\ qT+&� Ü]Ð e#ûÌ³|�Ú&�T ýÉÕç�¯

|��yûÞø\T >·\ d�Öº¿£ýË AM, PM nHû n¿£�s�\T

#áÖd¾ Ü¿£eT¿£|�&�+~. n¿£ØqT d�+<ûV�ä�� rsÁÌeT�

n&�Ð+~.

n¿£Ø : eT<ó�«s�çÜ 12 >·+öö\ qT+&� eT<ó�«V�²�+ 12 >·+öö\ esÁÅ£� >·\ d�eTjáÖ�� AM >±qT, eT<ó�«V�²�+ 12 >·+öö\ qT+&�

eT<ó�«s�çÜ 12 >·+öö\ esÁÅ£� >·\ d�eTjáÖ�� PM >±qT d�ÖºkÍï+.

AM, PM \T nHû$ eT<ó�«V�ä��¿ì eTT+<�T, ÔásÁTy�Ôá\qT d�Öº+#û d�+¿ì�|�ï sÁÖbÍ\T.

AM ` eT<ó�«V�ä��¿ì eTT+<�T (Ante Meridian)

PM ` eT<ó�«V�ä��¿ì ÔásÁTy�Ôá (Post Meridian)

D �|�ð&�T ýÉÕç�¯ |��yûÞø\qT Ôî\|�+&�.

AM ` eT<ó�«V�ä��¿ì eTT+<�T (eT<ó�«s�çÜ 12 >·+öö\ qT+&� eT<ó�«V�²�+ 12 >·+öö\ esÁÅ£�)

PM `eT<ó�«V�²�+ Ôás�ÇÔá (eT<ó�«V�²�+ 12 >·+öö\ qT+&� eT<ó�«s�çÜ 12 >·+öö\ esÁÅ£�)

¿£�Ôá«+  `     1

¿ì+~ ºçÔ�\ýË� |�qT\T, n$ ÈsÁT>·TÔáTq� d�eTjáT+ >·&�jáÖsÁ+ýË #áÖd¾ AM ýñ<� PM �s��]+º, ç|�¿£ØqTq�

>·&�ýË s�jáT+&�.

ç>·+<̧�\jáT+ |��yûÞø\T :

8 am - 11 am
2 pm - 6 pm
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Do these

Children, fill in the
table with your

daily life activities.

Daily activity Time

06:00

am / pm

amEg : Wake up time
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�$ #ûjáT+&�

|¾\¢\Ö ! MT ~q#ásÁ«ýË�

¿£�Ô�«\ÔÃ |�¿£ØqTq�

|�{ì¼¿£qT �+|�+&�.

~q#ásÁ« d�eTjáT+

06:00

am / pm

am�<� : �ç<�ýñ#û d�eTjáT+
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By the time Raju and his father entered into the railway station, Raju observed that the

digital clock is displaying 18:06 hours. He got confused and asked his father.

Father : We use 12 hours format but the railway department uses 24 hours format. This

helps to confirm whether arrival or departure of a train is after noon or before

noon.

Raju : So we use 24 hours format because we have 24 hours per day. Am I right?

Father : Yes, you are right.

In 12 hour clock we read the time after

12 noon as 1 pm, but in

24 hour clock we read as 1 + 12 = 13,

13 hours. Similarly we read 3 pm as 3

+ 12 = 15, 15 hours. With 12 hour clock

the pm time is found by adding 12

hours to the time shown in the clock.

Railway Station Digital clock [18:06]

Time ®  24 hour clock time Time  ®    24 hour clock time

 Hours

Noon Midnight

 Hours

 Hours

 Hours

 Hours

 Hours

 Hours

 Hours

 Hours

 Hours
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s�E eT]jáTT y�ÞøßH�q�>±sÁT ÂsÕýñÇ�d¼w�H�ýË¿ì ç|�yû¥+#û³|�Ú&�T s�E ÿ¿£ &��³ýÙ >·&�jáÖsÁ+ýË 18:06 nq� d�eTjáT+

#áÖXæ&�T. nsÁ�+¿±¿£ H�q�>±]� n&�>±&�T.

H�q� : kÍ<ó�sÁD+>± eTq+ 12 >·+öö\ >·&�jáÖs��� �|�jîÖÐkÍï+. ¿±ú ÂsÕýñÇ $uó²>·+ y�sÁT 24 >·+öö\ d�eTjáÖ��

�|�jîÖÐkÍïsÁT. � $<ó�q+ e\¢ ÂsÕ\T s�¿£bþ¿£\T �<�jáTeÖ, eT<ó�«V�²�eÖ nHû~ ¿£ºÌÔá+>± Ôî\Td�Tï+~.

s�E : sÃEÅ£� 24 >·+öö\T ¿±eÚq eTq+ 24 >·+öö\ >·&�jáÖsÁ+ �|�jîÖÐkÍïeTq� eÖ³. neÚH� ?

H�q� : neÚqT. qTeÇq�~ �ÈyûT.

12 >·+³\ >·&�jáÖsÁ+ýË eT<ó�«V�²�+ 1 >·+³qT 1

PM n� #î�TÔ�+. ¿±ú 24 >·+öö\ >·&�jáÖsÁ+ýË

12 G 1 R 13 >·+öö\T n� #á<�TeÚÔ�+. ný²¹>

3 PM qT 12 G 3 R 15 >·+öö\T n� #á<�TeÚÔ�+.

eT<ó�«V�²�+ 12 >·+öö\T Ôás�ÇÔá PM sÁÖ|�+ýË #î�|Î

d�eTjáÖ�¿ì 12 >·+öö\T ¿£*|¾Ôû 24 >·+öö\T d�eTjáT+

Ôî\Td�Tï+~.

ÂsÕýñÇ�d¼w�H� &��³ýÙ >·&�jáÖsÁ+ [18:06]

�<�jáT+ 12 >·+öö\ d�eTjáT+
® 24 >·+öö\ >·&�jáÖsÁ+ d�eTjáT+

eT<ó�«V�²�+ 12 >·+öö\ d�eTjáT+
® 24 >·+öö\ >·&�jáÖsÁ+ d�eTjáT+

>·+öö

>·+öö

>·+öö

>·+öö

>·+öö

>·+öö

>·+öö

>·+öö

>·+öö

>·+ööeT<ó�«V�²�+ nsÁ�s�çÜ
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Example :

1. 12 hours time      ® 24 hours time.

3 pm = 3 + 12:00 = 15:00 hours

2. 9: 30pm = 9: 30 + 12:00  =   21 : 30 hours

Mention the time of your choice and convert into 24 hours time.

The departure and arrival times of the trains from Vijayawada to the various stations
are given below. Write the total time of the journey from Vijayawada to destination.

Match the following:

Do this :

12 Hours

9:40 AM

3:20 PM

6:25 AM

6:25 PM

11:40 PM

24 Hours

23 : 40 Hours

6 : 25 Hours

15 : 20 Hours

9 : 40 Hours

18 : 25 Hours

Name of the Train
Departure

time
Arrival
Time

Time taken for the
Journey

Ratnachal Expres

(Vijayawada – Visakhapatnam)

Tirupati A/C double decker

(Vijayawada – Tirupathi)

Coramandal Express

(Vijayawada – Chennai)

6 : 05 AM

3 : 55 AM

9 : 55 AM

12:10 PM

11:35 PM

17:00 PM

    H   M

    3 : 00

+12 : 00

   15 : 00
    H   M

    9 : 30

+12 : 00

   21 : 30
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�$ #ûjáT+&� :

�<�V�²sÁD :

1) 12 >·+öö\ d�eTjáT+ ® 24 >·+öö\ d�eTjáT+

3 PM          ® 3 G 12:00 R 15:00 >·+³\T

2) 9.30 PM  R 9:30 G 12:00 R 21:30 >·+³\T

12 >·+³\T

9:40 AM

3:20 PM

6:25 AM

6:25 PM

11:40 PM

MTsÁT d�Ç+Ôá+>± @<îÕH� d�eTjáT+ nqT¿=�, <��� 24 >·+öö\ sÁÖ|�+ýË #î|�Î+&�.

¿ì+~ |�{ì¼¿£ýË $ÈjáTy�&� �d¼w�H�Å£� d�+�+~ó+ºq ¿=�� ÂsÕÞøß s�¿£bþ¿£\T �eÇ�&�¦sTT. ÿ¿=Ø¿£Ø ÂsÕ\T ç|�jáÖDì+ºq

d�eTjáÖ�� qyîÖ<�T #ûjáT+&�.

ÂsÕ\T �|sÁT
ÂsÕ\T yîÞâß

d�eTjáT+

ÂsÕ\T e#ûÌ

d�eTjáT+

ç|�jáÖD²�¿ì

|�{ì¼q d�eTjáT+

sÁÔ��#áýÙ m¿ùàç�|dt

($ÈjáTy�&� ̀  $XæK|�³�+)

ÜsÁT|�Ü A/C &��TýÙ &î¿£ØsY

($ÈjáTy�&� ` ÜsÁT|�Ü)

¿ÃsÁeÖ+&�ýÙ m¿ùàç�|dt

($ÈjáTy�&� ` #îHîÕ�)

ÈÔá|�sÁ#á+&�.

  >·+.     �.

    3 : 00

+12 : 00

   15 : 00
  >·+.     �.

    9 : 30

+12 : 00

   21 : 30

  6 : 05 AM

  3 : 55 AM

  9 : 55 AM

12:10 PM

11:35 PM

17:00 PM

24 >·+³\T

23 : 40

6 : 25

15 : 20

9 : 40

18 : 25
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1) Colour the digital clock in 24 hours format by observing the given 12 hours analog

clock.

2) Sports competitions were held in Kondepadu school from 10:45 am to 3:45 pm. For

how many hours were the sports held?

3) Robert is leaving for Singapore from Vijayawada at 22:00 hours. Express this time in

12 hours format.

4) Abhinav was a night watch-man in a school. He used to attend his duty at 5:30pm.

Express this time in 24 hours format.

5) Every day Himadas practises Yoga from 4:30 am to 6:15 am and from 4:00 pm to

5:30 PM. Find the total time she spends for her practice every day?

6) While Babu's team was learning to play Kabaddi, on Monday they practiced from

6:15 am to 7:05 am. On Tuesday they practiced from 3:25 pm to 4:15. How many

minutes did they practice in both the days?

7) The bus departs from the terminal at 11.20 am and arrives the destination at the

2:40 pm. How long did the bus travel?

8) Sneha began her home work at 4:30 pm. She worked for 80 minutes. At what time did

she fnish?

    Exercise -  1

2 : 25 pm 4 : 30 pm
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1) 12 >·+öö\ >·&�jáÖsÁ+ #áÖ�| d�eTjáÖ�� �{ì¼ 24 >·+öö\ d�eTjáÖ�� Ôî*�|ý² &��³ýÙ >·&�jáÖsÁ+ýË #áÖ|�+&�. (sÁ+>·T

�+|�+&�).

2) ¿=+&ûbÍ&�T bÍsÄÁXæ\ýË 10:45 AM qT+&� 3:45 PM esÁÅ£� �³\ bþ{¡\T È]>±sTT. �³\ bþ{¡\T È]Ðq d�eTjáÖ��

ýÉ¿ìØ+#á+&�.

3) s��sY¼ $ÈjáTy�&� qT+&� d¾+>·|�PsYÅ£� 22:00 >·+öö d�eTjáT+ýË �jáT\T<ûs�&�T. d�eTjáÖ�� 12 >·+öö\ >·&�jáÖsÁ+ýË

#áÖ|�+&�.

4) n_óqy� ÿ¿£ bÍsÄÁXæ\ýË s�çÜ ¿±|�ý²<�sÁT&�T>± |��#ûjáTT#áTH��&�T. nÔá&�T ç|�ÜsÃE 5:30 PM Å£� |��¿ì �jáTýñÝ]Ôû, �

d�eTjáÖ�� 24 >·+öö\ sÁÖ|�+ýË #áÖ|�+&�.

5) V¾²eT<�d�T ç|�ÜsÃp 4:30 AM qT+&� 6:15 AM esÁÅ£� eT]jáTT 4:00 PM qT+&� 5:30 PM esÁÅ£� jîÖ>±

#ûkÍï&�T. nsTTÔû nÔáqT sÃp m�� >·+³\T jîÖ>± #ûkÍï&�T?

6) u²�T ��+<�+ ¿£�&�¦ �³qT kþeTy�sÁ+ sÃE 6:15 AM qT+&� 7:05 AM esÁÅ£�, eT+>·Þøy�sÁ+ sÃE

3:25 PM qT+&� 4:15 PM esÁÅ£� kÍ<ó�q #ûd¾+~. Âs+&�T sÃE\Å£� >±qT m+Ôá d�eTjáT+ bÍ³T çbÍ¿¡¼d�T #ûXæsÁT?

7) ÿ¿£ �d�Tà 11:20 AM Å£� ³]�qýÙ qT+&� �jáT\T<û] 2:40 PM Å£� >·eT«kÍ�H��¿ì #û]Ôû m�� >·+³\T ç|�jáÖD+

#ûd¾q³T¢?

8) �d�V�² 4:30 PM Å£� �+{ì|�� yîTT<�\T�|{ì¼  80 �öö\ bÍ³T #ûd¾+~. �yîT @ d�eTjáÖ�¿ì |�P]ï #ûd¾+~?

    nuó²«d�+  `   1

2 : 25 pm 4 : 30 pm
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Project work:
Collect the time at which your parents and your friends’ parents start from home

(AM) for their work, and the time they return home (PM) from work. Calculate the total
time they spent for their work in a single day.

10.2:- Leap year
Teacher : Our Ex Prime Minister late Morarji Desai was born on 29.02.1896. Can

anyone tell me the speciality of this date?
Saleem : We have normally 28 days in February, but here we have 29 day.
Teacher : Good Saleem! February is different from remaining 11 months. It contains

28 or 29 days. Because every four years February month has an extra day.
The year in which February gets this extra day is called “leap year”. Ob-
serve the  2019 and 2020 calendars.

Starting time Returning time Total timeName of parentS.No
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çbÍCÉÅ£�¼ |�� :

MT neÖ�H�q�\T, MT �d�V¾²ÔáT\ neÖ�H�q�\T |�� / �<Ã«>·+ ¿Ãd�+ �<�jáT+ �jáT\T<û¹s d�eTjáT+, e#ûÌ d�eTjáÖ��

qyîÖ<�T #ûd¾, m+Ôá d�eTjáT+ bÍ³T y�sÁT |��#ûd�TïH��sÃ |�{ì¼¿£ýË qyîÖ<�T #ûjáT+&�.

esÁTd�
d�+K«

�|sÁT �jáT\T<û]q d�eTjáT+ Ü]ÐeºÌq d�eTjáT+ |��#ûd¾q d�eTjáT+

10.2 ©|�Ú d�+eÔáàsÁ+

�bÍ<ó�«jáTT&�T : eTq ÿ¿£|�Î{ì ç|�<ó�qeT+çÜ>± |��#ûd¾q ¿¡.Xâ. yîTTs�]̈ <ûXæjYT >±sÁT 29`02`1896q È��+#�sÁT. MTÅ£�

me]Â¿ÕH� � ÔûB çbÍeTTK«Ôá Ôî\TkÍ!

d�©y�T : eÖeTÖ\T>± nsTTÔû |�¾ç�e] Hî\ýË 28 sÃE\T �+{²sTT. ¿±ú MTsÁT #î|¾Îq Hî\ýË 29 sÃE\TH��sTT.

�bÍ<ó�«jáTT&�T : Xøuó²wt d�©y�T ! d�+ööýË n�� Hî\\¿£H�� |�¾ç�e] ç|�Ôû«¿£yîT®q~. � Hî\ýË 28 ýñ<� 29 sÃE\T+{²sTT.

ç|�Ü 4 d�+öö\¿=¿£kÍ] |�¾ç�e] Hî\ýË ÿ¿£sÃE n<�q+>± ed�Tï+~. @ d�+ööýË nsTTÔû |�¾ç�e] Hî\ýË

29 sÃE\T �+{²jîÖ � d�+ööqT »©|�Ú d�+eÔáàsÁ+µ n+{²sÁT. ÿ¿£kÍ] 2019, 2020 ¿±«ýÉ+&�sY\qT

|�]o*+#á+&�.

d�+eÔáàsÁ+ Èqe] |�¾ç�e] eÖ]Ì @ç|¾ýÙ yûT pH� EýÉÕ �>·w�§¼ �d�|¼+�sY n¿Ã¼�sY qe+�sY &��d+�sY yîTTÔáï+
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D 2019 February has 28 days and the year consists of 365 days.

D In 2020 February has 29 days and year consists of  366 days.

D Here, in 2020 February had one extra day. So, that year has 366 days.

D The year which consists of 366 days is called “a leap year.” 2020 is a leap year. 2019

has 365 days. So it is a non leap year. Generally for every four years we get a leap year.

(Ask your teacher for the reason)

In general, a leap year is divisible by '4' and a non leap year is not divisible by '4'.

Though century years, like 1800, 1900, 2100, 2200 etc., are divisible by '4' but these are

non leap years.

The century year is called leap year only when it is divisible by 400. (ask your teacher

for the reason)

1) 2020 is a leap year, so the next leap year is ___________

2) The leap year  before 2020 is ______________

3) Is 2300 a leap year? Justify your answer.

4) Take the calendar of any year of your choice; add the days in all the 12 months. Is it

leap year or not?

5) Morarji Desai was born on 29.02.1896 and passed away on 10.04.1995. How many

birthdays did he celebrate?

6) The famous Mathematician Srinivasa Ramanujan was born on 22.12.1887 and

passed away on 26.04.1920. How many leap years were there in his life period?

  Exercise -  2

Year           Days         Leap Year        Days

2001 365 2004 366

2002 365 2008 366

2003 365 2012 366

2005 365 2016 366
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D 2019 d�+ööýË 365 sÃE\T, |�¾ç�e] Hî\ýË 28 sÃE\T �H��sTT.

D 2020 d�+ööýË 366 sÃE\T, |�¾ç�e] Hî\ýË 29 sÃE\T �H��sTT.

D 2020 d�+ööýË |�¾ç�e] Hî\ýË ÿ¿£ sÃE n<�q+>± s�e&�+ e\¢ d�+öö�¿ì 366 sÃE\TH��sTT.

D @ d�+ööýË nsTTÔû 366 sÃE\T �+{²jîÖ � d�+ööqT »©|�Ú d�+eÔáàsÁ+µ n+{²sÁT. 2019 d�+ööýË 365 sÃE\TH��sTT.

¿£qT¿£ n~ ©|�Ú d�+eÔáàsÁ+ ¿±<�T. kÍ<ó�sÁD+>± ç|�Ü 4 d�+öö\ ¿=¿£kÍ] ©|t d�+öö ed�Tï+~.

kÍ<ó�sÁD+>± ©|�Ú d�+öö 4 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~. ©|�Ú d�+eÔáàsÁ+ ¿±�~ uó²Ð+|�&�<�T. 1800, 1900, 2100,

2200 yîTT<�\>·T d�+eÔáàs�\T 4 #û uó²Ð+|��&�H� ©|�Ú d�+eÔáàs�\T ¿±eÚ. (¿±sÁD+ MT �bÍ<ó�«jáTTDì� n&�Ð Ôî\Td�T¿Ã+&�)

XøÔá d�+eÔáàsÁ+ 400 ÔÃ uó²Ð+|��&�q|�ð&û ©|�Ú d�+eÔáàsÁ+>± |�]>·Dì+#á�&�TÔáT+~.

1) 2020 ©|�Ú d�+eÔáàsÁ+, Ôás�ÇÔá e#ûÌ ©|�Ú d�+eÔáàsÁ+ 

2) 2020 d�+eÔáàsÁ+ eTT+<�T eºÌq ©|�Ú d�+eÔáàsÁ+ 

3) 2300 ©|�Ú d�+eÔáàsÁyûTH� ? ¿±sÁD+ Ôî\|�+&�.

4) @<îÕH� ÿ¿£ d�+eÔáàs��¿ì d�+�+~ó+ºq 12 Hî\\ýË� sÃE\qT Å£L&�+&�. n~ ©|�Ú d�+eÔáàsÁ+ ¿±<Ã Ôî\|�+&�.

5) yîTTs�]¨ <ûXæjYT >±sÁT 29`02`1896 q È��+#�sÁT. 10`94`1995q #á�bþjáÖsÁT. �jáTq m�� |�Ú{ì¼q sÃE\T

ÈsÁT|�ÚÅ£�H��sÁT ?

6) ç|�eTTK >·DìÔá Xæ�d�ïyûÔáï l�y�d� s�eÖqTÈH� 22`12`1887 q È��+º, 26`04`1920 q eTsÁDì+#�sÁT. �jáTq

J$Ôá¿±\+ýË m�� ©|�Ú d�+eÔáàs�\T eºÌ �+{²sTT ?

    nuó²«d�+  ̀     2

d�+eÔáàsÁ+ sÃE\T ©|t d�+eÔáàsÁ+ sÃE\T

2001 365 2004 366

2002 365 2008 366

2003 365 2012 366

2005 365 2016 366
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